GB Instruction for use

SE  Bruksanvisning

NO Bruksanvisning

DK  Brugsanvisning

FI  Kayttoohje

DE Bedienungsanleitung
NL Gebruikersinstructies

POWERTEX

FR
ES
LV
LT
EE
PL

POWERTEX

Lifting Point with decentered link

LPD

User Manual

UMLPD20250328

Manuel d’utilisation
Instrucciones de uso
LietoSanas pamaciba
Naudojimo instrukcija
Kasutusjuhend

Instrukcje dla uzytkownikow

AR




POWERTEX

POWERTEX Lifting point with decentered link LPD
Instruction for use (GB) (Original instructions)

Data and dimensions POWERTEX LPD - Standard

180° pivot

——t—SW —=—

360°rotated

- A

DIMENSIONS & TORQUE

Model Thread M E A B C D F G N L S SW Torque
mm mm mm mm mm mm mm mm mm mm mm mm Nm
LPD-M8 M8 x 1.25-6g 11 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10 M10 x 1.5-6g 16 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12 M12 x 1.75-6g 18 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16 M16 x 2.0-6g 24 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20 M20 x 2.5-6g 30 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24 M24 x 3.0-6g 36 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30 M30 x 3.5-6g 48 60 65 82 22 170 99 59 66 17 46 500
LPD-M36 M36 x 4.0-6g 62 77 85 104 27 226.5 123 69 95,5 22 55 800
LPD-M42 M42 x 4.5-6g 63 95 104 117 36 2575 158 98 104,5 22 65 1500
LPD-M48 M48 x 5.0-6g 72 95 104 120 36 2575 158 98 101,5 27 75 2000

Load diagram LPD
Working temperature -40° up to +200°C without reduction of WLL.

-

Load angle 90 0-45 45-60 0-45 45-60 Asymmetric
Load factor 1 1 2 2 1.4 1.0 2.1 1.5 1
Model Working Load Limit WLL (t)

LPD-M8 0.3 0.3 0.6 0.6 0.42 0.3 0.63 0.45 0.3
LPD-M10 0.63 0.63 1.26 1.26 0.88 0.63 1.32 0.95 0.63
LPD-M12 1 1 2 2 1.4 1 21 1.5 1
LPD-M16 1.5 1.5 3 3 21 1.5 3.1 22 1.5
LPD-M20 25 25 5 5 3.5 25 5.2 3.7 2.5
LPD-M24 4 4 8 8 5.6 4 8.4 6 4
LPD-M30 5 5 10 10 7 5 10.5 75

LPD-M36 8 8 16 16 11.2 8 16.8 12 8
LPD-M42 15 15 30 30 21 15 315 225 15
LPD-M48 20 20 40 40 28 20 42 30 20



POWERTEX

Data and dimensions POWERTEX LPD - Long bolt with nut

180° pivot

360° rotated

DIMENSIONS & TORQUE

Model Thread M E A B C D F G N L S SW Torque
mm mm mm mm mm mm mm mm mm mm mm mm Nm
LPD-M8LB M8 x 1.25-6g 64 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10LB M10 x 1.5-6g 80 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12LB M12 x 1.75-6g 104 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16LB M16 x 2.0-6g 128 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20LB M20 x 2.5-6g 160 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24LB M24 x 3.0-6g 192 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30LB M30 x 3.5-6g 240 60 65 82 22 170 99 59 66 17 46 500
LPD-M36LB M36 x 4.0-6g 288 77 85 104 27 226.5 123 69 95,5 22 55 800
LPD-M42LB M42 x 4.5-6g 336 95 104 117 36 2575 158 98 104,5 22 65 1500
LPD-M48LB M48 x 5.0-6g 384 95 104 120 36 2575 158 98 101,5 27 75 2000



POWERTEX

WARNING

The work with lifting devices and equipment must be planned, organized, and executed to prevent hazardous situations. In accordance with
national statutory regulations lifting devices and equipment must only be used by someone well familiar with the work and having theoretical and
practical knowledge of safe use. Before the equipment is used, the instruction manual must be read. It contains important information about how
the equipment will work in a safe and correct way. Failure to follow the regulations of this instruction may cause serious consequences such as
risk of injury. Apart from the instruction manual we refer to existing national regulations that may supersede these instructions.

General description

POWERTEX LPD Lifting points are intended to be used as lifting equipment to be mounted directly to the load in order to lift it or used as parts of
a lifting assembly like lifting beam, lifting sling etc. LPD is not designed to rotate under load, for such applications we recommend a lifting

point with ball bearing like LPB. POWERTEX LPD lifting points meet all relevant requirements of the Machinery Directive 2006/42/EC and its
latest amendments.

Use in adverse environments

Temperature’s effect on working load limit (WLL): Account should be taken to the temperature that can be reached in service. POWERTEX LPD
lifting points can be used in temperatures between -40°C and +200°C without reduction of the working load limits.

Acidic conditions: High strength lifting components should not be used either immersed in acidic solutions or exposed to acid fumes. For same
reason they must not be hot dip galvanized or exposed to electrolytic finishing without permission from the manufacturer.

Chemical affects: Consult with your distributor in case the products are to be exposed to chemicals especially combined with high temperatures.
Hazardous conditions: In particularly hazardous conditions including offshore activities, lifting of a person, and lifting of potentially dangerous
loads such as molten metals, corrosive materials or fissile materials, the degree of hazard should be assessed by a competent person and the
working load limit adjusted accordingly.

Use temperature range

-40 up to +200°C without reduction in WLL

+200 up to +300°C allowed with 10% reduction in WLL
+300 up to +400°C allowed with 25% reduction in WLL

Marking

POWERTEX LPD lifting points are generally marked with:
- Working Load Limit (WLL) e.g. WLL 0,3t

- Manufacturer’s symbol e.g. POWERTEX or PX.

- Model name — Size e.g. LPD-M8

- Traceability code e.g. F2 (indicating a particular batch).
- Conformity marks CE + UKCA

- Bolt grade 10.9

Material and finish
POWERTEX LPD lifting points are forged from high strength alloy steel and parts are electro-static powder painted. Bolts are dacrotized to better
withstand corrosion. Bolts are crack detection tested at the factory. Other load bearing parts are crack detection or proof load tested.

Selection

Select type of lifting point, thread size and working load limit suitable for the particular application. If extreme circumstances, vibrations or shock
loading may occur, this must be well taken into account when selecting the correct lifting point. Through hole assembly with nut may require a
longer bolt which can be ordered as spare part from your distributor. Use only original bolts which are made especially for this product.

Before first use
Ensure that the lifting points delivered corresponds to the order and that certificate and Declaration of Conformity is made available. Keep a
register of all lifting equipment and make sure they are regularly checked to be fit for use.

Assembly and use

If any of these check points is not met the lifting point should not be used:

- Check that all markings are legible.

- Check there are no defects such as wear, deformation, cuts, nicks, gauges, cracks, corrosion or other visible defects that could affect the safety.

Ensure that the WLL of the lifting point is sufficient for the load to be lifted, see WLL chart. The lifting point shall be screwed tightly to the structure
or load using a torque wrench. If risk of vibrations etc one should consider Loctite or other means of securing. Ensure after mounting that the
lifting point can rotate and pivot freely without any obstructions in the intended angles of use. Tapped holes must be deep enough to allow the
bottom of the lifting point to be supported by the contact surface. The threaded hole must be made perpendicular to the contact surface and the
contact surface needs to be plane and dimensioned to accommodate the lifting point.

Recommended minimum thread lengths of different materials in relation to the metric thread diameter:
- 1 x M for steel

- 1,25 x M for cast iron

- 2 x M for aluminum alloys

- 2,5 x M for aluminum-magnesium alloys

When mounted position the link so it can be connected to directly to the lifting machine or to intermediate lifting equipment to perform the lifting
operation.



POWERTEX

Safety when lifting

Working load limit of the lifting equipment must never be exceeded. Hands and other parts of the body should be kept away to prevent injury as
the slack is taken up. The load should be raised slightly without shock and a check made that it is secure and assumes the position intended.
Lifting personnel must be aware of the risks of swinging and tilting loads. Never allow persons or body parts under hanging load. Do not allow
persons to ride on the load while the load is being lifted. The landing site should be well prepared. It should be ensured that the ground or floor
is of adequate strength to take the load. It should also be ensured that there is adequate access to the landing site and that it is clear of any
unnecessary obstacles and people. The load should be landed carefully ensuring that body parts are kept clear. Ensure the stability of the load
when landed before removing the lifting equipment.

Center of gravity

To avoid swinging or rotation of the load it is important to position the lifting points symmetrically above the center of gravity of the load:

- For a 1-point lift the attachment point should be arranged vertically above the center of gravity.

- For a 2-points lift the attachment points should be arranged on each side of and above the center of gravity.

- For a 3- and 4-points lift the attachment points should be arranged symmetrically in a plane around and above the center of gravity. It is
preferable that the distribution should be equal and that the attachment points are above the center of gravity.

1. Centre of gravity
2. High tension in this leg
3.Load P

Load symmetry

Working load limits (WLL) for the different configurations have been determined on the basis that the loading is symmetrical. This means that
when the load is lifted the lifting points are symmetrically disposed in a plane and subtend the same angles to the vertical.

In the case of 2-, 3- and 4- leg chain slings, if the legs subtend different angles to the vertical the greatest tension will be in the leg with the
smallest angle to the vertical. In the extreme case, if one leg is vertical, it will carry the entire load.

The loading can be assumed to be symmetric if all of the following conditions are satisfied and the load is less than 80% of marked WLL:

a) chain sling leg angles to the vertical are all not less than 15°; and

b) chain sling leg angles to the vertical are all within 15° to each other; and

c) in the case of three- and four-leg chain slings, the plan angles are within 15° of each other.

If all of the above parameters are not satisfied, then the loading should be considered as asymmetric, and the lift referred to a competent person
to establish the safe rating. Alternatively, in the case of asymmetric loading, the chain sling should be rated at half the marked WLL.

Symmetry of loading



Z.

MUY
§ §
és?a? E“L 7 7 Z




POWERTEX

Storage of lifting points

When not in use lifting points should normally be kept on a properly designed rack. They should not be left lying on the ground where they may be
damaged. If it is likely that the products will be out of use for some time they should be cleaned, dried, and protected from corrosion, e.g. lightly
oiled.

Inspection and maintenance

Daily inspection

During service the lifting points are subjected to conditions that may affect their safety. It is therefore necessary to daily check and ensure that
the lifting points are safe for continued use. The lifting point should be withdrawn from service and referred to a competent person for thorough
examination if any of the following is observed before each use:

- Check that all markings are legible.

- Check there are no defects such as wear, deformation, cuts, nicks, gauges, cracks, corrosion or other visible defects that could affect the safety.
- Check that the ball bearing swivel can rotate easily and do not have excessive play.

- Ensure that the WLL of the lifting point is sufficient for the load to be lifted.

- Ensure that the lifting point is screwed tightly to the structure and that the lifting point can rotate and pivot freely without any obstructions in the
angles of use.

Thorough examination

A thorough examination should be carried out of a competent person at intervals not exceeding twelve months. This interval should be less were
deemed necessary in the light of service conditions. Records of such examinations should be maintained.

The products should be thoroughly cleaned to be free from oil, dirt and rust prior to examination. Any cleaning method which does not damage the
parent metal is acceptable. Methods to avoid are those using acids, overheating, removal of metal or movement of metal which may cover cracks
or surface defects.

Adequate lighting should be provided to detect any signs of wear, distortion or external damage.

Components that are worn, deformed, cracked, visibly distorted, severely corroded or have deposits which cannot be removed should be
discarded and replaced. Minor damage such as nicks and gouges may be removed by careful grinding or filing. The surface should blend
smoothly into the adjacent material without abrupt change of section. The complete removal of the damage should not reduce the thickness of
the section at that point to less than the manufacturer’s specified minimum dimensions or by more than 10% of nominal thickness of the section.
Check condition of the threaded bolt.

Repair: Use only original spare parts.

End of use / Disposal
The lifting points shall be sorted / scrapped as general steel scrap.

Disclaimer

We reserve the right to modify product design, materials, specifications or instructions without prior notice and without obligation to others.
If the product is modified in any way, or if it is combined with a non-compatible product/component, we take no responsibility for the
consequences regarding the safety of the product.

EC Declaration of conformity

SCM Citra OY

Asessorinkatu 3-7

20780 Kaarina, Finland

www.powertex-products.com

hereby declares that POWERTEX product as described above is in compliance with EC Machinery Directive 2006/42/EC.

UK Declaration of conformity

SCM Citra OY

Asessorinkatu 3-7

20780 Kaarina, Finland

www.powertex-products.com

hereby declares that the POWERTEX product as described above is in compliance with the Supply of Machinery (Safety) Regulations 2008.



POWERTEX

Marking l ' K
The POWERTEX lifting points LPD are CE and UKCA marked. C n

User Manuals

You can always find the valid and updated User Manuals on the web.
The manual is updated continuously and valid only in the latest version.

orACMAR

NB! The English version is the Original instruction.

The manual is available as a download under the following link:
www.powertex-products.com/manuals

Product compliance and conformity

SCM Citra OY
Asessorinkatu 3-7
[ 20780 Kaarina
e '1 Finland
www.powertex-products.com

8



POWERTEX

POWERTEX Lyftogla med decentrerad lank LPD

Anvandarinstruktioner (SE)

Data och matt for POWERTEX LPD - Standard

180° pivot

360° rotated

- A

—t—SW ——

MATT & ATDRAGNINGSMOMENT

Modell Génga M E A B C D F G N L S SW Moment
mm mm mm mm mm mm mm mm mm mm mm mm Nm
LPD-M8 M8 x 1.25-69g 11 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10 M10 x 1.5-69 16 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12 M12 x 1.75-6g 18 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16 M16 x 2.0-69 24 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20 M20 x 2.5-6g 30 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24 M24 x 3.0-69 36 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30 M30 x 3.5-69 48 60 65 82 22 170 99 59 66 17 46 500
LPD-M36 M36 x 4.0-6g 62 77 85 104 27 226.5 123 69 95,5 22 55 800
LPD-M42 M42 x 4.5-69 63 95 104 117 36 257.5 158 98 104,5 22 65 1500
LPD-M48 M48 x 5.0-6g 72 95 104 120 36 2575 158 98 101,5 27 75 2000

Belastningstabell LPD
Temperaturintervall -40° upp till +200°C utan reduktion av max last (WLL).

Belastning e . : 3

SR o & &
Lastvinkel 0 90 0 90 0-45 45-60 0-45 45-60 Asymmetrisk
Lastfaktor 1 1 2 2 1.4 1 2.1 1.5 1
Modell Max last / WLL (t)
LPD-M8 0.3 0.3 0.6 0.6 0.42 0.3 0.63 0.45 0.3
LPD-M10 0.63 0.63 1.26 1.26 0.88 0.63 1.32 0.95 0.63
LPD-M12 1 1 2 2 1.4 1 21 1.5 1
LPD-M16 =5 15 3 3 21 {5 3.1 22 5
LPD-M20 25 25 5 5 3.5 25 5.2 3.7 25
LPD-M24 4 4 8 8 5.6 4 8.4 6 4
LPD-M30 5 5 10 10 7 5 10.5 7.5 5
LPD-M36 8 8 16 16 11.2 8 16.8 12 8
LPD-M42 15 15 30 30 21 15 315 225 15
LPD-M48 20 20 40 40 28 20 42 30 20



POWERTEX

Data och matt for POWERTEX LPD - Lang bult med mutter

——SW

180° pivot s

360°rotated

MATT & ATDRAGNINGSMOMENT

Modell Ganga M E A B C D F G N L S Sw Moment
mm mm mm mm mm mm mm mm mm mm mm mm Nm
LPD-M8LB M8 x 1.25-6g 64 34 317 42 14 98.5 ol 31 42,5 6 13 30
LPD-M10LB M10 x 1.5-6g 80 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12LB M12 x 1.75-6g 104 34 37 45 14 98.5 57 3 3915 8 18 100
LPD-M16LB M16 x 2.0-6g 128 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20LB M20 x 2.5-6g 160 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24LB M24 x 3.0-6g 192 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30LB M30 x 3.5-6g 240 60 65 82 22 170 99 59 66 17 46 500
LPD-M36LB M36 x 4.0-69 288 77 85 104 27 226.5 123 69 95,5 22 55 800
LPD-M42LB M42 x 4.5-6g 336 95 104 117 36 2575 158 98 104,5 22 65 1500
LPD-M48LB M48 x 5.0-6g 384 95 104 120 36 2575 158 98 101,5 27 75 2000

10



POWERTEX

VARNING

Arbetet med lyftredskap och lyftutrustning maste planeras, organiseras och utféras pa ett sadant satt att farliga situationer forhindras. | enlighet
med nationella lagstadgade foreskrifter far lyftredskap och lyftutrustning endast anvéndas av nagon som ar val fértrogen med arbetet och

har teoretisk och praktisk kunskap kring séker anvandning. Innan utrustningen anvands maste bruksanvisningen lasas. Den innehaller viktig
information om hur redskapet fungerar, samt hur den ska brukas pa ett sakert och korrekt satt. Att inte folja denna instruktionerna i denna
bruksanvisning kan leda till allvarliga konsekvenser. Férutom bruksanvisningen sa hénvisar vi till befintliga nationella foreskrifter som kan ha
hogre validitet an dessa instruktioner.

Allmén beskrivning

POWERTEX LPD lyftéglor &r avsedda att anvandas som lyftutrustning for att monteras direkt pa lasten for att lyfta den eller anvandas som delar
av en lyftanordning som lyftbalk, lyftsling etc. LPD ar inte konstruerad for att rotera under belastning, for sadana applikationer rekommenderar vi
en lyftpunkt med kullager som LPB. POWERTEX LPD lyftpunkter uppfyller alla relevanta krav i maskindirektivet 2006/42/EG och dess senaste
andringar.

Anvéandning i ogynnsamma miljéer

Temperaturens effekt pa max lasten (WLL): Hansyn bor tas till den temperatur som kan uppnas under anvéndning. POWERTEX LPD

lyftéglor kan anvandas vid temperaturer mellan -40°C upp till +200°C utan reduktion av max last.

Sur miljo: Hoghallfasta lyftkomponenter bor inte anvandas nedsankta i sura losningar eller utsatta for sura angor. Av samma anledning far de inte
heller varmforzinkas eller utsattas for elektrolytisk ytbehandling utan tillstand fran tillverkaren.

Kemisk paverkan: Radgor med din distributér om produkterna kommer att utsattas for kemikalier, sarskilt i kombination med héga temperaturer.
Farliga forhallanden: Under sérskilt farliga forhallanden, inklusive offshoreaktiviteter, lyft av personer och lyft av potentiellt farliga laster sasom
smalta metaller, korrosiva material eller klyvbara material, bor farans grad bedémas av en kompetent person och arbetsbelastningsgransen
justeras darefter.

Temperaturomrade for anvéandning

-40°C upp till +200°C utan reduktion av WLL

+200°C upp till +300°C tillatet med 10% reduktion av WLL
+300°C upp till +400°C tillatet med 25% reduktion av WLL

Markning

POWERTEX LPD lyftéglor ar generellt markta med:

- Max last (WLL) t.ex. WLL 0,3t

- Tillverkarens symbol —t.ex. POWERTEX eller PX.

- Modellnamn och Storlek — t.ex. LPD-M8

- Sparbarhetskod — t.ex. F2 (som anger en specifik batch).
- Konformitetsmarkningar CE + UKCA

- Bultkvalitet 10.9

Material och ytbehandling

POWERTEX LPD lyftéglor &r smidda av hoghallfast legerat stal och delarna ar pulverlackerade med elektrostatisk metod. Bultarna ar
dacrotiserade for att battre motsta korrosion. Bultarna ar sprickdetekteringstestade pa fabriken. Andra lastbarande delar ar sprickkontrollerade
eller provbelastade.

Val

Vid val av lyftdgla, valj med avseende gangstorlek och max last det som passar bast for Er applikation. | fall av extrema forhallanden, vibrationer
eller stétar kan forekomma vid arbetsmomentet, sa maste detta tas med i beaktningen vid val av lyftogla. Genomgaende halmontering med
mutter kan krava en langre bult som kan bestéllas som reservdel fran din distributér. Anvand endast originalbultar som ar speciellt tillverkade for
denna produkt.

Innan forsta anvandning
Kontrollera att de levererade lyftéglorna éverensstdmmer med Er bestallning och att certifikat, samt EG-Férsékran om Overenstammelse finns
tillganglig. For ett register dver alla Era lyftredskap och se till att de regelbundet kontrolleras, sa att de &r lampliga for anvandning.

Montering och anvandning

Om nagon av dessa kontrollpunkter inte uppfylls ska lyftdglan inte anvandas:

- Kontrollera att alla markningar ar lasliga.

- Kontrollera att det inte finns nagra defekter sasom: Slitage, deformation, snitt, hack, marken, sprickor, korrosion eller andra synliga defekter som
kan paverka sakerheten.

Kontrollera att max lasten (WLL) for lyftéglan ar tillracklig for den last som ska lyftas, se WLL-tabell. Lyftéglan ska skruvas fast ordentligt

mot konstruktionen eller lasten med en momentnyckel. Om det finns risk for vibrationer etc. bér man 6vervaga ganglasningslim eller andra
sakringsmetoder. Kontrollera efter montering att kroppen pa lyftdglan kan rotera och att 6glan kan rora sig fritt utan hinder i de avsedda
anvandningsvinklarna. Gangade hal maste vara tillrackligt djupa for att tillata att botten av lyftoglans kropp ligger dikt an mot underlaget. Det
gangade halet maste goras vinkelratt mot kontaktytan och kontaktytan maste vara plan och dimensionerad for att rymma lyftoglan.

Rekommenderade minimigangléangder for olika material i férhallande till metrisk gangdiameter:

-1 x M for stal

- 1,25 x M for gjutjarn

- 2 x M for aluminiumlegeringar

- 2,5 x M fér aluminium-magnesiumlegeringar

Nar lyftoglan ar monterad, positionera lanken sa att den kan kopplas direkt till kranen eller till mellankopplad lyftutrustning for att utfra
lyftoperationen.

11



POWERTEX

Séakerhet vid lyft

Max lasten for lyftredskapet far aldrig 6verskridas. Hander och andra delar av kroppen ska hallas borta for att forhindra skador nar man
forspanner redskapen innan lyftet. Lasten bor lyftas utan stétar och en kontroll gérs att den ar saker och antar den avsedda positionen.
Lyftpersonalen maste vara medveten om riskerna med svangande och obalanserade laster. Lat aldrig personer eller kroppsdelar befinna sig
under hangande last. Tillat inte att personer aker pa lasten medan den lyfts. Avlastningsytan bor vara val forberedd. Det bor sakerstallas att
marken eller golvet har tillracklig styrka for att bara lasten. Det bor ocksa sakerstallas att avlastningsytan ar tillganglig och att den ar fri fran
onddiga hinder och manniskor. Lasten bor stéllas ned forsiktigt och det maste sakerstéllas att kroppsdelar halls utan. Sakerstall lastens stabilitet
nar den har stallts ned innan lyftredskapen kopplas bort.

Tyngdpunkt

For att undvika svangning eller rotation av lasten ar det viktigt att positionera lyftpunkterna symmetriskt ovanfor lastens tyngdpunkt:

- For en 1-punkts lyft ska fastpunkten ordnas vertikalt ovanfoér tyngdpunkten.

- For en 2-punkts lyft ska fastpunkterna ordnas pa varje sida om och ovanfér tyngdpunkten.

- For en 3- och 4-punkts lyft ska fastpunkterna ordnas symmetriskt i ett plan runt och ovanfér tyngdpunkten. Det ar att foéredra att férdelningen ar
jamn och att fastpunkterna ar ovanfoér tyngdpunkten.

1. tyngdpunkt
2. hog spanning i detta ben
3. belastning P

Lastsymmetri

Max lasten (WLL) for de olika konfigurationerna ar baserat pa att belastningen ar symmetrisk. Detta innebar att

nar lasten lyfts sa ar lyftoglorna symmetriskt placerade i ett plan och bildar samma vinklar mot vertikalen.

| fallet med 2-, 3- och 4-partiga lyftredskap, om benen bildar olika vinklar mot vertikalen, sa kommer den stérsta spénningen att vara i parten med
den minsta vinkeln mot vertikalen. | det extrema fallet att en part skulle vara vertikal, sa skulle den bara hela lasten.

Belastningen kan antas vara symmetrisk om alla féljande villkor ar uppfyllda och lasten ar mindre an 80% av markerad max last (WLL):

a) vinklarna pa lyftredskapets parter mot vertikalen ar alla inte mindre én 15°; och

b) vinklarna pa lyftredskapets parter mot vertikalen ar alla inom 15° fran varandra; och

c) i fallet med tre- och fyrbeniga lyftredskap ar planvinklarna inom 15° fran varandra.

Om inte alla ovanstaende parametrar ar uppfyllda, bor belastningen anses vara asymmetrisk, och lyftet bor hanvisas till en kompetent person for
att faststalla den sakra klassificeringen. Alternativt, i fallet med asymmetrisk belastning, bor max lasten for lyftredskapet reduceras till halften av
den markerade max lasten (WLL).

Lastningssymmetri

12



POWERTEX

% 0-150°

7

M5
[\
_’j‘i 1‘\ Z 7 7

13




POWERTEX

Forvaring av lyftpunkter
Nar lyftoglorna inte anvands bor de férvaras pa en korrekt utformad plats. De bér inte lamnas liggande pa marken dér de kan skadas. Om det ar
troligt att produkterna inte kommer att anvandas pa ett tag, bor de rengéras, torkas och skyddas mot korrosion, till exempel latt inoljade.

Tillsyn och underhall

Daglig tillsyn

Under anvandning utsatts lyftdglorna for forhallanden som kan paverka dess sakerhet. Det ar darfér nédvandigt att dagligen kontrollera och
sakerstalla att lyftdglorna ar sakra for fortsatt anvandning. Lyftdglorna ska tas ur bruk och hanvisas till en kompetent person fér noggrann
undersodkning om nagot av féljande observeras fore varje anvandning:

- Om markningen ar olasliga.

- Om det forekommer defekter sasom slitage, deformationer, snitt, hack, marken, sprickor, korrosion eller andra synliga defekter som

kan paverka fortsatt séker anvandning av lyftoglan.

- Att lyftdglans kropp kan svivla (rotera fritt kring sin axel) och att dglan kan réra sig fritt.

- Att max lasten (WLL) for lyftdglan ar tillracklig fér den last som ska lyftas.

- Att lyftdglan ar fastskruvad dikt an mot underlaget.

Fortlépande tillsyn

Fortlépande tillsyn bor utféras av en kompetent person med intervaller som inte Overstiger tolv manader. Detta intervall bor vara kortare om det
anses nodvandigt med hansyn till anvandningsforhallandena. Uppgifter om sadana undersokningar boér forvaras.

Produkterna bor rengdras noggrant for att vara fria fran olja, smuts och rost fére undersdkningen. Alla rengéringsmetoder som inte skadar
metallen ar acceptabla. Metoder att undvika ar de som anvander syror, déverhettning, borttagning av metall eller forflyttning av metall som kan
tacka oéver sprickor eller ytfel.

Tillracklig belysning bor tillhandahallas for att upptéacka tecken pa slitage, deformation eller yttre skador.

Komponenter som &r slitna, deformerade, spruckna, synligt forvrangda, svart korroderade eller har avlagringar som inte kan avlagsnas bor
kasseras och ersattas. Mindre skador som hack och skaror kan avlagsnas genom forsiktig slipning eller filning. Ytan bor smidigt 6verga i det
intilliggande materialet utan abrupta sektionsférandringar. Fullstandig borttagning av skadan bor inte minska sektionens tjocklek vid den punkten
till mindre an tillverkarens angivna minimimatt eller med mer an 10% av sektionens nominella tjocklek. Kontrollera skick pa den gangade bulten.
Reparation: Anvand endast originalreservdelar.

Kassering
Lyftdglorna ska sorteras / skrotas som allméant stalskrot.

Ansvarsfriskrivning
Vi forbehaller oss ratten att andra produktdesign, material, specifikationer eller instruktioner utan foregaende meddelande och utan skyldighet
gentemot andra om produkten andras.

EU-forsakran om 6verensstammelse

SCM Citra OY

Asessorinkatu 3-7

20780 Kaarina, Finland

www.powertex-products.com

forklarar harmed att POWERTEX produkten som beskrivs ovan dverensstammer med Maskindirektivet 2006/42/EG.

14



POWERTEX

Markning | ' K
POWERTEX lyftpunkter LPD &ar CE- och UKCA-markta. C n

Bruksanvisningar

Du kan alltid hitta de giltiga och uppdaterade bruksanvisningen pa webben.
Bruksanvisningen uppdateras kontinuerligt och ar endast giltig i den senaste
versionen.

OFC AR

OBS! Den engelska versionen ar originalinstruktionen.

Bruksanvisningen finns tillganglig fér nedladdning under féljande lank:
www.powertex-products.com/manuals

Produktoverensstammelse och konformitet
SCM Citra OY

Asessorinkatu 3-7

20780 Kaarina

Finland

www.powertex-products.com

15



POWERTEX

POWERTEX Loftepunkt med med desentrert kobling LPD

Bruksanvisning (NO)

Data og dimensjoner for POWERTEX LPD - Standard

180° pivot

360° rotated

- A

———SW —=—

DIMENSJONER & TILTREKNINGSMOMENT

Modell Gjenge M E A B (o3 D F G N L S SW Tiltreknings-
mm mm mm mm mm mm mm mm mm mm mm mm moment
Nm

LPD-M8 M8 x 1.25-6g 11 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10 M10 x 1.5-6g 16 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12 M12 x 1.75-6g 18 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16 M16 x 2.0-6g 24 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20 M20 x 2.5-6g 30 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24 M24 x 3.0-6g 36 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30 M30 x 3.5-6g 48 60 65 82 22 170 99 59 66 17 46 500
LPD-M36 M36 x 4.0-6g 62 77 85 104 27 226.5 123 69 95,5 22 55 800
LPD-M42 M42 x 4.5-6g 63 95 104 117 36 257.5 158 98 104,5 22 65 1500
LPD-M48 M48 x 5.0-6g 72 95 104 120 36 2575 158 98 101,5 27 75 2000
Loftetabell LPD

Arbeidstemperatur -40 °C opp til +200 °C uten reduksjon av WLL.

Laster e = - '_?.-i ﬂ—'é’?l et

Arbeidsvinkel 0 90 0 90 0-45 45-60 0-45 45-60 Asymmetrisk

Faktor 1 1 2 2 1.4 1 21 1.5 1

Modell Maksimal arbeidsbelastning (WLL) (t)

LPD-M8 0.3 0.3 0.6 0.6 0.42 0.3 0.63 0.45 0.3

LPD-M10 0.63 0.63 1.26 1.26 0.88 0.63 1.32 0.95 0.63

LPD-M12 1 1 2 2 1.4 1 2.1 1.5 1

LPD-M16 1.5 1.5 3 3 2.1 1.5 3.1 2.2 1.5

LPD-M20 2.5 2.5 5 5 3.5 2.5 5.2 3.7 2.5

LPD-M24 4 4 8 8 5.6 4 8.4 6 4

LPD-M30 5 5 10 10 7 5 10.5 7.5 5

LPD-M36 8 8 16 16 11.2 8 16.8 12 8

LPD-M42 15 15 30 30 21 15 31.5 22.5 15

LPD-M48 20 20 40 40 28 20 42 30 20

16



Data og dimensjoner for POWERTEX LPD - Lang bolt med mutter

360°rotated

180° pivot

POWERTEX

DIMENSJONER & TILTREKNINGSMOMENT

Modell Gjenge M E A B (o3 D F G N L S SW  Tiltreknings-
mm mm mm mm mm mm mm mm mm mm mm mm moment
Nm
LPD-M8LB M8 x 1.25-6g 64 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10LB M10 x 1.5-6g 80 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12LB M12 x 1.75-6g 104 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16LB M16 x 2.0-6g 128 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20LB M20 x 2.5-6g 160 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24LB M24 x 3.0-6g 192 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30LB M30 x 3.5-6g 240 60 65 82 22 170 99 59 66 17 46 500
LPD-M36LB M36 x 4.0-6g 288 77 85 104 27 2265 123 69 95,5 22 55 800
LPD-M42LB M42 x 4.5-6g 336 95 104 117 36 2575 158 98 104,5 22 65 1500
LPD-M48LB M48 x 5.0-6g 384 95 104 120 36 2575 158 98 101,5 27 75 2000

17



POWERTEX

ADVARSEL

Arbeid med lgfteutstyr og -utstyr ma planlegges, organiseres og utfares for a forhindre farlige situasjoner. | samsvar med nasjonale
lovbestemmelser, ma lgfteutstyr og -utstyr kun brukes av noen som er godt kjent med arbeidet og har teoretisk og praktisk kunnskap om sikker
bruk. Fer utstyret brukes, ma bruksanvisningen leses. Den inneholder viktig informasjon om hvordan utstyret vil fungere pa en sikker og korrekt
maéte. A ikke fglge forskriftene i denne instruksjonen kan fare til alvorlige konsekvenser som risiko for skade. | tillegg til bruksanvisningen henviser
vi til eksisterende nasjonale forskrifter som kan overstyre disse instruksjonene.

Generell beskrivelse

POWERTEX LPD lgftepunkter er beregnet pa a brukes som lgfteutstyr som monteres direkte pa lasten for a lgfte den, eller som en del av en
lafteenhet som lgftebjelke, lafteseil osv. LPD er ikke konstruert for & rotere under belastning, for slike bruksomrader anbefaler vi et laftepunkt med
kulelager som LPB. POWERTEX LPD-lgftepunkter oppfyller alle relevante krav i maskindirektivet 2006/42/EF og dets siste endringer.

Bruk i ugunstige miljoer

Temperaturens effekt pa arbeidsbelastningsgrensen (WLL): Det bgr tas hensyn til temperaturen som kan oppnas i tieneste. Powertex LPD
loftepunkter kan brukes ved temperaturer mellom -40°C og +200°C uten reduksjon av arbeidsbelastningsgrensene.

Sure forhold: Hgyfast laftekomponenter bar ikke brukes enten nedsenket i sure lgsninger eller utsatt for sure damper. Av samme grunn ma de
ikke varmforsinkes eller utsettes for elektrolytisk etterbehandling uten tillatelse fra produsenten.

Kjemisk pavirkning: Radfer deg med distributeren din i tilfelle produktene skal utsettes for kjemikalier, spesielt i kombinasjon med haye
temperaturer. Farlige forhold: Under spesielt farlige forhold, inkludert offshore-aktiviteter, lafting av en person og lgfting av potensielt

farlige laster som smeltede metaller, korrosive materialer eller spaltbare materialer, bgr faregraden vurderes av en kompetent person og
arbeidsbelastningsgrensen justeres tilsvarende.

Brukstemperaturomrade

-40 opp til +200°C uten reduksjon i WLL

+200 opp til +300°C tillatt med 10% reduksjon i WLL
+300 opp til +400°C tillatt med 25% reduksjon i WLL

Merkning

Powertex LPD lgftepunkter er generelt merket med:

- Arbeidsbelastningsgrense (WLL) f.eks. WLL 0,3t

- Produsentens symbol f.eks. POWERTEX eller PX.

- Modellnavn — Stgrrelse f.eks. LPD-M8

- Sporbarhetskode f.eks. F2 (som indikerer et bestemt parti).
- Konformitetsmerker CE + UKCA

- Boltkvalitet 10.9

Materiale og finish
Powertex LPD lgftepunkter er smidd av hgyfast legeringsstal og deler er elektrostatisk pulverlakkert. Boltene er dacrotiserte for bedre a motsta
korrosjon. Boltene er testet for sprekkdeteksjon pa fabrikken. Andre lastbaerende deler er sprekkdetektert eller pravetestet.

Valg

Powertex LPD lgftepunkter er smidd av hgyfast legeringsstal og deler er elektrostatisk pulverlakkert. Sveisede lenker er belastningstestet 2,5
x WLL. Andre lastbeerende deler er testet for sprekkdeteksjon. Gjennomgaende hullmontering med mutter kan kreve en lengre bolt som kan
bestilles som reservedel fra forhandleren. Bruk kun originale bolter som er laget spesielt for dette produktet.

For forste bruk
Sarg for at de leverte Igftepunktene samsvarer med bestillingen og at sertifikat og samsvarserkleering er tilgjengelig. Far en register over alt
lafteutstyr og serg for at de regelmessig sjekkes for & veere egnet for bruk.

Montering og bruk

Hvis noen av disse kontrollpunktene ikke er oppfylt, bar Iaftepunktet ikke brukes:

- Sjekk at alle merkinger er lesbare.

- Sjekk at det ikke er noen defekter som slitasje, deformasjon, kutt, nicks, malere, sprekker, korrosjon eller andre synlige defekter som kan pavirke
sikkerheten.

Serg for at WLL for lgftepunktet er tilstrekkelig for lasten som skal lgftes, se WLL-diagrammet. Laftepunktet skal skrus godt fast til strukturen
eller lasten ved hjelp av en momentngkkel. Hvis det er risiko for vibrasjoner osv., bar man vurdere Loctite eller andre sikringsmidler. Sgrg etter
montering for at laftepunktet kan rotere og svinge fritt uten hindringer i de tiltenkte bruksvinklene. Gjengede hull ma veere dype nok til & tillate at
bunnen av lgftepunktet stottes av kontaktoverflaten. Det gjengede hullet ma lages vinkelrett pa kontaktoverflaten, og kontaktoverflaten ma veere
plan og dimensjonert for & romme lgftepunktet..

Anbefalte minimumsgjengelengder for forskjellige materialer i forhold til metrisk gjengediameter:
-1 x M for stal

- 1,25 x M for stagpejern

- 2 x M for aluminiumslegeringer

- 2,5 x M for aluminium-magnesiumlegeringer

Nar den er montert, posisjoner koblingen slik at den kan kobles direkte til Igftemaskinen eller til mellomliggende lgfteutstyr for & utfgre
lofteoperasjonen.

18



POWERTEX

Sikkerhet ved lgfting

Arbeidsbelastningsgrensen for lgfteutstyret ma aldri overskrides. Hender og andre kroppsdeler skal holdes unna for a forhindre skade nar slakken
tas opp. Lasten skal Igftes litt uten sjokk, og det skal sjekkes at den er sikker og antar den tiltenkte posisjonen. Laftepersonell ma veere klar over
risikoen for svingende og vippende laster. Aldri tillat personer eller kroppsdeler under hengende last. Ikke tillat personer a ri pa lasten mens lasten
loftes. Landingsstedet skal veere godt forberedt. Det skal sikres at bakken eller gulvet har tilstrekkelig styrke til & ta lasten. Det skal ogsa sikres at
det er tilstrekkelig tilgang til landingsstedet og at det er klart for eventuelle ungdvendige hindringer og mennesker. Lasten skal landes forsiktig og
sikre at kroppsdeler holdes klare. Sgrg for lastens stabilitet nar den har landet fer du fierner lafteutstyret.

Tyngdepunkt

For & unnga svingning eller rotasjon av lasten, er det viktig & posisjonere lgftepunktene symmetrisk over lastens tyngdepunkt:

- For en 1-punkts lgft skal festepunktet ordnes vertikalt over tyngdepunktet.

- For en 2-punkts lgft skal festepunktene ordnes pa hver side av og over tyngdepunktet.

- For en 3- og 4-punkts lgft skal festepunktene ordnes symmetrisk i et plan rundt og over tyngdepunktet. Det er & foretrekke at fordelingen er lik
og at festepunktene er over tyngdepunktet.

1. tyngdpunkt
2. hgj spaending i dette ben
3. belastning P

Lastsymmetri

Arbeidsbelastningsgrensene (WLL) for de forskjellige konfigurasjonene er fastsatt pa grunnlag av at belastningen er symmetrisk. Dette betyr at
nar lasten lgftes, er lgftepunktene symmetrisk plassert i et plan og utgjer de samme vinklene til det vertikale.

| tilfelle av 2-, 3- og 4-bens kjedestropper, hvis bena utgjer forskjellige vinkler til det vertikale, vil den stgrste spenningen veere i benet med den
minste vinkelen til det vertikale. | det ekstreme tilfellet, hvis ett ben er vertikalt, vil det baere hele lasten.

Belastningen kan antas & vaere symmetrisk hvis alle falgende forhold er oppfylt, og lasten er mindre enn 80% av merket WLL:

a) vinklene pa kjedestroppens ben til det vertikale er alle ikke mindre enn 15°; og

b) vinklene pa kjedestroppens ben til det vertikale er alle innenfor 15° til hverandre; og

c) i tilfelle av tre- og firebens kjedestropper, er planvinklene innenfor 15° av hverandre.

Hvis ikke alle ovennevnte parametere er oppfylt, bar belastningen anses som asymmetrisk, og laftet bar henvises til en kompetent person for &
fastsette den sikre vurderingen. Alternativt, i tilfelle av asymmetrisk belastning, ber kjedestroppen vurderes til halvparten av den merkede WLL.

Symmetri av belastning

19



POWERTEX
Tillatt bruk / Forbudt bruk

Z.

MR
5 !
_’j? E‘[L % 7 7

20




POWERTEX

Lagring av lgftepunkter
Nar de ikke er i bruk, ber Iaftepunkter normalt oppbevares pa et riktig utformet stativ. De ber ikke etterlates liggende pa bakken hvor de kan bli
skadet. Hvis det er sannsynlig at produktene vil veere ute av bruk en stund, bgr de rengjares, terkes og beskyttes mot korrosjon, f.eks. lett oljet.

Inspeksjon og vedlikehold

Daglig inspeksjon

Under tieneste utsettes laftepunktene for forhold som kan pavirke deres sikkerhet. Det er derfor ngdvendig & daglig sjekke og sikre at
loftepunktene er trygge for fortsatt bruk. Laftepunktet skal trekkes ut av tjeneste og henvises til en kompetent person for grundig undersgkelse
hvis noen av fglgende observeres fgr hver bruk:

- Sjekk at alle merkinger er lesbare.

- Sjekk at det ikke er noen defekter som slitasje, deformasjon, kutt, nicks, malere, sprekker, korrosjon eller andre synlige defekter som kan pavirke
sikkerheten.

- Sjekk at kulelagerkoblingen kan rotere lett og ikke har for mye spill.

- Serg for at WLL for Igftepunktet er tilstrekkelig for lasten som skal lgftes.

- Serg for at laftepunktet er skrudd godt fast til strukturen og at Igftepunktet kan rotere og svinge fritt uten hindringer i bruksvinklene.

Grundig undersgokelse

En grundig undersgkelse ber utfares av en kompetent person med intervaller som ikke overstiger tolv maneder. Dette intervallet bgr veere kortere
hvis det anses ngdvendig i lys av tjenesteforholdene. Poster over slike undersgkelser bgr opprettholdes.

Produktene ber rengjeres grundig for & veere fri for olje, smuss og rust for undersgkelsen. Enhver rengjgringsmetode som ikke skader
modermetallet er akseptabel. Metoder & unnga er de som bruker syrer, overoppheting, fierning av metall eller bevegelse av metall som kan dekke
over sprekker eller overflatedefekter.

Tilstrekkelig belysning bgr tilveiebringes for & oppdage tegn pa slitasje, forvrengning eller ekstern skade.

Komponenter som er slitte, deformerte, sprukket, synlig forvrengt, alvorlig korrodert eller har avleiringer som ikke kan fiernes, bgr kasseres og
erstattes. Mindre skader som nicks og gouges kan fiernes ved forsiktig sliping eller filing. Overflaten bgr glatt blande seg inn i det tilstatende
materialet uten bra endring av seksjonen. Fullstendig fierning av skaden bgr ikke redusere tykkelsen pa seksjonen pa det punktet til mindre enn
produsentens spesifiserte minimumsdimensjoner eller med mer enn 10% av seksjonens nominelle tykkelse. Sjekk tilstanden til den gjengede
bolten. Sjekk at kulelagerkoblingen kan rotere lett og ikke har for mye spill.

Reparasjon: Bruk kun originale reservedeler.

Slutt pa bruk / Kassering
Leftepunktene skal sorteres / skrotes som generelt stalskrap.

Ansvarsfraskrivelse

Vi forbeholder oss retten til & endre produktdesign, materialer, spesifikasjoner eller instruksjoner uten forvarsel og uten forpliktelse overfor andre.
Hvis produktet endres pa noen mate, eller hvis det kombineres med et ikke-kompatibelt produkt/komponent, tar vi ikke ansvar for konsekvensene
angaende produktets sikkerhet.

EC-samsvarserklaering

SCM Citra OY Asessorinkatu 3-7

20780 Kaarina, Finland www.powertex-products.com

erkleerer herved at Powertex-produktet som beskrevet ovenfor er i samsvar med EC Machinery Directive 2006/42/EC.

21



POWERTEX

Merkning l ' K
POWERTEX lgftepunkter LPD er merket CE og UKCA. C n

Brukerhandbgker

Du kan alltid finne de gyldige og oppdaterte brukerhandbgkene pa nettet.
Handboken oppdateres kontinuerlig og er kun gyldig i den nyeste versjonen.

orACMAR

NB! Den engelske versjonen er originalinstruksjonen.

Handboken er tilgjengelig for nedlasting under fglgende lenke:
www.powertex-products.com/manuals

Produktoverensstemmelse og konformitet

SCM Citra OY Asessorinkatu 3-7
[ 20780 Kaarina
i '1 Finland
www.powertex-products.com

22



POWERTEX

POWERTEX Loftebeslag med decentreret led LPD
Brugsanvisning (DK)

Data og dimensioner for POWERTEX LPD - Standard

180° pivot

et SW

360° rotated

C_ >

DIMENSIONER & MOMENT

Model Gevind M E A B C D F G N L S SW Moment
mm mm mm mm mm mm mm mm mm mm mm mm Nm
LPD-M8 M8 x 1.25-6g 1 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10 M10 x 1.5-6g 16 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12 M12 x 1.75-6g 18 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16 M16 x 2.0-6g 24 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20 M20 x 2.5-6g 30 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24 M24 x 3.0-6g 36 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30 M30 x 3.5-6g 48 60 65 82 22 170 99 59 66 17 46 500
LPD-M36 M36 x 4.0-6g 62 77 85 104 27 2265 123 69 95,5 22 55 800
LPD-M42 M42 x 4.5-6g 63 95 104 117 36 2575 158 98 104,5 22 65 1500
LPD-M48 M48 x 5.0-6g 72 95 104 120 36 2575 158 98 101,5 27 75 2000

Belastningsdiagram LPD
Arbejdstemperatur -40° op til +200°C uden reduktion af WLL.

Loftemetode o L[ﬁ '_?.-i .
Haeldningsvinkel 0 90 0 90 0-45 45-60 0-45 45-60 Asymmetrisk
Lastfaktor 1 1 2 2 1.4 1 21 1.5 1
Model Arbejdsbelastningsgraense WLL (t)

LPD-M8 0.3 0.3 0.6 0.6 0.42 0.3 0.63 0.45 0.3
LPD-M10 0.63 0.63 1.26 1.26 0.88 0.63 1.32 0.95 0.63
LPD-M12 1 1 2 2 1.4 1 2.1 1.5 1
LPD-M16 1.5 1.5 3 3 21 1.5 3.1 22 1.5
LPD-M20 25 25 5 5 3.5 25 5.2 3.7 25
LPD-M24 4 4 8 8 5.6 4 8.4 6 4
LPD-M30 5 5 10 10 7 5 10.5 7.5 5
LPD-M36 8 8 16 16 11.2 8 16.8 12 8
LPD-M42 15 15 30 30 21 15 315 225 15
LPD-M48 20 20 40 40 28 20 42 30 20

23



POWERTEX

Data og dimensioner for POWERTEX LPD - Lang bolt med mgatrik

360°rotated

180° pivot

DIMENSIONER & MOMENT

Model Gevind M E A B C D F G N L S SW Moment
mm mm mm mm mm mm mm mm mm mm mm mm Nm
LPD-M8LB M8 x 1.25-6g 64 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10LB M10 x 1.5-6g 80 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12LB M12 x 1.75-6g 104 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16LB M16 x 2.0-6g 128 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20LB M20 x 2.5-6g 160 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24LB M24 x 3.0-6g 192 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30LB M30 x 3.5-6g 240 60 65 82 22 170 99 59 66 17 46 500
LPD-M36LB M36 x 4.0-6g 288 77 85 104 27 2265 123 69 95,5 22 55 800
LPD-M42LB M42 x 4.5-6g 336 95 104 117 36 2575 158 98 104,5 22 65 1500
LPD-M48LB M48 x 5.0-6g 384 95 104 120 36 2575 158 98 101,5 27 75 2000

24



POWERTEX

ADVARSEL

Arbejdet med lgfteudstyr og -apparater skal planlaegges, organiseres og udfgres for at forhindre farlige situationer. | overensstemmelse med
nationale lovkrav ma lgfteudstyr og -apparater kun anvendes af personer, der er godt bekendt med arbejdet og har teoretisk og praktisk viden
om sikker brug. Fer udstyret tages i brug, skal brugsanvisningen laeses. Den indeholder vigtige oplysninger om, hvordan udstyret fungerer pa en
sikker og korrekt made. Manglende overholdelse af denne instruktions forskrifter kan medfgre alvorlige konsekvenser sasom risiko for skader. Ud
over brugsanvisningen henviser vi til eksisterende nationale forskrifter, der kan tilsideseette disse instruktioner.

Generel beskrivelse

POWERTEX LPD lgftepunkter er beregnet til at blive brugt som lgfteudstyr, der skal monteres direkte pa lasten for at lafte den eller bruges
som dele af en lgfteenhed som lgftedg, loftesejl osv. LPD er ikke designet til at rotere under belastning, til sdédanne anvendelser anbefaler vi et
loftepunkt med kugleleje som LPB. POWERTEX LPD lgftepunkter opfylder alle relevante krav i Maskindirektivet 2006/42/EC og dets seneste
endringer.

Brug i ugunstige miljoer

Temperaturens effekt pa arbejdsbelastningsgraensen (WLL): Der skal tages hgjde for den temperatur, der kan opnas under brug. POWERTEX
LPD lgftebeslag kan anvendes ved temperaturer mellem -40°C og +200°C uden reduktion af arbejdsbelastningsgraenserne.

Sure forhold: Hgjstyrke laftekomponenter ber ikke anvendes nedsaenket i sure oplasninger eller udsat for sure dampe. Af samme arsag ma de
ikke varmgalvaniseres eller udseettes for elektrolytisk efterbehandling uden tilladelse fra producenten.

Kemiske pavirkninger: Konsulter din distributer, hvis produkterne skal udsaettes for kemikalier, iszer i kombination med hgje temperaturer. Farlige
forhold: | saerligt farlige forhold, herunder offshore-aktiviteter, lgft af personer og left af potentielt farlige laster sdésom smeltede metaller, korrosive
materialer eller spaltelige materialer, ber faregraden vurderes af en kompetent person, og arbejdsbelastningsgreensen justeres derefter.

Brugstemperaturomrade

- 40°C op til +200°C uden reduktion i WLL

+200°C op til +300°C tilladt med 10% reduktion i WLL
+ 300°C op til +400°C tilladt med 25% reduktion i WLL

Maerkning

POWERTEX LPD lgftebeslag er generelt maerket med:

- Arbejdsbelastningsgreense (WLL) f.eks. WLL 0,3t

- Producentens symbol f.eks. POWERTEX eller PX.

- Modelnavn — Stgrrelse f.eks. LPD-M8

- Sporbarhedskode f.eks. F2 (der angiver et bestemt parti).
- Overensstemmelsesmaerker CE + UKCA

- Boltkvalitet 10.9

Materiale og finish
POWERTEX LPD lgftebeslag er smedet af hgjstyrkelegeret stal og dele er elektrostatisk pulverlakeret. Boltene er dacrotiserede for bedre at
kunne modsta korrosion. Boltene er testet for revnedannelse pa fabrikken. Andre baerende dele er revnedetekteret eller provetestet.

Valg
Veelg type loftebeslag, gevindstarrelse og arbejdsbelastningsgraense, der er egnet til den specifikke anvendelse. Hvis der kan forekomme
ekstreme forhold, vibrationer eller stadlast, skal dette tages i betragtning ved valg af det korrekte lgftepunkt.

For forste brug

Sgarg for, at de leverede |gftebeslag svarer til ordren, og at certifikat og overensstemmelseserkleering er tilgaengelig. Far en registrering af alt
lefteudstyr og serg for, at de regelmaessigt kontrolleres for at vaere egnede til brug. Gennemgaende hulmontering med mgtrik kan kreeve en
leengere bolt, som kan bestilles som reservedel hos din forhandler. Brug kun originale bolte, som er fremstillet specielt til dette produkt.

For ibrugtagning

Hvis nogen af disse kontrolpunkter ikke er opfyldt, ber Igftebeslaget ikke anvendes:

- Kontroller, at alle meerkninger er laeselige.

- Kontroller, at der ikke er nogen defekter sasom slid, deformation, snit, hakker, revner, korrosion eller andre synlige defekter, der kan pavirke
sikkerheden.

Sorg for, at WLL for Igftebeslaget er tilstraekkeligt for den last, der skal Igftes, se WLL-diagrammet. Laftebeslaget skal skrues fast til strukturen
eller lasten ved hjeelp af en momentnagle. Hvis der er risiko for vibrationer osv., bar man overveje Loctite eller andre sikringsmidler. Sgrg efter
montering for, at Igftebeslaget kan rotere og vippe frit uden hindringer i de tilteenkte brugsvinkler. Gevindhuller skal veere dybe nok til at tillade, at
kraven af lgftepunktet understottes af kontaktoverfladen. Det gevindskarne hul skal laves vinkelret pa kontaktoverfladen, og kontaktoverfladen
skal veere plan og dimensioneret til at rumme svirvelgjebolten.

Anbefalede minimumsgevindleengder for forskellige materialer i forhold til metrisk gevinddiameter:
-1 x M for stal

- 1,25 x M for stgbejern

- 2 x M for aluminiumslegeringer

- 2,5 x M for aluminium-magnesiumlegeringer

Nar det er monteret, skal forbindelsen placeres, sa den kan tilsluttes direkte til laftemaskinen eller til mellemliggende lgfteudstyr for at udfere
|gfteoperationen.

25



POWERTEX

Sikkerhed ved loft

Arbejdsbelastningsgraensen for lgfteudstyret ma aldrig overskrides. Haender og andre kropsdele skal holdes veek for at forhindre skader, nar
den Igsthaengende del tages op. Lasten skal Igftes let uden stad, og det skal kontrolleres, at den er sikker og antager den tilteenkte position.
Leftepersonale skal veere opmaerksom pa risiciene ved svingende og vippende laster. Tillad aldrig personer eller kropsdele under haengende
last. Tillad ikke personer at ride pa lasten, mens den lgftes. Afsaetningsstedet skal veere godt forberedt. Det skal sikres, at jorden eller gulvet er
staerkt nok til at baere lasten. Det skal ogsa sikres, at der er tilstraekkelig adgang til afseetningsstedet, og at det er frit for eventuelle ungdvendige
forhindringer og personer. Lasten skal afsaettes forsigtigt og sikre, at kropsdele holdes frie. Sarg for lastens stabilitet, nar den er seenkes, for
lofteudstyret fiernes.

Tyngdepunkt

For at undga svingning eller rotation af lasten er det vigtigt at placere lgftepunkterne symmetrisk over lastens tyngdepunkt:

- For et 1-punkts |oft skal fastggrelsespunktet arrangeres lodret over tyngdepunktet.

- For et 2-punkts |oft skal fastgerelsespunkterne arrangeres pa hver side af og over tyngdepunktet.

- For et 3- og 4-punkts lgft skal fastggrelsespunkterne arrangeres symmetrisk i et plan rundt om og over tyngdepunktet. Det er at foretraekke, at
fordelingen er lige, og at fastgerelsespunkterne er over tyngdepunktet.

1. Tyngdepunkt
2. hgj spaending i dette ?en
3. belastning P

Lastsymmetri

Arbejdsbelastningsgraenserne (WLL) for de forskellige konfigurationer er fastsat pa baggrund af, at belastningen er symmetrisk. Dette betyder, at
nar lasten lgftes, er lgftepunkterne symmetrisk placeret i et plan og danner de samme vinkler til det lodrette.

| tilfeelde af 2-, 3- og 4-parts keedesling, hvis parterne danner forskellige vinkler til det lodrette, vil den stgrste spaending vaere i parten med den
mindste vinkel til det lodrette. | det ekstreme tilfeelde, hvis en part er lodret, vil den beere hele lasten.

Belastningen kan antages at vaere symmetrisk, hvis alle fglgende betingelser er opfyldt, og lasten er mindre end 80% af den markerede WLL:

a) vinklerne pa kaedeslingets parter til det lodrette er alle ikke mindre end 15°; og

b) vinklerne pa kaedeslingets parter til det lodrette er alle inden for 15° til hinanden; og

c) i tilfeelde af tre- og fire-parts keedesling er planvinklerne inden for 15° af hinanden.

Hvis ikke alle ovenstaende parametre er opfyldt, ber belastningen betragtes som asymmetrisk, og lgftet ber henvises til en kompetent person for
at fastsla den sikre vurdering. Alternativt, i tilfeelde af asymmetrisk belastning, ber kaedeslinget vurderes til halvdelen af den markerede WLL.

Symmetri af belastning

26



POWERTEX

% 0-150°

Z.

7 7 7%

27



POWERTEX

Opbevaring af laftebeslag

Nar de ikke er i brug, ber lgftebeslag normalt opbevares pa et korrekt designet stativ. De bar ikke efterlades liggende pa jorden, hvor de kan blive
beskadiget. Hvis det er sandsynligt, at produkterne vil vaere ude af brug i noget tid, ber de rengeres, tarres og beskyttes mod korrosion, f.eks. let
olieret.

Inspektion og vedligeholdelse

Daglig inspektion

Under brug udsaettes lgftebeslagene for forhold, der kan pavirke deres sikkerhed. Det er derfor ngdvendigt dagligt at kontrollere og sikre, at
loftebeslagene er sikre til fortsat brug. Loftebeslaget bar tages ud af drift og henvises til en sagkyndig person til grundig undersggelse, hvis nogen
af felgende observeres for hver brug:

- Kontroller, at alle maerkninger er laeselige.

- Kontroller, at der ikke er nogen defekter sasom slid, deformation, snit, hakker, revner, korrosion eller andre synlige defekter, der kan pavirke
sikkerheden.

- Kontroller, at kuglelejeledet kan rotere let og ikke har for meget slgr.

- Serg for, at WLL for lgftepunktet er tilstreekkeligt for den last, der skal lgftes.

- Serg for, at laftepunktet er skruet fast til strukturen, og at Igftebeslaget kan rotere og vippe frit uden hindringer i brugsvinklerne.

Grundig undersggelse

En grundig eftersyn bgr udferes af en sagkyndig person med intervaller, der ikke overstiger tolv maneder. Dette interval bgr vaere kortere, hvis det
anses for ngdvendigt i forhold til brugshyppigheden. Optegnelser over sadanne eftersynet bgr opretholdes.

Produkterne bgr rengeres grundigt for at veere fri for olie, snavs og rust fgr undersggelsen. Enhver rengaringsmetode, der ikke beskadiger
modermetallet, er acceptabel. Metoder, der skal undgas, er dem, der bruger syrer, overophedning, fiernelse af metal eller beveegelse af metal,
som kan daekke over revner eller overfladefejl.

Tilstreekkelig belysning ber tilvejebringes for at opdage tegn pa sler, forvreengning eller ekstern skade.

Komponenter, der er slidte, deformeret, revnede, synligt forvreenget, alvorligt korroderet eller har aflejringer, der ikke kan fjernes, bgr kasseres og
erstattes. Mindre skader sasom hakker og afskalning kan fjernes ved forsigtig slibning eller filing. Overfladen ber glat overga til det tilstadende
materiale uden pludselig eendring af sektionen. Fuld fiernelse af skaden bgr ikke reducere tykkelsen af sektionen pa det punkt til mindre end
producentens angivne minimumsmal eller med mere end 10% af sektionens nominelle tykkelse. Kontroller tilstanden af den gevindskarne bolt.
Kontroller, at kuglelejeledet kan rotere let og ikke har for meget slor.

Reparation: Brug kun originale reservedele.

Afslutning af brug / Bortskaffelse
Leftebeslag skal sorteres / skrottes som almindeligt stalskrot.

Ansvarsfraskrivelse

Vi forbeholder os retten til at 2endre produktdesign, materialer, specifikationer eller instruktioner uden forudgaende varsel og uden forpligtelse
over for andre.

Hvis produktet aendres pa nogen made, eller hvis det kombineres med et ikke-kompatibelt produkt/komponent, patager vi os intet ansvar for
konsekvenserne med hensyn til produktets sikkerhed.

EC-overensstemmelseserklaering

SCM Citra OY Asessorinkatu 3-7

20780 Kaarina, Finland www.powertex-products.com

erklaerer herved, at POWERTEX-produktet, som beskrevet ovenfor, er i overensstemmelse med EC Machinery Directive 2006/42/EC.

28



POWERTEX

Maerkning l ' K
POWERTEX lgftepunkter LPD er meerket CE og UKCA. C n

Brugermanualer

Du kan altid finde de gyldige og opdaterede brugermanualer pa nettet.
Manualen opdateres Igbende og er kun gyldig i den nyeste version.

orACMAR

NB! Den engelske version er den originale instruktion.

Manualen er tilgaengelig til download under falgende link:
www.powertex-products.com/manuals

Produktoverensstemmelse og overensstemmelse
SCM Citra OY
Asessorinkatu 3-7
[ 20780 Kaarina
e '1 Finland
www.powertex-products.com

29



POWERTEX

POWERTEX Nostopiste, jossa lenkki ei ole keskitetty LPD
Kayttoohje (Fl)

Tiedot ja mitat POWERTEX LPD - Standardi

180° pivot

—t—SW ——

360°rotated

-

MITAT & KIRISTYSMOMENTTI

Malli Kierre M E A B C D F G N L S sSw Kiristysmo-
mm mm mm mm mm mm mm mm mm mm mm mm mentti
Nm
LPD-M8 M8 x 1.25-6g 11 34 37 42 14 98.5 57 31 425 6 13 30
LPD-M10 M10 x 1.5-6g 16 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12 M12 x 1.75-69g 18 34 37 45 14 98.5 57 31 BORS 8 18 100
LPD-M16 M16 x 2.0-6g 24 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20 M20 x 2.5-69 30 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24 M24 x 3.0-6g 36 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30 M30 x 3.5-6g 48 60 65 82 22 170 99 59 66 17 46 500
LPD-M36 M36 x 4.0-6g 62 77 85 104 27 226.5 123 69 95,5 22 55 800
LPD-M42 M42 x 4.5-69 63 95 104 117 36 2575 158 98 104,5 22 65 1500
LPD-M48 M48 x 5.0-6g 72 95 104 120 36 257.5 158 98 101,5 27 75 2000

Kuormitustaulukko LPD
Kayttdlampatila -40° jopa +200°C ilman WLL:n (Working Load Limit, sallittu tydkuorma) vahennysta.

I'f:l‘r’r:;"a“ 920 0-45 45-60 0-45 45-60 Epi‘;‘r’]':r:"e'
Kerroin 1 1 2 2 1.4 1 2.1 15 1
Malli Tyokuorma WLL (t)

LPD-M8 0.3 0.3 0.6 0.6 0.42 0.3 0.63 0.45 0.3
LPD-M10 0.63 0.63 1.26 1.26 0.88 0.63 1.32 0.95 0.63
LPD-M12 1 1 2 2 1.4 1 2.1 15 1
LPD-M16 15 15 3 3 2.1 15 3.1 22 15
LPD-M20 2.5 25 5 5 35 25 5.2 3.7 25
LPD-M24 4 4 8 8 5.6 4 8.4 6 4
LPD-M30 5 5 10 10 7 5 105 75 5
LPD-M36 8 8 16 16 1.2 8 16.8 12 8
LPD-M42 15 15 30 30 21 15 315 22.5 15
LPD-M48 20 20 40 40 28 20 42 30 20

30



POWERTEX

Tiedot ja mitat POWERTEX LPD - Pitka pultti mutterilla

180° pivot

360°rotated

MITAT & KIRISTYSMOMENTTI

Malli Kierre M E A B C D F G N L S sSw Kiristysmo-
mm mm mm mm mm mm mm mm mm mm mm mm mentti
Nm
LPD-M8LB M8 x 1.25-6g 64 34 37 42 14 98.5 57 31 425 6 13 30
LPD-M10LB M10 x 1.5-6g 80 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12LB M12 x 1.75-69g 104 34 37 45 14 98.5 57 31 BORS 8 18 100
LPD-M16LB M16 x 2.0-6g 128 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20LB M20 x 2.5-69 160 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24LB M24 x 3.0-6g 192 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30LB M30 x 3.5-6g 240 60 65 82 22 170 99 59 66 17 46 500
LPD-M36LB M36 x 4.0-6g 288 77 85 104 27 226.5 123 69 95,5 22 55 800
LPD-M42LB M42 x 4.5-69 336 95 104 117 36 2575 158 98 104,5 22 65 1500
LPD-M48LB M48 x 5.0-6g 384 95 104 120 36 257.5 158 98 101,5 27 75 2000

31



POWERTEX

VAROITUS

Nostolaitteiden ja -valineiden kayttd on suunniteltava, jarjestettava ja suoritettava siten, etta vaaralliset tilanteet estetdan. Kansallisten
lakisaateisten maaraysten mukaisesti nostolaitteita ja -valineitd saa kayttaa vain henkild, joka on hyvin perehtynyt tydhon ja jolla on teoreettista ja
kaytannon tietoa turvallisesta kaytosta. Ennen laitteen kayttda on luettava kayttdohje. Se sisaltaa tarkeaa tietoa laitteen turvallisesta ja oikeasta
kaytosta. Taman ohjeen maaraysten noudattamatta jattdminen voi aiheuttaa vakavia seurauksia, kuten loukkaantumisriskin. Kayttdohjeen lisaksi
viittaamme olemassa oleviin kansallisiin maarayksiin, jotka saattavat syrjayttda nama ohjeet.

Yleista

POWERTEX LPD -nostopisteet on tarkoitettu kaytettavaksi nostolaitteina, jotka asennetaan suoraan kuormaan sen nostamiseksi, tai
kaytettavaksi nostokokoonpanon osina, kuten nostopalkki, nostoliina jne. LPD:ta ei ole suunniteltu pyérimaan kuorman alla, tallaisiin sovelluksiin
suosittelemme kuulalaakeroitua nostopistetta, kuten LPB:td. POWERTEX LPD -nostopisteet tayttavat kaikki konedirektiivin 2006/42/EY ja sen
viimeisimpien muutosten vaatimukset.

Kaytto haitallisissa ymparistoissa

Lampédtilan vaikutus sallittuun tydkuormaan (WLL): On otettava huomioon kaytossa saavutettava lampétila. POWERTEX LPD -nostosilmukoita
voidaan kayttaa lampétiloissa -40°C ja +200°C ilman sallitun tydkuorman vahentamista.

Happamissa olosuhteissa: Korkealujuuskomponentteja ei saa kayttaa upotettuna happamiin liuoksiin tai altistettuna happamille hoyryille. Samasta
syysta niitd ei saa kuumasinkita tai altistaa elektrolyyttiselle viimeistelylle ilman valmistajan lupaa.

Kemialliset vaikutukset: Konsultoi jakelijaasi, jos tuotteet altistetaan kemikaaleille, erityisesti yhdistettyna korkeisiin Iampétiloihin.

Vaaralliset olosuhteet: Erityisen vaarallisissa olosuhteissa, mukaan lukien offshore-toiminnot, henkildn nostaminen ja potentiaalisesti vaarallisten
kuormien, kuten sulatettujen metallien, sydvyttavien materiaalien tai sateilevien materiaalien nostaminen, vaaran aste tulisi arvioida patevan
henkilon toimesta ja sallittua tydkuormaa on vastaavasti sdadettava.

Kayttolampotila

-40 jopa +200°C ilman WLL:n alennusta

+200 jopa +300°C sallittu 10% WLL:n alennuksella
+300 jopa +400°C sallittu 25% WLL:n alennuksella

Merkinnat

POWERTEX LPD -nostopisteet on yleensa merkitty seuraavasti:
- Tyékuorma (WLL) esim. WLL 0,3t

- Valmistajan symboli esim. POWERTEX tai PX.

- Mallinimi — Koko esim. LPD-M8

- Jaljitettavyyskoodi esim. F2 (osoittaa tiettya eraa).

- Vaatimustenmukaisuusmerkinnat CE + UKCA

- Ruuviluokka 10.9

Materiaali ja viimeistely

POWERTEX LPD -nostosilmukat on taottu korkealujuusteréksesta ja osat on sahkdstaattisesti jauhemaalattu. Pultit on dakroitu, jotta ne
kestavat paremmin korroosiota. Pultit testataan tehtaalla halkeamien havaitsemiseksi. Muut kuormitusta kantavat osat testataan halkeamien
havaitsemisella tai koekuormituksella.

Valinta

Valitse nostosilmukan tyyppi, kierteen koko ja tydkuorma sovellukseen sopivaksi. Jos nostosilmukka saattaa altistua darimmaisille olosuhteille,
tarinalle tai iskukuormitukselle, tama on otettava hyvin huomioon oikeaa nostosilmukkaa valittaessa.

Lapireikdasennus mutterilla voi vaatia pidemman pultin, jonka voi tilata varaosana jalleenmyyjaltasi. Kayta vain alkuperaisia pultteja, jotka on
valmistettu erityisesti tata tuotetta varten.

Ennen ensimmaista kayttoa
Varmista, etta toimitetut nostosimukat vastaavat tilausta ja etta todistus ja vaatimustenmukaisuusvakuutus ovat saatavilla. Pida rekisteri kaikista
nostolaitteista ja varmista, etta niiden kayttokunto tarkastetaan saanndllisesti.

Asennus ja kaytto

Jos jokin naista tarkastuskriteereista ei tayty, nostosilmukkaa ei saa kayttaa:

- Tarkista, etta kaikki merkinnat ovat luettavissa.

- Tarkista, ettei ole vikoja, kuten kulumaa, muodonmuutoksia, leikkauksia, naarmuja, uurteita, halkeamia, korroosiota tai muita nakyvia vikoja,
jotka voisivat vaikuttaa turvallisuuteen.

Varmista, ettd nostosilmukan WLL on riittava nostettavalle kuormalle, katso WLL-taulukko. Nostosilmukka pitaa kiristda tiukasti rakenteeseen tai
kuormaan momenttiavaimella. Jos on tarinariski yms., tulee harkita Loctiten tai muiden kiinnityskeinojen kaytt6éa. Varmista asennuksen jalkeen,
ettd nostosilmukka voi pyoria ja kdantya vapaasti ilman esteita tarkoitetuissa nostokulmissa. Kierreaukkojen on oltava tarpeeksi syvia, jotta nos-
tosilmukan pohja tukeutuu kosketuspintaan. Kierreaukon on oltava kohtisuorassa kosketuspintaa vasten ja kosketuspinnan on oltava tasainen ja
mitoitettu sopimaan nostosilmukalle.

Eri materiaalien suositellut vahimmaiskierremitat suhteessa metrisen kierteen halkaisijaan:
- 1 x M terékselle

- 1,25 x M valuraudalle

- 2 x M alumiiniseoksille

- 2,5 x M alumiini-magnesiumseoksille

Asennuksen jalkeen aseta lenkki niin, etta se voidaan yhdistaa suoraan nostolaitteeseen tai valilliseen nostoapuvalineeseen noston suoritta-
miseksi.

32



POWERTEX

Turvallisuus nostettaessa

Nostolaitteiden tydkuormaa ei saa koskaan ylittaa. Kadet ja muut kehon osat on pidettava poissa loukkaantumisen estédmiseksi, kun nosto
aloitetaan. Kuorma on nostettava kevyesti ilman iskuja ja tarkistettava, etta se on turvallinen ja nousee tarkoitetussa asennossa. Nostohenkildston
on oltava tietoinen heiluvien ja kallistuvien kuormien riskeisté. Al4 koskaan salli henkildiden tai kehonosien olla roikkuvan kuorman alla. Al salli
henkildiden olla kuorman paalla sen nostamisen aikana. Laskeutumispaikan tulee olla hyvin valmisteltu. On varmistettava, ettd maapera tai lattia
kestaa kuorman. On myd&s varmistettava, etté laskupaikalle on riittava paasy ja ettd se on vapaa tarpeettomista esteista ja ihmisista. Kuorma on
laskettava varovasti varmistaen, ettd kehonosat ovat poissa tielta. Varmista kuorman vakaus laskettaessa ennen nostolaitteiden poistamista.

Painopiste

Kuorman heilumisen tai pyérimisen valttdmiseksi on tarkeaa sijoittaa nostosilmukat symmetrisesti kuorman painopisteen ylapuolelle::

- Yhden pisteen nostossa nostosilmukan pitaa olla jarjestetty suoraan painopisteen ylapuolelle.

- Kahden pisteen nostossa nostosilmukat pitda asentaa painopisteen kummallekin puolelle ja sen ylapuolelle.

- Kolmen ja neljan pisteen nostoissa nostosilmukat pitdad asentaa symmetrisesti painopisteen ymparille ja sen ylapuolelle. On suositeltavaa, etta
kuorma jakautuu tasaisesti nostosilmukoille ja etté ne ovat painopisteen ylapuolella.

7

1. painopiste
2. suuri jannitys tassa jalassa
3. kuormitus P

Kuorman symmetria

Eri konfiguraatioiden tydkuormat (WLL) on maaritetty olettaen, ettd kuormitus on symmetrinen. Tama tarkoittaa, ettd kuormaa nostettaessa
nostosilmukat sijoitetaan symmetrisesti tasossa ja ne ovat samassa kulmassa pystysuoraan nahden.

Jos monihaaraisissa kettinkirakseissa haarojen kulmat ovat erisuuruiset, suurin kuormitus kohdistuu haaraan, jolla on pienin kulma pystysuoraan
nahden. Aaritapauksessa, jos yksi haara on pystysuora, se kantaa koko kuorman.

Kuormituksen voidaan olettaa olevan symmetrinen, jos kaikki seuraavat ehdot tayttyvat ja kuorma on alle 80% merkitysta WLL:sta:

a) kettinkiraksin haarojen kulmat pystysuoraan nahden ovat kaikki vahintaan 15°; ja

b) kettinkiraksin haarojen kulmat pystysuoraan nahden ovat kaikki 15°:n sisalla toisistaan; ja

c) kolme- ja neljahaaraisissa kettinkirakseissa tasokulmat ovat toisistaan 15°:n sisalla toisistaan.

Jos kaikki edella mainitut edellytykset eivat tayty, kuormitusta tulisi pitdéd epasymmetrisena, ja nosto tulisi laittaa patevalle henkilélle turvallisen
luokituksen maarittamiseksi. Vaihtoehtoisesti epdsymmetrisessa kuormituksessa kettinkiraksin tyékuorma on vahennettava puoleen merkitysta.

Kuormituksen symmetria

33



POWERTEX
i aytto / Kielletty kaytto

%
%
(-]

[

0—‘-% s
o0, =

- SCooo E

=

Z

M LR ¥
§
-ng 1‘\ 2 7 7

34




POWERTEX

Nostosilmukoiden sailytys

Kun nostosilmukoita ei kayteta, ne pitdisi yleensa sailyttda asianmukaisesti suunnitellussa telineessa. Niita ei pitaisi jattdd maahan, missa ne
voivat vaurioitua. Jos on todennakoista, etta tuotteita ei kaytetd vahaan aikaan, ne pitaisi puhdistaa, kuivata ja suojata korroosiolta, esim. kevyesti
Oljyamalla.

Tarkastus ja huolto

Piivittdinen tarkastus

Kayton aikana nostosilmukat altistuvat olosuhteille, jotka voivat vaikuttaa niiden turvallisuuteen. Siksi on valttamatonta paivittain tarkastaa
nostosilmukat ja varmistaa, etté ne ovat turvallisia kayttaa jatkossakin. Nostosilmukka pitda poistaa kaytdsta ja toimittaa patevalle henkildlle
perusteelliseen tarkastukseen, jos ennen jokaista kayttéa havaitaan jokin seuraavista:

- Kaikki merkinnat eivat ole luettavissa.

- Nostosilmukoissa on vikoja, kuten kulumaa, muodonmuutoksia, leikkauksia, naarmuja, uurteita, halkeamia, korroosiota tai muita nakyvia vikoja,
jotka voisivat vaikuttaa turvallisuuteen.

- Kuulalaakeri ei pyo6ri kunnolla tai se on liian valja.

- Nostosilmukan WLL ei ole riittava nostettavalle kuormalle.

- Nostosilmukka ei ole kiristetty tiukasti rakenteeseen ja etta nostosilmukka ei voi pydria ja kaantya vapaasti ilman esteitd nostokulmissa.

Perusteellinen tarkastus

Patevan henkildn tulee suorittaa perusteellinen tarkastus enintdan kahdentoista kuukauden valein. Tama vali tulisi lyhentad, jos kayttdolosuhteet
niin vaativat. Tarkastukset on merkittava rekisteriin.

Tuotteet tulisi puhdistaa perusteellisesti vapaaksi 0ljysta, liasta ja ruosteesta ennen tarkastusta. Mika tahansa puhdistusmenetelma, joka ei
vahingoita alkuperaista materiaalia, on hyvaksyttava. Valtettavia menetelmia ovat ne, joissa kaytetdan happoja, ylikuumentamista, materiaalin
poistoa tai tydstamista niin, ettd mahdolliset halkeamat tai pinnan viat voivat peittya.

Riittava valaistus on tarpeen kulumisen, muodonmuutosten tai ulkoisen vahingon merkkien havaitsemiseksi.

Komponentit, joissa on kulumia, muodonmuutoksia, halkeamia, nakyvia vaantymia, voimakasta korroosiota tai ylimaaraista ainesta, jota ei

saa poistettua pitaisi hylata ja korvata. Pienia vaurioita, kuten naarmuja ja uurteita, voidaan poistaa varovaisesti hioen tai viilaten. Pinnan tulisi
sulautua sujuvasti viereiseen materiaaliin ilman suurempaa pykalaa. Vahingon taydellinen poisto ei saisi pienentaa kyseisen kohdan paksuutta
alle valmistajan maarittdmien vahimmaismittojen tai yli 10% kyseisen kohdan nimellispaksuudesta. Tarkista pultin kunto. Tarkista, etté kuulalaakeri
pyorii kunnolla eika se ole liian valja.

Korjaus: Kayta vain alkuperaisia varaosia.

Hylkays / Havittaminen
Nostosilmukat lajitellaan/romutetaan yleisena terasromuna..

Vastuuvapauslauseke

Pidatamme oikeuden muuttaa tuotteen suunnittelua, materiaaleja, teknisia tietoja tai ohjeita ilman ennakkoilmoitusta ja ilman velvollisuutta muita
kohtaan.

Jos tuotetta muutetaan millaan tavalla tai jos se yhdistetaan yhteensopimattomaan tuotteeseen/komponenttiin, emme ota vastuuta seurauksista
tuotteen turvallisuuden suhteen.

EC Vaatimustenmukaisuusvakuutus

SCM Citra OY

Asessorinkatu 3-7

20780 Kaarina, Suomi

www.powertex-products.com

vakuuttaa taten, ettda POWERTEX-tuote, kuten ylla kuvattu, on Konedirektiivin 2006/42/EC mukainen.

35



POWERTEX

Merkinnat | ' K
POWERTEX-nostopisteet LPD on merkitty CE- ja UKCA-merkeilla. C n

Kayttoohjeet

Voit aina |6ytaa voimassa olevat ja paivitetyt kayttdohjeet verkosta.
Ohje paivitetaan jatkuvasti ja on voimassa vain viimeisimmassa versiossa.

orACMAR

Huom! Englanninkielinen versio on alkuperainen ohje.

Ohje on ladattavissa seuraavan linkin kautta:
www.powertex-products.com/manuals

Tuotteen vaatimustenmukaisuus ja yhdenmukaisuus

SCM Citra OY
Asessorinkatu 3-7
[ 20780 Kaarina

e '1 Suomi
www.powertex-products.com

36



POWERTEX

POWERTEX Anschlagpunkt mit dezentriertem Glied LPD

Bedienungsanleitung (DE)

Daten und MaRe POWERTEX LPD - Standard

360° rotated

C_ >

180° pivot

——SW =

ABMESSUNGEN & DREHMOMENT

Modell Gewinde M E A B C D F G N L S SW  Drehmoment
mm mm mm mm mm mm mm mm mm mm mm mm Nm
LPD-M8 M8 x 1.25-6g 1 34 81 42 14 98.5 57 il 42,5 6 13 30
LPD-M10 M10 x 1.5-6g 16 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12 M12 x 1.75-6g 18 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16 M16 x 2.0-6g 24 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20 M20 x 2.5-6g 30 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24 M24 x 3.0-6g 36 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30 M30 x 3.5-6g 48 60 65 82 22 170 99 59 66 17 46 500
LPD-M36 M36 x 4.0-6g 62 77 85 104 27 2265 123 69 95,5 22 55 800
LPD-M42 M42 x 4.5-6g 63 95 104 117 36 2575 158 98 104,5 22 65 1500
LPD-M48 M48 x 5.0-6g 72 95 104 120 36 2575 158 98 101,5 27 75 2000

Lastdiagramm LPD

Arbeitstemperatur -40° bis +200°C ohne Reduzierung der Tragfahigkeit (WLL).

Belastung

-'" - .-'1 | ]

S B L A
Ejer:gz;vinkel 0 90 0 90 045 4560 045 4560  Asymmetrisch
Lastfaktor 1 1 2 2 1.4 1 21 1.5 1
Modell Tragfahigkeitsgrenze WLL (t)
LPD-M8 0.3 0.3 0.6 0.6 0.42 0.3 0.63 0.45 0.3
LPD-M10 0.63 0.63 1.26 1.26 0.88 0.63 1.32 0.95 0.63
LPD-M12 1 1 2 2 14 1 21 1.5 1
LPD-M16 1.5 1.5 3 8 2.1 1.5 3.1 2.2 1.5
LPD-M20 25 25 5 5 35 25 5.2 3.7 25
LPD-M24 4 4 8 8 5.6 4 8.4 6 4
LPD-M30 5 5 10 10 7 5 10.5 7.5 5
LPD-M36 8 8 16 16 11.2 8 16.8 12 8
LPD-M42 15 15 30 30 21 15 315 225 15
LPD-M48 20 20 40 40 28 20 42 30 20

37



POWERTEX

Daten und MaRe POWERTEX LPD - Langer Bolzen mit Mutter

360° rotated

180° pivot

—SW

ABMESSUNGEN & DREHMOMENT

Modell Gewinde M E A B C D F G N L S SW  Drehmoment
mm mm mm mm mm mm mm mm mm mm mm mm Nm
LPD-M8LB M8 x 1.25-6g 64 34 81 42 14 98.5 57 il 42,5 6 13 30
LPD-M10LB M10 x 1.5-6g 80 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12LB M12 x 1.75-6g 104 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16LB M16 x 2.0-6g 128 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20LB M20 x 2.5-6g 160 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24LB M24 x 3.0-6g 192 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30LB M30 x 3.5-6g 240 60 65 82 22 170 99 59 66 17 46 500
LPD-M36LB M36 x 4.0-6g 288 77 85 104 27 2265 123 69 95,5 22 55 800
LPD-M42LB M42 x 4.5-6g 336 95 104 117 36 2575 158 98 104,5 22 65 1500
LPD-M48LB M48 x 5.0-6g 384 95 104 120 36 2575 158 98 101,5 27 75 2000

38



POWERTEX

WARNUNG

Die Arbeit mit Hebevorrichtungen und -ausriustungen muss geplant, organisiert und durchgefiihrt werden, um gefahrliche Situationen zu
verhindern. GemaR den nationalen gesetzlichen Vorschriften diirffen Hebevorrichtungen und -ausriistungen nur von Personen verwendet
werden, die mit der Arbeit vertraut sind und theoretisches und praktisches Wissen Uber die sichere Verwendung haben. Vor der Verwendung der
Ausrlstung muss die Bedienungsanleitung gelesen werden. Sie enthalt wichtige Informationen dartber, wie die Ausristung sicher und korrekt
funktioniert. Die Nichtbeachtung der Vorschriften dieser Anleitung kann schwerwiegende Folgen wie Verletzungsrisiken haben. Neben der
Bedienungsanleitung verweisen wir auf bestehende nationale Vorschriften, die diese Anweisungen ersetzen kénnen.

Allgemeine Beschreibung

POWERTEX LPD Anschlagpunkte sind fiir den Einsatz als Hebezeuge vorgesehen, die direkt an der Last montiert werden, um diese zu heben,
oder als Teile einer Hebevorrichtung wie z.B. Hebebalken, Hebegurte usw. LPD ist nicht daflir ausgelegt, sich unter Last zu drehen. Fur solche
Anwendungen empfehlen wir einen Hebepunkt mit Kugellager wie LPB. POWERTEX LPD-Anschlagpunkte erflillen alle relevanten Anforderungen
der Maschinenrichtlinie 2006/42/EG und deren letzte Anderungen.

Verwendung in widrigen Umgebungen

Auswirkungen der Temperatur auf die Tragfahigkeit (WLL): Es sollte die Temperatur berticksichtigt werden, die im Betrieb erreicht werden kann.
Powertex LPD Anschlagpunkte kénnen bei Temperaturen zwischen -40°C und +200°C ohne Reduzierung der Tragfahigkeiten verwendet werden.
Saurebedingungen: Hochfeste Hebekomponenten sollten weder in Saurelésungen getaucht noch Sduredampfen ausgesetzt werden. Aus
demselben Grund diirfen sie nicht feuerverzinkt oder ohne Genehmigung des Herstellers einer elektrolytischen Veredelung ausgesetzt werden.
Chemische Einflisse: Konsultieren Sie Ihren Handler, falls die Produkte Chemikalien ausgesetzt werden sollen, insbesondere in Kombination mit
hohen Temperaturen.

Gefahrliche Bedingungen: In besonders gefahrlichen Bedingungen, einschlieRlich Offshore-Aktivitadten, dem Heben von Personen und dem
Heben potenziell gefahrlicher Lasten wie geschmolzenen Metallen, korrosiven Materialien oder spaltbaren Materialien, sollte das Gefahrenniveau
von einer kompetenten Person bewertet und die Tragfahigkeit entsprechend angepasst werden.

Temperaturbereich

-40 bis +200°C ohne Reduzierung der WLL

+200 bis +300°C erlaubt mit 10% Reduzierung der WLL
+300 bis +400°C erlaubt mit 25% Reduzierung der WLL

Kennzeichnung

Powertex LPD Anschlagpunkte sind allgemein gekennzeichnet mit:

- Tragfahigkeit (WLL) z.B. WLL 0,3t

- Herstellersymbol z.B. POWERTEX oder PX

- Modellname - GroRe z.B. LPD-M8

- Rickverfolgbarkeitscode z.B. F2 (bezeichnet eine bestimmte Charge).
- Konformitatszeichen CE + UKCA

- Schraubenklasse 10.9

Material und Verarbeitung

Powertex LPD Anschlagpunkte sind aus hochfestem legiertem Stahl geschmiedet und die Teile sind elektrostatisch pulverbeschichtet. Die Bolzen
sind dacrotisiert, um der Korrosion besser standzuhalten. Die Schrauben werden im Werk auf Risserkennung getestet. Andere tragende Teile
werden auf Rissbildung oder Probebelastung geprift.

Auswahl

Wabhlen Sie den Typ des Anschlagpunktes, die GewindegroRe und die Tragfahigkeit, die fur die jeweilige Anwendung geeignet sind. Wenn
extreme Umstande, Vibrationen oder Stof3belastungen auftreten konnen, muss dies bei der Auswahl des richtigen Anschlagpunktes berticksichtigt
werden. Fur die Durchgangslochmontage mit Mutter ist méglicherweise eine l1angere Schraube erforderlich, die als Ersatzteil bei lnrem Handler
bestellt werden kann. Verwenden Sie nur Originalbolzen, die speziell fir dieses Produkt hergestellt wurden.

Vor der ersten Verwendung

Stellen Sie sicher, dass die gelieferten Anschlagpunkte der Bestellung entsprechen und dass Zertifikat und Konformitatserklarung zur Verfiigung
gestellt werden. Fiihren Sie ein Register aller Hebeausristungen und stellen Sie sicher, dass diese regelmaRig auf ihre Einsatzfahigkeit gepruft
werden.

Montage und Verwendung

Wenn einer dieser Priifpunkte nicht erfllt ist, sollte der Anschlagpunkt nicht verwendet werden:

- Uberpriifen Sie, ob alle Kennzeichnungen lesbar sind.

- Uberpriifen Sie auf Mangel wie Verschleil, Verformung, Schnitte, Kerben, Rillen, Risse, Korrosion oder andere sichtbare Defekte, die die
Sicherheit beeintrachtigen kénnten.

Stellen Sie sicher, dass die WLL des Anschlagpunktes ausreichend fiir die zu hebende Last ist (siehe WLL-Diagramm). Der Anschlagpunkt muss
mit einem Drehmomentschlussel fest an die Struktur oder Last geschraubt werden. Bei Gefahr von Vibrationen usw. sollte man Loctite oder
andere Sicherungsmittel in Betracht ziehen. Stellen Sie nach der Montage sicher, dass sich der Anschlagpunkt frei drehen und neigen kann, ohne
dass Hindernisse in den vorgesehenen Winkeln vorhanden sind. Gewindel6cher miissen tief genug sein, um den Boden des Anschlagpunktes
durch die Kontaktflache zu stltzen. Das Gewindeloch muss senkrecht zur Kontaktflache angebracht sein, und die Kontaktflache muss eben und
dimensioniert sein, um den Anschlagpunkt aufzunehmen.

Empfohlene Mindestgewindelangen verschiedener Materialien in Bezug auf den metrischen Gewindedurchmesser:
-1 x M fur Stahl

- 1,25 x M fir Gusseisen

- 2 x M fur Aluminiumlegierungen

- 2,5 x M fur Aluminium-Magnesium-Legierungen

Wenn montiert, positionieren Sie das Glied so, dass es direkt an die Hebevorrichtung oder an Zwischenhebeausriistungen angeschlossen
werden kann, um den Hebevorgang durchzufiihren.

39



POWERTEX

Sicherheit beim Heben

Die Tragfahigkeitsgrenze der Anschlagpunkte darf niemals Uberschritten werden. Hande und andere Korperteile sollten ferngehalten werden,

um Verletzungen zu vermeiden, wahrend die Last aufgenommen wird. Die Last sollte leicht ohne Schock angehoben und uberprift werden,

ob sie sicher ist und die beabsichtigte Position einnimmt. Das Hebe-Personal muss sich der Risiken von schwingenden und kippenden Lasten
bewusst sein. Lassen Sie niemals Personen oder Kdrperteile unter einer hangenden Last. Es sollte nicht erlaubt sein, dass Personen sich auf der
Last befinden, wahrend sie angehoben wird. Der Ablageort sollte gut vorbereitet sein. Es sollte sichergestellt werden, dass der Boden oder die
Bodenflache ausreichend stark ist, um die Last zu tragen. Es sollte auch sichergestellt werden, dass ein ausreichender Zugang zum Ablageort
vorhanden ist und das er frei von unndétigen Hindernissen und Personen ist. Die Last sollte vorsichtig abgesetzt werden, wobei darauf zu achten
ist, dass Korperteile nicht in Mitleidenschaft gezogen werden. Stellen Sie die Stabilitat der Last sicher, bevor Sie die Hebeausristung entfernen.

Schwerpunkt

Um ein Schwingen oder Drehen der Last zu vermeiden, ist es wichtig, die Anschlagpunkte symmetrisch tiber dem Schwerpunkt der Last zu
positionieren:

- Bei einem 1-Punkt-Heben sollte der Anschlagpunkt vertikal iber dem Schwerpunkt angeordnet sein.

- Bei einem 2-Punkte-Heben sollten die Anschlagpunkte auf jeder Seite und liber dem Schwerpunkt angeordnet sein.

- Bei einem 3- und 4-Punkte-Heben sollten die Anschlagpunkte symmetrisch in einer Ebene um und iber dem Schwerpunkt angeordnet sein. Es
ist vorzuziehen, dass die Verteilung gleichmaRig ist und dass die Anschlagpunkte tiber dem Schwerpunkt liegen.

1. Schwerpunkt
2. hohe Spannung in diesem Schenkel
3. Belastung P

Lastsymmetrie

Die Arbeitslastgrenzen (WLL) fir die verschiedenen Konfigurationen wurden unter der Annahme bestimmt, dass die Belastung symmetrisch
ist. Dies bedeutet, dass wenn die Last angehoben wird, die Anschlagpunkte symmetrisch in einer Ebene angeordnet sind — also gleiche Winkel
haben.

Im Falle von 2-, 3- und 4-Strang-Kettengehangen, wenn die Strange unterschiedliche Winkel zur Vertikalen einschlielen, wird die groRte
Spannung im Strang mit dem kleinsten Winkel zur Vertikalen sein. Im Extremfall, wenn ein Strang vertikal ist, wird er die gesamte Last tragen.
Die Belastung kann als symmetrisch angesehen werden, wenn alle folgenden Bedingungen erfillt sind und die Last weniger als 80% der
gekennzeichneten WLL betragt:

a) Die Winkel der Kettengehangen -Strange zur Vertikalen sind alle nicht weniger als 15°; und

b) Die Winkel der Kettengehangen -Strange zur Vertikalen sind alle innerhalb von 15° zueinander; und

c) im Falle von drei- und vierstrangigen Kettengehangen sind die Ebenenwinkel innerhalb von 15° zueinander.

Wenn nicht alle oben genannten Parameter erflllt sind, sollte die Belastung als asymmetrisch betrachtet werden, und der Hebevorgang sollte an
eine kompetente Person verwiesen werden, um die sichere Bewertung festzustellen. Alternativ sollte im Falle einer asymmetrischen Belastung
das Kettengehange mit der Halfte der gekennzeichneten WLL bewertet werden.

Symmetrie der Belastung

40



POWERTEX

% 0-150°

41



POWERTEX

Lagerung von Anschlagpunkten

Wenn Anschlagpunkte nicht benutzt werden, sollten sie ordentlich aufbewahrt werden ( z.B Gestell 0.4.) . Sie sollten nicht auf dem Boden
liegen gelassen werden, wo sie beschadigt werden kdnnten. Wenn voraussichtlich die Produkte fiir einige Zeit nicht benutzt werden, sollten sie
gereinigt, getrocknet und vor Korrosion geschutzt werden, z.B. leicht gedlt.

Inspektion und Wartung

Tégliche Inspektion

Wahrend des Einsatzes sind die Anschlagpunkte Bedingungen ausgesetzt, die ihre Sicherheit beeinflussen kdnnen. Daher ist es notwendig,
taglich zu tUberprifen und sicherzustellen, dass die Anschlagpunkte fiir die weitere Verwendung sicher sind. Der Anschlagpunkt sollte aus dem
Dienst genommen und einer kompetenten Person zur grindlichen Untersuchung tubergeben werden, wenn einer der folgenden Punkte vor jedem
Gebrauch festgestellt wird:

- Uberpriifen Sie, ob alle Kennzeichnungen lesbar sind.

- Uberpriifen Sie auf Mangel wie Verschleil, Verformung, Schnitte, Kerben, Rillen, Risse, Korrosion oder andere sichtbare Defekte, die die
Sicherheit beeintrachtigen kdnnten.

- Uberpriifen Sie, ob man das Kugellager-Drehgelenk leicht drehen kann und nicht zu viel Spiel hat.

- Stellen Sie sicher, dass die WLL des Anschlagpunktes flr die zu hebende Last ausreichend ist.

- Stellen Sie sicher, dass der Anschlagpunkt fest an die Struktur geschraubt ist und dass der Anschlagpunkt sich frei drehen und neigen kann,
ohne in den Nutzungswinkeln behindert zu werden.

Griindliche Untersuchung

Eine grundliche Untersuchung sollte von einer kompetenten Person in Abstanden von nicht mehr als zwélf Monaten durchgefiihrt werden. Dieses
Intervall sollte bei Bedarf aufgrund der Einsatzbedingungen kirzer sein. Aufzeichnungen Uber solche Untersuchungen sollten gefiihrt werden.
Die Produkte sollten griindlich gereinigt werden, um frei von Ol, Schmutz und Rost vor der Untersuchung zu sein. Jede Reinigungsmethode, die
das Grundmetall nicht beschéadigt, ist akzeptabel. Zu vermeidende Methoden sind solche, die Sauren verwenden, Uberhitzung, Metallentfernung
oder Metallbewegung, die Risse oder Oberflachendefekte verdecken kénnten.

Es sollte ausreichend Beleuchtung bereitgestellt werden, um Anzeichen von Verschlei3, Verformung oder dulReren Beschadigungen zu erkennen.
Komponenten, die abgenutzt, verformt, gerissen, sichtbar verzogen, schwer korrodiert sind oder Ablagerungen aufweisen, die nicht entfernt
werden kénnen, sollten entsorgt und ersetzt werden. Geringfligige Schaden wie Kerben und Rillen kénnen durch vorsichtiges Schleifen

oder Feilen entfernt werden. Die Oberflache sollte sanft in das angrenzende Material (ibergehen, ohne abrupte Querschnittsanderungen. Die
vollstdndige Entfernung des Schadens sollte die Dicke des Abschnitts an dieser Stelle nicht auf weniger als die vom Hersteller angegebenen
MindestmalRe oder um mehr als 10% der nominellen Dicke des Abschnitts reduzieren. Uberpriifen Sie den Zustand des Gewindebolzens.
Uberpriifen Sie, ob man das Kugellager-Drehgelenk leicht drehen kann und nicht zu viel Spiel hat. Reparatur: Verwenden Sie nur Original-
Ersatzteile.

Ende der Nutzung / Entsorgung
Die Anschlagpunkte sollen als allgemeiner Stahlschrott sortiert/entsorgt werden.

Haftungsausschluss

Wir behalten uns das Recht vor, Produktentwurf, Materialien, Spezifikationen oder Anweisungen ohne vorherige Ankiindigung und ohne
Verpflichtung gegeniiber Dritten zu andern.

Wenn das Produkt in irgendeiner Weise modifiziert wird oder wenn es mit einem nicht kompatiblen Produkt/Komponente kombiniert wird,
Ubernehmen wir keine Verantwortung fiir die Folgen bezlglich der Sicherheit des Produkts.

EG-Konformitatserklarung

SCM Citra OY Asessorinkatu 3-7

20780 Kaarina, Finnland www.powertex-products.com

erklart hiermit, dass das oben beschriebene Powertex-Produkt in Ubereinstimmung mit der EG-Maschinenrichtlinie 2006/42/EG ist.

42



POWERTEX

Kennzeichnung U K

Die POWERTEX Anschlagpunkte LPD sind mit CE und UKCA
gekennzeichnet ' n

[=]

Bedienungsanleitungen

Sie kdnnen immer die gliltigen und aktualisierten Bedienungsanleitungen im
Web finden.
Das Handbuch wird kontinuierlich aktualisiert und ist nur in der neuesten

Version gliltig.

iR

NB! Die englische Version ist die Originalanleitung.

Das Handbuch ist unter folgendem Link zum Download verfligbar:
www.powertex-products.com/manuals

Produktkonformitiat und Konformitat

SCM Citra OY
Asessorinkatu 3-7
[ 20780 Kaarina
e '1 Finnland
www.powertex-products.com

43



POWERTEX

POWERTEX Hijsoog met gedecentreerde schakel LPD
Gebruiksaanwijzing (NL)

Data and afmetingen POWERTEX LPD - Standaard

180° pivot

—t—SW ——

360°rotated

-

DIMENSIONS & TORQUE

Model Thread M E A B C D F G N L S SW Torque
mm mm mm mm mm mm mm mm mm mm mm mm Nm
LPD-M8 M8 x 1.25-6g 11 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10 M10 x 1.5-6g 16 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12 M12 x 1.75-6g 18 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16 M16 x 2.0-6g 24 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20 M20 x 2.5-6g 30 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24 M24 x 3.0-6g 36 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30 M30 x 3.5-6g 48 60 65 82 22 170 99 59 66 17 46 500
LPD-M36 M36 x 4.0-6g 62 77 85 104 27 226.5 123 69 95,5 22 55 800
LPD-M42 M42 x 4.5-6g 63 95 104 117 36 2575 158 98 104,5 22 65 1500
LPD-M48 M48 x 5.0-6g 72 95 104 120 36 2575 158 98 101,5 27 75 2000

Belastingsdiagram LPD
Werktemperatuur -40° tot +200°C zonder vermindering van de WLL.

-

Load angle 90 0-45 45-60 0-45 45-60 Asymmetric
Load factor 1 1 2 2 1.4 1 21 1.5 1
Model Working Load Limit WLL (t)

LPD-M8 0.3 0.3 0.6 0.6 0.42 0.3 0.63 0.45 0.3
LPD-M10 0.63 0.63 1.26 1.26 0.88 0.63 1.32 0.95 0.63
LPD-M12 1 1 2 2 1.4 1 21 1.5 1
LPD-M16 1.5 1.5 3 3 21 1.5 3.1 22 1.5
LPD-M20 25 25 5 5 3.5 25 5.2 3.7 25
LPD-M24 4 4 8 8 5.6 4 8.4 6 4
LPD-M30 5 5 10 10 7 5 10.5 75

LPD-M36 8 8 16 16 11.2 8 16.8 12 8
LPD-M42 15 15 30 30 21 15 31.5 22.5 15
LPD-M48 20 20 40 40 28 20 42 30 20

44



POWERTEX

Data and afmetingen POWERTEX LPD - Lange bout met moer

180° pivot

360°rotated

DIMENSIONS & TORQUE

Model Thread M E A B C D F G N L S SW Torque
mm mm mm mm mm mm mm mm mm mm mm mm Nm
LPD-M8LB M8 x 1.25-6g 64 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10LB M10 x 1.5-6g 80 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12LB M12 x 1.75-6g 104 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16LB M16 x 2.0-6g 128 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20LB M20 x 2.5-6g 160 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24LB M24 x 3.0-6g 192 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30LB M30 x 3.5-6g 240 60 65 82 22 170 99 59 66 17 46 500
LPD-M36LB M36 x 4.0-6g 288 77 85 104 27 226.5 123 69 95,5 22 55 800
LPD-M42LB M42 x 4.5-6g 336 95 104 117 36 2575 158 98 104,5 22 65 1500
LPD-M48LB M48 x 5.0-6g 384 95 104 120 36 2575 158 98 101,5 27 75 2000

45



POWERTEX

WAARSCHUWING

Het werken met hijsmiddelen en -uitrusting moet gepland, georganiseerd en uitgevoerd worden om gevaarlijke situaties te voorkomen.
Overeenkomstig de nationale wettelijke voorschriften mogen hijsmiddelen en -uitrusting alleen gebruikt worden door iemand die goed bekend
is met het werk en theoretische en praktische kennis heeft van veilig gebruik. Voordat de uitrusting gebruikt wordt, moet de gebruiksaanwijzing
gelezen worden. Deze bevat belangrijke informatie over hoe de uitrusting op een veilige en correcte manier zal werken. Het niet volgen van
de voorschriften van deze instructie kan ernstige gevolgen hebben zoals het risico op letsel. Naast de gebruiksaanwijzing verwijzen we naar
bestaande nationale voorschriften die deze instructies kunnen overschrijden.

Algemene beschrijving

POWERTEX LPD hijspunten zijn bedoeld om te worden gebruikt als hijsapparatuur die rechtstreeks op de last wordt gemonteerd om deze te
hijsen of om te worden gebruikt als onderdeel van een hijssamenstel zoals een hijsbalk, hijsband enz. LPD is niet ontworpen om te draaien onder
belasting, voor dergelijke toepassingen raden we een hijspunt met kogellager aan zoals LPB. POWERTEX LPD hijspunten voldoen aan alle
relevante eisen van de Machinerichtlijn 2006/42/EG en de laatste wijzigingen.

Gebruik in ongunstige omgevingen

Effect van temperatuur op de werklastlimiet (WLL): Er moet rekening gehouden worden met de temperatuur die tijdens het gebruik bereikt

kan worden. POWERTEX LPD hijsogen kunnen gebruikt worden bij temperaturen tussen -40°C en +200°C zonder vermindering van de
werklastlimieten.

Zure omstandigheden: Componenten voor zwaar hijsen mogen niet worden gebruikt, noch ondergedompeld in zure oplossingen, noch
blootgesteld aan zure dampen. Om dezelfde reden mogen ze niet thermisch verzinkt of blootgesteld worden aan elektrolytische afwerking zonder
toestemming van de fabrikant.

Chemische effecten: Raadpleeg uw distributeur in geval de producten blootgesteld worden aan chemicalién, met name in combinatie met hoge
temperaturen.

Gevaarlijke omstandigheden: In bijzonder gevaarlijke omstandigheden, waaronder offshore activiteiten, het hijsen van personen en het hijsen
van potentieel gevaarlijke lasten zoals gesmolten metalen, corrosieve materialen of splijtbare materialen, moet de mate van gevaar beoordeeld
worden door een bevoegd persoon en de werklastlimiet dienovereenkomstig aangepast.

Gebruikstemperatuurbereik

-40 tot +200°C zonder vermindering van de WLL

+200 tot +300°C toegestaan met 10% vermindering van de WLL
+300 tot +400°C toegestaan met 25% vermindering van de WLL

Markering

POWERTEX LPD hijsogen zijn over het algemeen gemarkeerd met:
- Werklastlimiet (WLL) bijv. WLL 0,3t

- Symbool van de fabrikant bijv. POWERTEX of PX.

- Modelnaam — Grootte bijv. LPD-M8

- Traceerbaarheidscode bijv. F2 (duidt op een specifieke partij).

- Conformiteitsmerken CE + UKCA

- Boutklasse 10.9

Materiaal en afwerking
POWERTEX LPD hijsogen zijn gesmeed uit hoogwaardig gelegeerd staal en onderdelen zijn elektrostatisch poedergelakt. Bouten zijn
gedacrotiseerd om beter bestand te zijn tegen corrosie. Bouten zijn na productie gecontroleerd op haarscheuren middels scheurdetectie.

Selectie

Selecteer het type hijsoog, de schroefdraadmaat en de werklastlimiet die geschikt zijn voor de specifieke toepassing. Als extreme
omstandigheden, trillingen of schokbelastingen kunnen optreden, moet hiermee rekening gehouden worden bij het selecteren van het juiste
hijsoog. Voor doorlopende montage met moer kan een langere bout nodig zijn die als reserveonderdeel kan worden besteld bij uw distributeur.
Gebruik alleen originele bouten die speciaal voor dit product zijn gemaakt.

Voor het eerste gebruik
Zorg ervoor dat de geleverde hijsogen overeenkomen met de bestelling en dat het certificaat en de Verklaring van Overeenstemming beschikbaar
zijn. Houd een register bij van alle hijsuitrusting en zorg ervoor dat deze regelmatig gecontroleerd worden op geschiktheid voor gebruik.

Montage en gebruik

Als aan een van deze controlepunten niet wordt voldaan, mag het hijsoog niet gebruikt worden:

- Controleer of alle markeringen leesbaar zijn.

- Controleer op gebreken zoals slijtage, vervorming, sneden, inkepingen, scheuren, corrosie of andere zichtbare gebreken die de veiligheid
kunnen beinvioeden.

Zorg ervoor dat de WLL van het hijsoog voldoende is voor de te hijsen last, zie WLL-diagram. Het hijsoog moet stevig aan de constructie of last
worden geschroefd met een momentsleutel. Als er risico op trillingen en dergelijke bestaat, moet overwogen worden om Loctite of andere middel-
en te gebruiken om te borgen. Zorg na montage dat het hijsoog vrij kan draaien en kantelen zonder enige belemmering in de bedoelde gebruik-
shoeken. Getapte gaten moeten diep genoeg zijn om de onderkant van het hijsoog door het contactoppervlak te ondersteunen. Het getapte gat
moet loodrecht op het contactopperviak worden gemaakt en het contactopperviak moet viak en gedimensioneerd zijn om het hijsoog te kunnen
accommoderen.

Aanbevolen minimale schroefdraadlengtes van verschillende materialen in verhouding tot de metrische schroefdraaddiameter:
- 1 x M voor staal

- 1,25 x M voor gietijzer

- 2 x M voor aluminiumlegeringen

- 2,5 x M voor aluminium-magnesiumlegeringen

Wanneer gemonteerd, positioneer de schakel zo dat deze direct aan de hijsmachine of aan tussenliggende hijsuitrusting kan worden verbonden
om de hijsoperatie uit te voeren.

46



POWERTEX

Veiligheid bij hijsen

De werklastlimiet (WLL) van de hijsuitrusting mag nooit worden overschreden. Handen en andere lichaamsdelen moeten uit de buurt worden
gehouden om letsel te voorkomen als de speling wordt opgenomen. De last moet licht worden opgetild zonder schokken en er moet worden
gecontroleerd of deze veilig is en de bedoelde positie aanneemt. Hefpersoneel moet zich bewust zijn van de risico’s van zwaaiende en
kantelende lasten. Laat nooit personen of lichaamsdelen onder een hangende last toe. Sta niet toe dat personen op de last rijden terwijl deze
wordt gehesen. De landingsplaats moet goed voorbereid zijn. Er moet worden gezorgd dat de grond of vloer voldoende sterk is om de last te
dragen. Er moet ook worden gezorgd voor voldoende toegang tot de landingsplaats en dat deze vrij is van onnodige obstakels en mensen. De
last moet zorgvuldig worden neergelaten, waarbij ervoor wordt gezorgd dat lichaamsdelen vrij blijven. Zorg voor de stabiliteit van de last bij het
neerzetten voordat de hijsgereedschappen worden verwijderd.

Zwaartepunt

Om zwaaien of rotatie van de last te voorkomen, is het belangrijk om de hijsogen symmetrisch boven het zwaartepunt van de last te positioneren:
- Voor een 1-puntshijs moet het bevestigingspunt verticaal boven het zwaartepunt worden geplaatst.

- Voor een 2-puntshijs moeten de bevestigingspunten aan elke kant van en boven het zwaartepunt worden geplaatst.

- Voor een 3- en 4-puntshijs moeten de bevestigingspunten symmetrisch in een vlak rond en boven het zwaartepunt worden geplaatst. Het is
wenselijk dat de verdeling gelijk is en dat de bevestigingspunten boven het zwaartepunt liggen.

1. zwaartepunt
2. hoge spanning in dit been
3. belasting P

Lastsymmetrie

De werklastlimieten (WLL) voor de verschillende configuraties zijn bepaald op basis van het feit dat de belasting symmetrisch is. Dit betekent dat
wanneer de last wordt gehesen, de hijsogen symmetrisch in een vlak zijn geplaatst en dezelfde hoeken ten opzichte van het verticale viak maken.
In het geval van 2-, 3- en 4-benige kettingslings, als de poten verschillende hoeken ten opzichte van het verticale vlak maken, zal de grootste
spanning in de poot met de kleinste hoek tot het verticale viak zijn. In het extreme geval, als één poot verticaal is, zal deze de gehele last dragen.
De belasting kan als symmetrisch worden beschouwd als aan alle volgende voorwaarden is voldaan en de last minder is dan 80% van de
gemarkeerde WLL:

a) de hoeken van de kettingslingpoten ten opzichte van het verticale vlak zijn allemaal niet minder dan 15°; en

b) de hoeken van de kettingslingpoten ten opzichte van het verticale vlak liggen allemaal binnen 15° van elkaar; en

c) in het geval van drie- en vierbenige kettingslings, liggen de planhoeken binnen 15° van elkaar.

Als niet aan alle bovenstaande parameters is voldaan, moet de belasting als asymmetrisch worden beschouwd en moet de hijsbeweging worden
verwezen naar een bevoegd persoon om de veilige beoordeling vast te stellen. Als alternatief, in het geval van asymmetrische belasting, moet de
kettingsling worden beoordeeld op de helft van de gemarkeerde WLL.

Symmetrie van de belasting

47



POWERTEX
Toegestaan gebruik / Verboden gebruik

Z

/ \ ! o ! o ! o
§
_Pg 1‘{ % 7 7

48




POWERTEX

Opslag van hijsogen

Wanneer hijsogen niet in gebruik zijn, moeten ze normaal gesproken op een speciaal ontworpen rek worden bewaard. Ze mogen niet op de grond
worden achtergelaten waar ze beschadigd kunnen raken. Als het waarschijnlijk is dat de producten enige tijd niet gebruikt zullen worden, moeten
ze worden gereinigd, gedroogd en beschermd tegen corrosie, bijvoorbeeld licht geolied.

Inspectie en onderhoud

Dagelijkse inspectie

Tijdens het gebruik worden de hijsogen blootgesteld aan omstandigheden die hun veiligheid kunnen beinvioeden. Daarom is het noodzakelijk
om dagelijks te controleren en te zorgen dat de hijsogen veilig zijn voor voortgezet gebruik. Het hijsoog moet uit de dienst worden genomen en
worden verwezen naar een bevoegd persoon voor een grondige inspectie als een van de volgende zaken wordt waargenomen voor elk gebruik:
- Controleer of alle markeringen leesbaar zijn.

- Controleer op gebreken zoals slijtage, vervorming, sneden, inkepingen, deuken, scheuren, corrosie of andere zichtbare gebreken die de
veiligheid kunnen beinvioeden.

- Controleer of het kogellager zwenkpunt gemakkelijk kan draaien en niet te veel speling heeft.

- Zorg ervoor dat de WLL van het hijsoog voldoende is voor de te hijsen last.

- Zorg ervoor dat het hijsoog stevig aan de constructie is geschroefd en dat het hijsoog vrij kan draaien en kantelen zonder enige obstructie in de
gebruikshoeken.

Grondige inspectie

Een grondige inspectie moet worden uitgevoerd door een bevoegd persoon met intervallen van niet meer dan twaalf maanden. Dit interval moet
korter zijn indien nodig geacht in het licht van de gebruiksomstandigheden. Van dergelijke inspecties moeten records worden bijgehouden.

De producten moeten grondig worden gereinigd om vrij te zijn van olie, vuil en roest voorafgaand aan de inspectie. Elke reinigingsmethode die
het basismetaal niet beschadigt, is acceptabel. Te vermijden methoden zijn die met zuren, oververhitting, metaalverwijdering of metaalbeweging
die scheuren of oppervlaktedefecten kunnen bedekken.

Er moet voldoende verlichting worden voorzien om eventuele tekenen van slijtage, vervorming of externe schade op te sporen.

Onderdelen die versleten, vervormd, gebarsten, zichtbaar vervormd, ernstig gecorrodeerd zijn of afzettingen hebben die niet kunnen worden
verwijderd, moeten worden weggegooid en vervangen. Kleine schade zoals inkepingen en groeven kunnen worden verwijderd door voorzichtig te
slijpen of te vijlen. Het oppervlak moet soepel overgaan in het aangrenzende materiaal zonder abrupte verandering van doorsnede. De volledige
verwijdering van de schade mag de dikte van de sectie op dat punt niet verminderen tot minder dan de door de fabrikant gespecificeerde
minimale afmetingen of met meer dan 10% van de nominale dikte van de sectie. Controleer de staat van de schroefdraadbout. Controleer of het
kogellager zwenkpunt gemakkelijk kan draaien en niet te veel speling heeft.

Reparatie: Gebruik alleen originele reserveonderdelen.

Einde gebruik / Afvoer
De hijsogen moeten worden gesorteerd / afgevoerd als algemeen staalschroot.

Disclaimer

Wij behouden ons het recht voor om het ontwerp, de materialen, specificaties of instructies van het product zonder voorafgaande kennisgeving en
zonder verplichting jegens anderen te wijzigen.

Als het product op enige wijze wordt gewijzigd, of als het wordt gecombineerd met een niet-compatibel product/onderdeel, nemen wij geen
verantwoordelijkheid voor de gevolgen met betrekking tot de veiligheid van het product..

EG-verklaring van overeenstemming

SCM Citra OY

Asessorinkatu 3-7

20780 Kaarina, Finland

www.powertex-products.com

verklaart hierbij dat het boven beschreven POWERTEX-product in overeenstemming is met de EG-machinerichtlijn 2006.

49



POWERTEX
Marking

De POWERTEX hijsogen LPD zijn gemarkeerd met CE en UKCA.

UK
CA

Gebruikershandleidingen

U kunt altijd de geldige en bijgewerkte gebruikershandleidingen op het web
vinden. De handleiding wordt continu bijgewerkt en is alleen geldig in de
nieuwste versie.

[=]

NB! De Engelse versie is de originele instructie.

De handleiding is beschikbaar als download via de volgende link:
www.powertex-products.com/manuals

iR

Productconformiteit en -overeenstemming

SCM Citra OY
Asessorinkatu 3-7
[ 20780 Kaarina

e '1 Finland
www.powertex-products.com

50



Anneau a tréteau a vis LPD
Instructions d’utilisation (FR)

Données et dimensions POWERTEX LPD - Standard

180° pivot

360° rotated

C_ >

——SW =

POWERTEX

DIMENSIONS & COUPLES DE SERRAGE

Modéle Filetage M E A B C D F G N L S SW  Couple de
mm mm mm mm mm mm mm mm mm mm mm mm Se;lr;ge
LPD-M8 M8 x 1.25-6g 1" 34 S 42 14 98.5 57 31 42,5 6 13 30
LPD-M10 M10 x 1.5-6g 16 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12 M12 x 1.75-69 18 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16 M16 x 2.0-6g 24 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20 M20 x 2.5-6g 30 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24 M24 x 3.0-6g 36 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30 M30 x 3.5-6g 48 60 65 82 22 170 99 59 66 17 46 500
LPD-M36 M36 x 4.0-6g 62 77 85 104 27 2265 123 69 95,5 22 55 800
LPD-M42 M42 x 4.5-6g 63 85 104 17 36 2575 158 98 104,5 22 65 1500
LPD-M48 M48 x 5.0-6g 72 95 104 120 36 2575 158 98 101,5 27 75 2000

Tableau de charge LPD
Température de travail de -40° a +200°C sans réduction de la CMU.

Chargement e . : 3

@B & A A
Angle de 0 20 0 20 0-45 45-60 0-45 45-60  Asymétrique
charge
Facteur
d’utilisation 1 1 2 2 1.4 1 241 1.5 1
Modéle Charge Maximale d’Utilisation CMU (t)
LPD-M8 0.3 0.3 0.6 0.6 0.42 0.3 0.63 0.45 0.3
LPD-M10 0.63 0.63 1.26 1.26 0.88 0.63 1.32 0.95 0.63
LPD-M12 1 1 2 2 14 1 2.1 15 1
LPD-M16 1.5 1.5 3 3] 2.1 1.5 3.1 2.2 1.5
LPD-M20 2.5 2.5 5 5 3.5 2.5 5.2 3.7 2.5
LPD-M24 4 4 8 8 5.6 4 8.4 6 4
LPD-M30 5 5 10 10 7 5 10.5 7.5 5
LPD-M36 8 8 16 16 11.2 8 16.8 12 8
LPD-M42 15 15 30 30 21 15 31.5 225 15
LPD-M48 20 20 40 40 28 20 42 30 20

51



POWERTEX

Données et dimensions POWERTEX LPD - Long boulon avec écrou

360°rotated

1807 pivot

DIMENSIONS & COUPLES DE SERRAGE

Modéle Filetage M E A B C D F G N L S SW  Couple de
mm mm mm mm mm mm mm mm mm mm mm mm Serflrr:ge
LPD-M8LB M8 x 1.25-6g 64 34 S 42 14 98.5 57 31 42,5 6 13 30
LPD-M10LB M10 x 1.5-6g 80 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12LB M12 x 1.75-69 104 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16LB M16 x 2.0-6g 128 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20LB M20 x 2.5-6g 160 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24LB M24 x 3.0-6g 192 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30LB M30 x 3.5-6g 240 60 65 82 22 170 99 59 66 17 46 500
LPD-M36LB M36 x 4.0-6g 288 77 85 104 27 2265 123 69 95,5 22 55 800
LPD-M42LB M42 x 4.5-6g 336 85 104 17 36 2575 158 98 104,5 22 65 1500
LPD-M48LB M48 x 5.0-6g 384 95 104 120 36 2575 158 98 101,5 27 75 2000

52



POWERTEX

AVERTISSEMENT

Le travail avec des dispositifs et équipements de levage doit étre planifié, organisé et exécuté afin de prévenir les situations dangereuses.
Conformément aux réglementations Iégales nationales, les dispositifs et équipements de levage ne doivent étre utilisés que par des personnes
bien familiarisées avec le travail et possédant des connaissances théoriques et pratiques sur I'utilisation sécuritaire. Avant I'utilisation de
I'équipement, le manuel d’instructions doit étre lu. Il contient des informations importantes sur la maniére dont I'équipement fonctionnera de
maniére slre et correcte. Le non-respect des prescriptions de cette instruction peut entrainer de graves conséquences telles que des risques de
blessures. Outre le manuel d’instructions, nous nous référons aux réglementations nationales existantes qui peuvent prévaloir sur ces instructions

Description générale

Les anneaux de levage POWERTEX LPD sont destinés a étre utilisés comme équipement de levage a monter directement sur la charge afin de
la soulever ou a étre utilisés comme éléments d’'un ensemble de levage tel qu'une poutre de levage, une élingue de levage, etc. Le LPD n’est
pas congu pour tourner sous charge, pour de telles applications nous recommandons un anneau de levage avec roulement a billes comme

le LPB. Les anneaux de levage POWERTEX LPD répondent a toutes les exigences de la directive Machines 2006/42/CE et de ses derniers
amendements.

Utilisation dans des environnements défavorables

Effet de la température sur la Charge Maximale d’Utilisation : Il faut tenir compte de la température qui peut étre atteinte en service. Les anneaux
de levage POWERTEX LPD peuvent étre utilisés dans des températures entre -40°C et +200°C sans réduction des Charges Maximales
d’Utilisation.

Conditions acides : Les composants de levage a haute résistance ne doivent pas étre utilisés immergés dans des solutions acides ou exposés a
des fumées acides. Pour la méme raison, ils ne doivent pas étre galvanisés a chaud ou exposés a une finition électrolytique sans I'autorisation du
fabricant.

Effets chimiques : Consultez votre distributeur si les produits doivent étre exposés a des produits chimiques, surtout combinés a des
températures élevées.

Conditions dangereuses : Dans des conditions particulierement dangereuses, y compris les activités offshore, le levage d’'une personne et le
levage de charges potentiellement dangereuses telles que des métaux en fusion, des matériaux corrosifs ou des matériaux fissiles, le degré de
danger doit étre évalué par une personne compétente et la Charge Maximale d’Utilisation ajustée en conséquence.

Plage de température d’utilisation

-40 jusqu’a +200°C sans réduction de la CMU

+200 jusqu’a +300°C autorisé avec une réduction de 10% de la CMU
+300 jusqu’a +400°C autorisé avec une réduction de 25% de la CMU

Marquage

Les anneaux de levage POWERTEX LPD sont généralement marqués avec:
- Charge Maximale d’Utilisation (CMU) par ex. CMU 0,3t

- Symbole du fabricant par ex. POWERTEX ou PX

- Nom du modéle — Taille par ex. LPD-M8

- Code de tracabilité par ex. F2 (indiquant un lot particulier).

- Marquages de conformité CE + UKCA

- Grade du boulon 10.9

Matériel et finition

Les anneaux de levage POWERTEX LPD sont forgés en acier allié de haute résistance et les piéces sont peintes par poudrage électrostatique.
Les boulons sont dacrotisés pour mieux résister a la corrosion. Les boulons sont testés en usine pour détecter les fissures. D’autres piéces
porteuses sont soumises a des tests de détection de fissures ou de charge d’épreuve.

Sélection

Sélectionnez le type d’anneau de levage, la taille du filetage et la Charge Maximale d’Utilisation adaptée a I'application particuliere. Si des
circonstances extrémes, des vibrations ou des chocs au chargement peuvent survenir, cela doit étre bien pris en compte lors de la sélection du
bon anneau de levage. L'assemblage d’un trou traversant avec un écrou peut nécessiter un boulon plus long qui peut étre commandé comme
piece de rechange auprés de votre distributeur. N'utilisez que des boulons d’origine spécialement congus pour ce produit.

Avant la premiére utilisation
Assurez-vous que les anneaux de levage livrés correspondent a la commande et qu’un certificat et une Déclaration de Conformité soient
disponibles. Tenez un registre de tout I'équipement de levage et assurez-vous qu’ils sont régulierement vérifiés pour étre aptes a l'usage.

Assemblage et utilisation

Si I'un de ces points de contréle n’est pas respecté, 'anneau ne doit pas étre utilisé:

- Vérifiez que tous les marquages soient lisibles.

- Vérifiez qu’il n’y ait pas de défauts tels que l'usure, la déformation, les coupures, les entailles, les éraflures, les fissures, la corrosion ou d’autres
défauts visibles qui pourraient affecter la sécurité.

Assurez-vous que la CMU de I'anneau de levage est suffisante pour la charge a soulever, voir le tableau de la CMU. L'anneau de levage doit étre
vissé fermement a la structure ou a la charge a I'aide d’une clé dynamomeétrique et selon le couple de serrage indiqué dans le tableau ci-avant.
Si le risque de vibrations, etc., on devrait envisager I'utilisation de Loctite ou d’autres moyens de sécurisation. Assurez-vous aprés le montage
que I'anneau peut pivoter et tourner librement sans aucune obstruction dans les angles d’utilisation prévus. Les trous taraudés doivent étre assez
profonds pour permettre au bas de I'anneau d’étre soutenu par la surface de contact. Le trou fileté doit étre fait perpendiculairement a la surface
de contact et la surface de contact doit étre plane et dimensionnée pour accueillir 'anneau.

Longueurs minimales de filetage recommandées pour différents matériaux en relation avec le diamétre du filetage métrique:
- 1 x M pour I'acier

- 1,25 x M pour la fonte

- 2 x M pour les alliages d’aluminium

- 2,5 x M pour les alliages d’aluminium-magnésium

Lorsqu’il est monté, positionnez le et serrez le selon le couple de serrage indiqué dans le tableau ci-avant.

53



POWERTEX

Sécurité lors du levage

La Charge Maximale d’Utilisation de I'équipement de levage ne doit jamais étre dépassée. Les mains et les autres parties du corps doivent étre
tenues a I'écart pour éviter les blessures lorsque le mou est repris. La charge doit étre soulevée Iégérement sans a-coup et une vérification doit
étre effectuée pour s’assurer qu’elle est sécurisée et qu’elle prend la position prévue. Le personnel de levage doit étre conscient des risques de
balancement et de basculement des charges. Ne jamais permettre a des personnes ou a des parties du corps de se trouver sous une charge
suspendue. Ne pas permettre aux personnes de monter sur la charge pendant qu’elle est soulevée. Le site d’atterrissage doit étre bien préparé. Il
faut s’assurer que le sol ou le plancher a une résistance adéquate pour supporter la charge. Il faut également s’assurer qu’il y a un accés adéquat
au site d’atterrissage et qu’il est dégagé de tout obstacle inutile et de personnes. La charge doit étre posée avec soin en veillant a ce que les
parties du corps soient écartées. Assurez la stabilité de la charge une fois posée avant de retirer 'équipement de levage.

Centre de gravité

Pour éviter le balancement ou la rotation de la charge, il est important de positionner les anneaux de levage symétriquement au-dessus du centre
de gravité de la charge:

- Pour un levage a 1 point, le point d’attache doit étre disposé verticalement au-dessus du centre de gravité.

- Pour un levage a 2 points, les points d’attache doivent étre disposés de chaque c6té et au-dessus du centre de gravité.

- Pour un levage a 3 et 4 points, les points d’attache doivent étre disposés symétriquement dans un plan autour et au-dessus du centre de
gravité. Il est préférable que la distribution soit égale et que les points d’attache soient au-dessus du centre de gravité.

1. centre de gravité
2. tension élevée dans ce brin
3. charge P

Symétrie de la charge

Les Charges Maximales d’Utilisation (CMU) pour les différentes configurations ont été déterminées sur la base d’'une charge symétrique. Cela
signifie que lorsque la charge est soulevée, les anneaux sont disposés symétriquement dans un plan et forment les mémes angles avec la
verticale.

Dans le cas des élingues a chaine a 2, 3 et 4 brins, si les brins forment des angles différents avec la verticale, la plus grande tension sera dans le
brin ayant I'angle le plus petit avec la verticale. Dans le cas extréme, si un brin est vertical, il portera la totalité de la charge.

La charge peut étre considérée comme symétrique si toutes les conditions suivantes sont satisfaites et que la charge est inférieure a 80 % la
CMU marquée:

a) Les angles des brins de I'élingue a chaine par rapport a la verticale sont tous d’au moins 15° ; et

b) Les angles des brins de I'élingue a chaine par rapport a la verticale sont tous a 15° I'un de l'autre ; et

c) Dans le cas des élingues a chaine a 3 et 4 brins, les angles dans le plan sont a 15° 'un de I'autre.

Si tous les parametres ci-dessus ne sont pas satisfaits, alors la charge doit étre considérée comme asymeétrique, et le levage doit étre référé a
une personne compétente pour établir I'évaluation pour la sécurité. Alternativement, en cas de charge asymétrique, I'élingue chaine doit étre
évaluée a la moitié de la CMU marquée.

Symétrie de chargement

54



POWERTEX

Utilisation autorisée / Utilisation interdite

% 0-150°

55



POWERTEX

Stockage des anneaux de levage

Lorsqu’ils ne sont pas utilisés, les anneaux de levage doivent normalement étre conservés sur un support congu a cet effet. lls ne doivent pas
étre laissés a terre ou ils pourraient étre endommagés. Si les produits risquent de ne pas étre utilisés pendant un certain temps, ils doivent étre
nettoyés, séchés et protégés contre la corrosion, par exemple Iégérement huilés.

Inspection et maintenance

Inspection quotidienne

En service, les anneaux sont soumis a des conditions pouvant affecter leur sécurité. Il est donc nécessaire de vérifier quotidiennement et de
s’assurer que les anneaux levage sont sdrs pour une utilisation continue. L'anneau de levage doit étre retiré du service et soumis a un examen
approfondi par une personne compétente si I'un des points suivants est observé avant chaque utilisation:

- Vérifier que tous les marques soient lisibles.

- Vérifier 'absence de défauts tels que l'usure, la déformation, les coupures, les éraflures, les entailles, les fissures, la corrosion ou d’autres
défauts visibles pouvant affecter la sécurité.

- S’assurer que la Charge Maximale d’Utilisation (CMU) de 'anneau de levage est suffisante pour la charge a soulever.

- S’assurer que I'anneau de levage est solidement vissé a la structure et que 'anneau de levage peut tourner et pivoter librement sans aucune
obstruction dans les angles d’utilisation.

Examen approfondi

Un examen approfondi doit étre effectué par une personne compétente a des intervalles n’excédant pas douze mois. Cet intervalle devrait étre
réduit si nécessaire a la lumiére des conditions de service. Les dossiers de ces examens doivent étre conservés.

Les produits doivent étre nettoyés a fond pour étre exempts d’huile, de saleté et de rouille avant 'examen. Toute méthode de nettoyage qui
n’endommage pas la matiere premiére est acceptable. Les méthodes a éviter sont celles utilisant des acides, la surchauffe, 'enlévement de métal
ou le mouvement de métal qui peut couvrir des fissures ou des défauts de surface.

Un éclairage adéquat doit étre fourni pour détecter tout signe d’usure, de distorsion ou de dommage externe.

Les composants usés, déformés, fissurés, visiblement distordus, fortement corrodés ou ayant des dépots qui ne peuvent pas étre enlevés
doivent étre jetés et remplacés. Les dommages mineurs tels que les éraflures et les entailles peuvent étre éliminés par un meulage ou un limage
soigneux. La surface doit se fondre doucement dans le matériau adjacent sans changement brusque de section. La suppression compléte du
dommage ne doit pas réduire I'épaisseur de la section a ce point a moins que les dimensions minimales spécifiées par le fabricant ou de plus de
10% de I'épaisseur nominale de la section. Vérifier I'état du boulon fileté.

Réparation : Utiliser uniquement des piéces de rechange d’origine.

Fin d’utilisation / Mise au rebut
Les anneaux de levage doivent étre triés / mis au rebut comme déchets d’acier général.

Avertissement

Nous nous réservons le droit de modifier la conception du produit, les matériaux, les spécifications ou les instructions sans préavis et sans
obligation envers les tiers.

Si le produit est modifié de quelque maniére que ce soit, ou s’il est combiné avec un produit/composant non compatible, nous déclinons toute
responsabilité quant aux conséquences concernant la sécurité du produit.

Déclaration de conformité CE

SCM Citra OY

Asessorinkatu 3-7

20780 Kaarina, Finlande

www.powertex-products.com

déclare par la présente que le produit POWERTEX décrit ci-dessus est conforme a la Directive Machines EC 2006/42/CE.

56



POWERTEX

Marquage U K

Les anneaux de levage articulé POWERTEX LPD sont marqués CE et UKCA. C n

Manuels d’utilisateur

Vous pouvez toujours trouver les manuels d'utilisateur valides et mis a jour
sur le web.

Le manuel est continuellement mis a jour et n’est valide que dans sa derniere
version.

OFC AR

NB! La version anglaise est I'instruction originale.

Le manuel est disponible en téléchargement sous le lien suivant:
www.powertex-products.com/manuals

Conformité du produit

SCM Citra OY
Asessorinkatu 3-7
[ 20780 Kaarina
e '1 Finlande
www.powertex-products.com

57



POWERTEX

Punto de izaje POWERTEX con con eslabén descentrado LPD

Instrucciones de uso (ES)

Datos y dimensiones POWERTEX LPD - Estandar

1807 pivot

360°rotated

-

——SW =

DIMENSIONES Y TORQUE

Modelo Rosca M E A B Cc D F G N L S SwW Torque
mm mm mm mm mm mm mm mm mm mm mm mm Nm

LPD-M8 M8 x 1.25-6g 11 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10 M10 x 1.5-6g 16 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12 M12 x 1.75-6g 18 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16 M16 x 2.0-6g 24 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20 M20 x 2.5-6g 30 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24 M24 x 3.0-6g 36 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30 M30 x 3.5-6g 48 60 65 82 22 170 99 59 66 17 46 500
LPD-M36 M36 x 4.0-6g 62 77 85 104 27 226.5 123 69 95,5 22 55 800
LPD-M42 M42 x 4.5-6g 63 95 104 117 36 2575 158 98 104,5 22 65 1500
LPD-M48 M48 x 5.0-6g 72 95 104 120 36 2575 158 98 101,5 27 75 2000

Diagrama de carga LPD

Temperatura de trabajo de -40° hasta +200°C sin reduccion de la WLL.

Carga e = - '_?.-i n_ié”l N |

Angulo de 0 90 0 90 0-45 45-60 0-45 4560  Asimétrico

carga

Factor de 1 1 2 2 14 1 2.1 15 1

carga

Modelo Limite de Carga de Trabajo WLL ()

LPD-M8 0.3 0.3 0.6 0.6 0.42 0.3 0.63 0.45 0.3

LPD-M10 0.63 0.63 1.26 1.26 0.88 0.63 1.32 0.95 0.63

LPD-M12 1 1 2 2 14 1 2.1 1.5 1

LPD-M16 1.5 1.5 3 & 2.1 1.5 3.1 2.2 1.5

LPD-M20 2.5 2.5 5 5 3.5 2.5 52 3.7 2.5

LPD-M24 4 4 8 8 5.6 4 8.4 6 4

LPD-M30 5 5 10 10 7 5 10.5 7.5 5

LPD-M36 8 8 16 16 11.2 8 16.8 12 8

LPD-M42 15 15 30 30 21 15 315 22.5 15

LPD-M48 20 20 40 40 28 20 42 30 20

58



POWERTEX

Datos y dimensiones POWERTEX LPD - Perno largo con tuerca

180° pivot

360°rotated

DIMENSIONES Y TORQUE

Modelo Rosca M E A B C D F G N L S Sw Torque
mm mm mm mm mm mm mm mm mm mm mm mm Nm
LPD-M8LB M8 x 1.25-6g 64 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10LB M10 x 1.5-6g 80 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12LB M12 x 1.75-6g 104 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16LB M16 x 2.0-6g 128 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20LB M20 x 2.5-6g 160 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24LB M24 x 3.0-6g 192 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30LB M30 x 3.5-6g 240 60 65 82 22 170 99 59 66 17 46 500
LPD-M36LB M36 x 4.0-6g 288 77 85 104 27 2265 123 69 95,5 22 55 800
LPD-M42LB M42 x 4.5-6g 336 95 104 17 36 2575 158 98 104,5 22 65 1500
LPD-M48LB M48 x 5.0-6g 384 95 104 120 36 2575 158 98 101,5 27 75 2000

59



POWERTEX

ADVERTENCIA

El trabajo con dispositivos y equipos de elevacion debe ser planificado, organizado y ejecutado para prevenir situaciones peligrosas. De
acuerdo con las regulaciones estatutarias nacionales, los dispositivos y equipos de elevacion solo deben ser utilizados por alguien que esté bien
familiarizado con el trabajo y que tenga conocimientos tedricos y practicos sobre el uso seguro. Antes de usar el equipo, se debe leer el manual
de instrucciones. Contiene informacion importante sobre como el equipo funcionara de manera segura y correcta. No seguir las regulaciones

de esta instruccion puede causar consecuencias graves como el riesgo de lesiones. Aparte del manual de instrucciones, nos referimos a las
regulaciones nacionales existentes que pueden superar estas instrucciones.

Descripcién general

Los puntos de elevacion POWERTEX LPD estan disefiados para utilizarse como equipo de elevaciéon que se monta directamente en la carga
para elevarla o como parte de un conjunto de elevacion, como una viga de elevacién, una eslinga de elevacion, etc. LPD no esta disefiado para
girar bajo carga, para tales aplicaciones recomendamos un punto de elevacién con rodamiento de bolas como LPB. Los puntos de elevacion
POWERTEX LPD cumplen todos los requisitos pertinentes de la Directiva sobre maquinas 2006/42/CE y sus ultimas modificaciones.

Uso en ambientes adversos

Efecto de la temperatura en el limite de carga de trabajo (WLL): Se debe tener en cuenta la temperatura que se puede alcanzar en servicio. Los
puntos de elevacion POWERTEX LPD se pueden utilizar en temperaturas entre -40°C y +200°C sin reduccién de los limites de carga de trabajo.
Condiciones acidas: Los componentes de elevacion de alta resistencia no deben usarse sumergidos en soluciones acidas o expuestos a vapores
acidos. Por la misma razén, no deben ser galvanizados en caliente o expuestos a acabados electroliticos sin permiso del fabricante.

Efectos quimicos: Consulte con su distribuidor en caso de que los productos vayan a ser expuestos a quimicos, especialmente combinados con
altas temperaturas.

Condiciones peligrosas: En condiciones particularmente peligrosas, incluyendo actividades en alta mar, elevacion de personas y elevacion de
cargas potencialmente peligrosas como metales fundidos, materiales corrosivos o materiales fisibles, el grado de peligro debe ser evaluado por
una persona competente y el limite de carga de trabajo ajustado en consecuencia.

Rango de temperatura de uso

-40 hasta +200°C sin reduccion en WLL

+200 hasta +300°C permitido con una reduccion del 10% en WLL
+300 hasta +400°C permitido con una reduccion del 25% en WLL

Marcado

Los puntos de elevacion POWERTEX LPD estan generalmente marcados con:
- Limite de Carga de Trabajo (WLL) por ej. WLL 0,3t

- Simbolo del fabricante por ej. POWERTEX o PX

- Nombre del modelo — Tamafio por ej. LPD-M8

- Cadigo de trazabilidad por ej. F2 (indicando un lote particular)

- Marcas de conformidad CE + UKCA

- Grado del tornillo 10.9

Material y acabado

Los puntos de elevacion POWERTEX LPD estan forjados de acero aleado de alta resistencia y las partes estan pintadas con polvo electrostatico.
Los pernos estan dacrotizados para resistir mejor la corrosion. Los pernos se someten a pruebas de deteccion de grietas en fabrica. Otras piezas
que soportan cargas se someten a pruebas de deteccion de grietas o de carga de prueba.

Seleccion

Seleccione el tipo de punto de elevacién, tamafio de rosca y limite de carga de trabajo adecuado para la aplicacion especifica. Si pueden ocurrir
circunstancias extremas, vibraciones o cargas de choque, esto debe tenerse en cuenta al seleccionar el punto de elevacién correcto. El montaje
de orificios pasantes con tuerca puede requerir un perno mas largo que se puede pedir como pieza de recambio a su distribuidor. Utilice s6lo
tornillos originales fabricados especialmente para este producto.

Antes del primer uso
Asegurese de que los puntos de elevacion entregados correspondan al pedido y que el certificado y la Declaracion de Conformidad estén
disponibles. Mantenga un registro de todo el equipo de elevacion y asegurese de que sean revisados regularmente para estar aptos para el uso.

Montaje y uso

Si alguno de estos puntos de control no se cumple, el punto de elevacién no debe ser utilizado:
- Verifique que todas las marcas sean legibles.

- Comprue.

Asegurese de que la WLL del punto de elevacién sea suficiente para la carga que se va a levantar, consulte la tabla de WLL. El punto de
elevacion debe atornillarse firmemente a la estructura o carga utilizando una llave de torque. Si existe riesgo de vibraciones, etc., se debe
considerar el uso de Loctite u otros medios de aseguramiento. Asegurese, después de montar, que el punto de elevacién pueda girar y pivotar
libremente sin obstrucciones en los angulos de uso previstos. Los agujeros roscados deben ser lo suficientemente profundos para permitir que la
parte inferior del punto de elevacién sea soportada por la superficie de contacto. El agujero roscado debe hacerse perpendicular a la superficie
de contacto y esta debe ser plana y estar dimensionada para acomodar el punto de elevacion.

Longitudes minimas de rosca recomendadas para diferentes materiales en relacion con el diametro de la rosca métrica:
- 1 x M para acero

- 1,25 x M para hierro fundido

- 2 x M para aleaciones de aluminio

- 2,5 x M para aleaciones de aluminio-magnesio

Cuando esté montado, posicione el enlace de manera que se pueda conectar directamente a la maquina de elevacion o a un equipo de
elevacion intermedio para realizar la operacion de elevacion.

60



POWERTEX

Seguridad al levantar

Nunca se debe exceder el limite de carga de trabajo del equipo de elevacion. Las manos y otras partes del cuerpo deben mantenerse alejadas
para evitar lesiones a medida que se recoge la holgura. La carga debe levantarse ligeramente sin golpes y verificar que esté segura y asuma la
posicién prevista. El personal de elevacion debe ser consciente de los riesgos de oscilacion e inclinacion de las cargas. Nunca permita que las
personas o partes del cuerpo estén debajo de una carga colgante. No permita que las personas monten en la carga mientras se esta levantando.
El lugar de aterrizaje debe estar bien preparado. Se debe asegurar que el suelo o el piso tenga la resistencia adecuada para soportar la carga.
También se debe asegurar que haya un acceso adecuado al sitio de aterrizaje y que esté libre de cualquier obstaculo y personas innecesarias.
La carga debe aterrizar cuidadosamente asegurando que las partes del cuerpo estén despejadas. Asegure la estabilidad de la carga al aterrizar
antes de quitar el equipo de elevacion.

Centro de gravedad

Para evitar la oscilacion o rotacion de la carga, es importante posicionar los puntos de elevacion simétricamente sobre el centro de gravedad de
la carga:

- Para un levantamiento de 1 punto, el punto de anclaje debe organizarse verticalmente sobre el centro de gravedad.

- Para un levantamiento de 2 puntos, los puntos de anclaje deben organizarse a cada lado y sobre el centro de gravedad.

- Para un levantamiento de 3 y 4 puntos, los puntos de anclaje deben organizarse simétricamente en un plano alrededor y sobre el centro de
gravedad. Es preferible que la distribucion sea igual y que los puntos de anclaje estén sobre el centro de gravedad.

1. centro de gravedad
2. alta tension en este tramo
3.cargaP

Simetria de carga

Los limites de carga de trabajo (WLL) para las diferentes configuraciones se han determinado sobre la base de que la carga es simétrica. Esto
significa que cuando se levanta la carga, los puntos de elevacién se disponen simétricamente en un plano y subtenden los mismos angulos con
la vertical.

En el caso de eslingas de cadena de 2, 3 y 4 patas, si las patas subtenden diferentes angulos con la vertical, la mayor tensién estara en la pata
con el angulo mas pequeiio a la vertical. En el caso extremo, si una pata es vertical, llevara toda la carga.

La carga se puede asumir como simétrica si se cumplen todas las siguientes condiciones y la carga es menos del 80% del WLL marcado:

a) los angulos de las patas de la eslinga de cadena con respecto a la vertical son todos no menos de 15°;y

b) los angulos de las patas de la eslinga de cadena con respecto a la vertical estan todos dentro de 15° entre si; y

c) en el caso de eslingas de cadena de tres y cuatro patas, los angulos en el plano estan dentro de 15° entre si.

Si no se cumplen todos los parametros anteriores, entonces la carga debe considerarse asimétrica, y la elevacion debe referirse a una persona
competente para establecer la calificacion segura. Alternativamente, en el caso de carga asimétrica, la eslinga de cadena debe clasificarse a la
mitad del WLL marcado.

Simetria de carga

61



62

Z.

7 % 7




POWERTEX

Almacenamiento de puntos de elevacion

Cuando no estén en uso, los puntos de elevacién deben guardarse normalmente en un estante disefiado adecuadamente. No deben dejarse
tirados en el suelo donde podrian dafarse. Si es probable que los productos no se utilicen durante algun tiempo, deben limpiarse, secarse y
protegerse contra la corrosion, por ejemplo, ligeramente engrasados.

Inspeccién y mantenimiento

Inspeccién diaria

Durante el servicio, los puntos de elevacién estan sujetos a condiciones que pueden afectar su seguridad. Por lo tanto, es necesario verificar
diariamente y asegurarse de que los puntos de elevacion sean seguros para su uso continuado. El punto de elevacion debe retirarse del servicio
y remitirse a una persona competente para un examen minucioso si se observa cualquiera de lo siguiente antes de cada uso:

- Verificar que todas las marcas sean legibles.

- Verificar que no haya defectos como desgaste, deformacion, cortes, muescas, golpes, grietas, corrosién u otros defectos visibles que puedan
afectar la seguridad.

- Verificar que el pivote de rodamiento de bolas pueda girar facilmente y no tenga juego excesivo.

- Asegurarse de que la WLL del punto de elevacién sea suficiente para la carga que se va a levantar.

- Asegurarse de que el punto de elevacion esté atornillado firmemente a la estructura y que el punto de elevacién pueda girar y pivotar libremente
sin ninguna obstruccion en los angulos de uso.

Examen minucioso

Una persona competente debe realizar un examen minucioso a intervalos que no excedan los doce meses. Este intervalo deberia ser menor si
se considera necesario a la luz de las condiciones de servicio. Se deben mantener registros de dichos examenes.

Los productos deben limpiarse a fondo para estar libres de aceite, suciedad y 6xido antes del examen. Cualquier método de limpieza que no
dafie el metal base es aceptable. Los métodos a evitar son aquellos que utilizan acidos, sobrecalentamiento, extraccion de metal o movimiento
de metal que pueda cubrir grietas o defectos superficiales.

Se debe proporcionar una iluminacién adecuada para detectar cualquier signo de desgaste, distorsion o dafio externo.

Los componentes que estén desgastados, deformados, agrietados, visiblemente distorsionados, severamente corroidos o tengan depdsitos
que no puedan eliminarse deben descartarse y reemplazarse. Dafios menores como muescas y raspaduras pueden eliminarse mediante un
cuidadoso esmerilado o limado. La superficie debe mezclarse suavemente con el material adyacente sin un cambio abrupto de seccién. La
eliminacion completa del dafio no debe reducir el grosor de la seccidn en ese punto a menos que las dimensiones minimas especificadas por el
fabricante o mas del 10% del grosor nominal de la seccion. Verificar el estado del perno roscado. Verificar que el pivote de rodamiento de bolas
pueda girar facilmente y no tenga juego excesivo.

Reparacion: Usar solo repuestos originales.

Fin de uso / Eliminacion
Los puntos de elevacion deben clasificarse / desecharse como chatarra de acero general.

Descargo de responsabilidad

Nos reservamos el derecho de modificar el disefio del producto, los materiales, las especificaciones o las instrucciones sin previo aviso y sin
obligacién hacia terceros.

Si el producto se modifica de alguna manera, o si se combina con un producto/componente no compatible, no asumimos ninguna
responsabilidad por las consecuencias con respecto a la seguridad del producto.

Declaracion de conformidad de la CE

SCM Citra OY

Asessorinkatu 3-7

20780 Kaarina, Finlandia

www.powertex-products.com

por la presente declara que el producto POWERTEX descrito anteriormente cumple con la Directiva de Maquinas de la CE 2006/42/EC.

63



POWERTEX

Marcado U K

Los puntos de elevacion POWERTEX LPD estan marcados con CE y UKCA. C n

Manuales de Usuario

Siempre puede encontrar los Manuales de Usuario validos y actualizados en
la web.
El manual se actualiza continuamente y es valido solo en la ultima version.

OrC AR

NB! La version en inglés es la instruccion original.

El manual esta disponible para descargar en el siguiente enlace:
www.powertex-products.com/manuals

Cumplimiento y conformidad del producto

SCM Citra OY
Asessorinkatu 3-7
[ 20780 Kaarina
e '1 Finlandia
www.powertex-products.com

64



POWERTEX

POWERTEX Pacelsanas punkts ar decentralizétu saiti LPD
LietoSanas instrukcija (LV)

Dati un izméri POWERTEX LPD - Standartas

180° pivot

—t—SW ——

360°rotated

-

DIMENSIONS & TORQUE

Model Thread M E A B C D F G N L S SW Torque
mm mm mm mm mm mm mm mm mm mm mm mm Nm
LPD-M8 M8 x 1.25-69 1 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10 M10 x 1.5-69 16 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12 M12 x 1.75-6g 18 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16 M16 x 2.0-6g 24 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20 M20 x 2.5-69 30 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24 M24 x 3.0-6g 36 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30 M30 x 3.5-69 48 60 65 82 22 170 99 59 66 17 46 500
LPD-M36 M36 x 4.0-69 62 77 85 104 27 226.5 123 69 95,5 22 55 800
LPD-M42 M42 x 4.5-6g 63 95 104 117 36 257.5 158 98 104,5 22 65 1500
LPD-M48 M48 x 5.0-69 72 95 104 120 36 2575 158 98 101,5 27 75 2000

Slodzes diagramma LPD
Darba temperatira -40° lldz +200°C bez WLL samazinajuma.

Loading Ftlj — ﬁm t/_wl”-' é @j £‘

Load angle 9 90 0-45 45-60 0-45 45-60 Asymmetric
Load factor 1 1 2 2 1.4 1 2.1 1.5 1
Model Working Load Limit WLL (t)

LPD-M8 0.3 0.3 0.6 0.6 0.42 0.3 0.63 0.45 0.3
LPD-M10 0.63 0.63 1.26 1.26 0.88 0.63 1.32 0.95 0.63
LPD-M12 1 1 2 2 1.4 1 21 1.5 1
LPD-M16 1.5 1.5 3 3 21 1.5 3.1 22 1.5
LPD-M20 25 25 5 5 3.5 25 5.2 3.7 25
LPD-M24 4 4 8 8 5.6 4 8.4 6 4
LPD-M30 5 5 10 10 7 5 10.5 75 5
LPD-M36 8 8 16 16 11.2 8 16.8 12 8
LPD-M42 15 15 30 30 21 15 31.5 225 15
LPD-M48 20 20 40 40 28 20 42 30 20

65



POWERTEX

Dati un izméri POWERTEX LPD - Gars skriavstienis ar uzgriezni

360° rotated

1807 pivot

DIMENSIONS & TORQUE

Model Thread M E A B C D F G N L S SW Torque
mm mm mm mm mm mm mm mm mm mm mm mm Nm
LPD-M8LB M8 x 1.25-69 64 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10LB M10 x 1.5-6g 80 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12LB M12 x 1.75-6g 104 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16LB M16 x 2.0-6g 128 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20LB M20 x 2.5-69 160 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24LB M24 x 3.0-6g 192 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30LB M30 x 3.5-6g 240 60 65 82 22 170 99 59 66 17 46 500
LPD-M36LB M36 x 4.0-69 288 77 85 104 27 226.5 123 69 95,5 22 55 800
LPD-M42LB M42 x 4.5-6g 336 95 104 117 36 257.5 158 98 104,5 22 65 1500
LPD-M48LB M48 x 5.0-69 384 95 104 120 36 2575 158 98 101,5 27 75 2000

66



POWERTEX

BRIDINAJUMS

Darbs ar celSanas iericém un iekartam japlano, jaorganizé un javeic ta, lai novérstu bistamas situacijas. Saskana ar valsts normativajiem aktiem
pacelSanas ierices un iekartas drikst lietot tikai persona, kas labi parzina So darbu un kurai ir teorétiskas un praktiskas zinaSanas par to droSu
lieto$anu. Pirms iekartas lietoanas jaizlasa lieto$anas instrukcija. Taja ir svariga informéacija par to, ka iekarta darbosies dro$i un pareizi. Sis
instrukcijas noteikumu neievéroSana var radit nopietnas sekas, pieméram, traumu risku. Papildus lietoSanas instrukcijai més atsaucamies uz
speka esoSajiem valsts noteikumiem, kas var aizstat So instrukciju.

Visparigs apraksts

POWERTEX LPD pacel$anas punkti ir paredzéti izmantoSanai ka pacelSanas aprikojums, ko uzstada tieSi pie kravas, lai to paceltu, vai art tos
izmanto ka dalu no pacelSanas mezgla, pieméram, pacelSanas sijas, pacelS8anas stropes utt. LPD nav paredzéts rotacijai zem slodzes, $adam
vajadzibam més iesakam izmantot pacelSanas punktu ar lodiSu gultni, pieméram, LPB. POWERTEX LPD pacelSanas punkti atbilst visam
attiecigajam Masinu direktivas 2006/42/EK un tas jaunako grozijumu prasibam.

LietoSana nelabvéligos apstaklos

Temperataras ietekme uz darba slodzes robezu (WLL): Janem véra temperatira, ko var sasniegt ekspluatacijas laika. POWERTEX LPD
pacel$anas punktus var izmantot temperatiira no -40°C Iidz +200°C, nesamazinot darba slodzes robezas.

Skabi apstakli: Augstas stipribas pacelSanas elementus nedrikst izmantot iegremdét skabos Skidumos vai paklaut skabes tvaiku iedarbibai. Ta
pasa iemesla dé| tos nedrikst karsti cinkot vai paklaut elektrolitiskai apstradei bez raZotaja atlaujas.

Kimiska ietekme: Ja izstradajumi tiks paklauti Kimisko vielu iedarbibai, jo Tpasi kombinacija ar augstu temperatiru, konsultgjieties ar izplatitaju.
Bistamie apstakli: Ipasi bistamos apstaklos, tostarp darbibas atklata jara, cilvéku celdana un potenciali bistamu kravu, pieméram, izkausétu
metalu, kodigu materialu vai skaldmaterialu celS8ana, kompetentai personai janoverté bistamibas pakape un attiecigi japielago darba slodzes
robeza.

LietoSanas temperatiiras diapazons

-40 I1dz +200°C bez WLL samazinajuma

+200 Iidz +300°C, pielaujot WLL samazinajumu par 10 %
+300 [1dz +400°C, pielaujot WLL samazinajumu par 25 %

Markéjums

POWERTEX LPD pacelSanas punktiem parasti ir marké&jums:
- WLL 0,3t

- razotaja simbols, pieméram, POWERTEX vai PX

- modela nosaukums - izmérs, pieméram, LPD-M8

- izsekojamibas kods, pieméram, F2 (norada konkrétu partiju)
- Atbilstibas zimes CE + UKCA

- Skraves klase 10.9

Materials un apdare

POWERTEX LPD pacel$anas punkti ir kalti no augstas stipribas legéta térauda, un to dalas ir krasotas ar elektrostatisko pulverkrasu. Skraves ir
dakrotizétas, lai labak izturétu koroziju. Skraves tiek parbauditas rlpnica, lai noteiktu plaisu rasanos. Citas slodzi neso$as dalas tiek parbauditas,
lai noteiktu plaisas vai parbauditu slodzi.

Izvéle

Izvélieties pacelSanas punkta tipu, vitnes izméru un darba slodzes robezu, kas piemérota konkrétajam pielietojumam. Ja var rasties ekstremali
apstakli, vibracijas vai trieciena slodze, tas ir janem véra, izveloties pareizo pacel$anas punktu. Caur caurumu montazai ar uzgriezni var bat
nepiecieSama garaka skrive, ko ka rezerves dalu var pasatt pie izplatitaja. Izmantojiet tikai originalas skriives, kas ir ipasi izgatavotas §im
produktam.

Pirms pirmas lietoSanas
Parliecinieties, ka piegadatie pacelSanas punkti atbilst pasatijumam un ka ir pieejams sertifikats un atbilstibas deklaracija. Veiciet visu pacelSanas
[Tdzek|u uzskaiti un parliecinieties, ka tie regulari tiek parbaudtti, lai batu pieméroti lietoSanai.

Montaza un lietoSana

Ja kads no Siem parbaudes punktiem nav izpildits, pacelSanas punktu nedrikst izmantot:

- Parbaudiet, vai visi mark&jumi ir salasami.

- Parbaudiet, vai nav defektu, pieméram, nodiluma, deformacijas, iegriezumu, iegriezumu, iegriezumu, mérijumu, plaisu, korozijas vai citu red-
zamu defektu, kas varétu ietekmét drosibu.

Parliecinieties, ka pacelSanas punkta WLL ir pietiekama paceltajai kravai, skatit WLL tabulu. PacelSanas punkts ir ciesi japieskravé pie
konstrukcijas vai kravas, izmantojot dinamometrisko atslégu. Ja pastav vibraciju risks u. c., jaapsver Loctite vai citi nostiprinaSanas lidzekli. Péc
montazas parliecinieties, ka pacel$anas punkts var brivi griezties un grozities bez Skérsliem paredzétajos lietoSanas lenkos. Caurumiem ar
vitném jabut pietiekami dziliem, lai pacelSanas punkta apakSdala varétu balstities uz kontaktvirsmas. Vitnotais caurums jaizgatavo perpendikulari
kontaktvirsmai, un kontaktvirsmai jabat Iidzenai un ar tadiem izmériem, lai taja varétu ievietot pacelSanas punktu.

Leteicamais minimalais dazadu materialu vitnu garums attieciba pret metriskas vitnes diametru::
- 1 x M téraudam

- 1,25 x M ¢ugunam

- 2 x M aluminija sakausé&jumiem

- 2,5 x M aluminija un magnija sakausé&jumiem

Péc montazas novietojiet saiti ta, lai to varétu savienot tieSi ar pacel$anas iekartu vai ar starpposma pacelSanas aprikojumu, lai veiktu pacelSanas
operaciju.

67



POWERTEX

Drosiba celSanas laika

Nekada gadijuma nedrikst parsniegt celSanas iekartas darba slodzes robezu. Rokas un citas kermena dalas jatur talak, lai novérstu traumas,
kad tiek pacelts atslabums. Kravu nedaudz paceliet bez triecieniem un parbaudiet, vai ta ir droSa un ienem paredzéto stavokli. PacelSanas
personalam jaapzinas risks, kas saistits ar Stpolu un slipumu radito kravu. Nekada gadijuma nedrikst pielaut, ka cilvéki vai kermena dalas
atrodas zem piekartas kravas. Nepielaujiet, ka cilvéki brauc uz kravas, kamér ta tiek pacelta. Izkrau$anas vietai jabat labi sagatavotai.
Janodrosina, lai grunts vai grida bdtu pietiekami izturiga, lai uznemtu kravu. JanodroS$ina ar, lai izkrauSanas vietai bltu piemérota piekluve un
lai taja nebatu nevajadzigu $kérslu un cilvéku. Krava jaizkrauj uzmanigi, nodros$inot, ka kermena dalas ir brivas. Pirms pacel$anas aprikojuma
nonemsanas parliecinieties par kravas stabilitati péc izkrausanas.

Smaguma centrs

Lai izvairitos no kravas SipoS$anas vai rotacijas, ir svarigi novietot pacelSanas punktus simetriski virs kravas smaguma centra::

- Vienpunktu pacel$anas gadijuma stiprindjuma punkts jaizvieto vertikali virs smaguma centra.

- Divpunktu pacel$anas gadijuma stiprindjuma punktiem jabuat izvietotiem abas smaguma centra pusés un virs smaguma centra.

- Tris un Cetru punktu pacélajam stiprindjuma punkti jaizvieto simetriski plakné ap smaguma centru un virs ta. Vélams, lai izvietojums batu
vienads un stiprindjuma punkti atrastos virs smaguma centra.

1. Smaguma centrs
2. liels spriegums $aja posma
3. slodze P

Slodzes simetrija
Darba slodzes robezas (WLL) dazadam konfiguracijam ir noteiktas, pamatojoties uz to, ka slodze ir simetriska. Tas nozimé, ka, pacelot kravu,

pacelSanas punkti ir simetriski izvietoti plakné un veido vienadus lenkus pret vertikali.

Divu, trfs un Cetru kaju kédes stropu gadijuma, ja kajas veido dazadus lenkus pret vertikali, vislielakais spriegojums bus kaja ar mazako lenki pret

vertikali. Ekstréemakaja gadijuma, ja viena kaja ir vertikala, ta nesis visu slodzi.

Slodzi var uzskatit par simetrisku, ja ir izpilditi visi turpmak minétie nosacijumi un slodze ir mazaka par 80 % no atzimétas WLL:
a) visi kédes slinga kaju lenki pret vertikali nav mazaki par 15°; un

b) visi kédes stropes kajas lenki pret vertikali ir 15° robezas viens no otra; un

c) tris un Cetru kaju kédes stropu gadijuma planveida lenki ir 15° robezas viens no otra.

Ja visi iepriek$ minétie parametri nav izpildtti, tad slodze jauzskata par asimetrisku un pacélajs janodod kompetentai personai, lai noteiktu droSu
novértéjumu. Alternativi, asimetriskas slodzes gadijuma kédes stropei jabat novértétai ar pusi no markétas WLL.

Slodzes simetrija

68



POWERTEX

% 0-150°

Z.

7 7 7%

69



POWERTEX

PacelSanas punktu glabasana
Kad pacelSanas ierices netiek izmantotas, tas parasti jaglaba uz pareizi konstruéta stativa. Tos nedrikst atstat uz zemes, kur tos var sabojat. Ja ir
paredzams, ka izstradajumi kadu laiku netiks izmantoti, tie janotira, jaizzavé un jaaizsarga pret koroziju, pieméram, viegli jaello.

Parbaude un apkope

Ikdienas parbaude

Ekspluatacijas laika pacel$anas punkti tiek paklauti apstakliem, kas var ietekmét to droSibu. Tapéc katru dienu ir japarbauda un janodrosina,

ka pacelSanas punkti ir drosi turpmakai lietoSanai. PacelSanas punkts jaizslédz no ekspluatacijas un janodod kompetentai personai ripigai
parbaudei, ja pirms katras lietoSanas reizes tiek novérots kads no turpmak minétajiem apstakliem:

- Parbaudiet, vai visi mark&jumi ir salasami.

- Parbaudiet, vai nav tadu defektu ka nodilums, deformacija, iegriezumi, iegriezumi, iegriezumi, mérijumi, plaisas, korozija vai citi redzami defekti,
kas varétu ietekmét drosibu.

- Parbaudiet, vai lodiSu gultnu Sarnirs var viegli griezties un vai tam nav parmérigas brivkustibas.

- Parliecinieties, vai pacelSanas punkta WLL ir pietiekama paceltajai kravai.

- Parliecinieties, vai pacelS8anas punkts ir cieSi pieskravéts pie konstrukcijas un vai pacel$anas punkts var brivi griezties un grozities bez Skérsliem
lietoSanas lenkos.

Ripiga parbaude

Kompetentai personai ne retak ka reizi divpadsmit méne$os javeic ripiga parbaude. Sim intervalam jabit Tsakam, ja to uzskata par
nepiecieSamu, nemot véra ekspluatacijas apstaklus. Par $adam parbaudém javeic uzskaite.

Pirms parbaudes izstradajumi batu rapigi janotira, lai tie batu brivi no ellas, netirumiem un risas. Ir pielaujama jebkura tiriSanas metode, kas
neboja pamatmetalu. Jaizvairas no metodém, kuras izmanto skabes, parkarSanas, metala nonems$anas vai metala parvietoSanas, kas var aizklat
plaisas vai virsmas defektus.

Janodrosina pietiekams apgaismojums, lai varétu konstatét nodiluma, deformacijas vai aréjo bojajumu pazimes.

Sastavdalas, kas ir nolietotas, deformétas, saplaisajusas, redzami deformétas, stipri korodéjusas vai ar nogulsném, kuras nevar nonemt, jaizmet
un janomaina. Nelielus bojajumus, pieméram, iegriezumus un iegriezumus, var noveérst, ripigi slipgjot vai slipéjot. Virsmai vienmérigi jasajaucas
ar blakus eso$o materialu, strauji nemainot Skérsgriezumu. Pilniga bojajumu novérSana nedrikst samazinat sekcijas biezumu $aja vieta l1dz
mazakam par razotaja noteiktajiem minimalajiem izmériem vai par vairak neka 10 % no sekcijas nominala biezuma. Parbaudiet vitnotas skruves
stavokli. Parbaudiet, vai lodiSu gultna Sarnirs var viegli griezties un vai tam nav parmériga brivkustiba.

Remonts: Izmantojiet tikai originalas rezerves dalas.

LietoSanas beigas / iznicinasana
PacelSanas punktus $kiro/ nodod metalliZnos ka visparejus térauda lGznus.

Atruna

Més paturam tiesibas mainit izstradajumu dizainu, materialus, specifikacijas vai instrukcijas bez iepriek$éja bridindjuma un bez saistibam pret
citiem.

Ja izstradajums tiek jebkada veida modificéts vai ja tas tiek kombinéts ar nesaderigu izstradajumu/komponentu, més neuznemamies atbildibu par
sekam, kas saistitas ar izstradajuma droSibu.

EK atbilstibas deklaracija

SCM Citra OY

Asessorinkatu 3-7

20780 Kaarina, Somija

www.powertex-products.com

ar So deklaré, ka iepriek$ aprakstitais POWERTEX produkts atbilst EK MaSinu direktivai 2006/42/EK.

70



POWERTEX

Markésana U K
POWERTEX pacelSanas punktiem LPD ir CE un UKCA marké&jums. C n

Lietotaja rokasgramatas

Derigas un atjauninatas lietotaja rokasgramatas vienmer ir pieejamas timekIi.
Rokasgramata tiek pastavigi atjauninata un ir deriga tikai jaunakaja versija.

OFC AR

NB! Anglu valodas versija ir originala instrukcija.

Rokasgramata ir pieejama lejupladé$anai péc Sadas saites:
www.powertex-products.com/manuals.

Produktu atbilstiba un atbilstiba

SCM Citra OY
Asessorinkatu 3-7
[ 20780 Kaarina

e '1 Somija
www.powertex-products.com

71



POWERTEX

POWERTEX keélimo taskas su decentralizuota jungtimi LPD

Naudojimo instrukcija (LT)

Data and dimensions POWERTEX LPD - Standard

180° pivot

—t—SW ——

360° rotated

C_ >

MATMENYS IR SUKIMO JEGA

Modelis Gijos M E A B C D F G N L S SW  Sumazinimo
mm mm mm mm mm mm mm mm mm mm mm mm Nm
LPD-M8 M8 x 1.25-6g 1 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10 M10 x 1.5-6g 16 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12 M12 x 1.75-6g 18 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16 M16 x 2.0-6g 24 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20 M20 x 2.5-6g 30 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24 M24 x 3.0-6g 36 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30 M30 x 3.5-6g 48 60 65 82 22 170 99 59 66 17 46 500
LPD-M36 M36 x 4.0-6g 62 77 85 104 27 2265 123 69 95,5 22 55 800
LPD-M42 M42 x 4.5-6g 63 95 104 117 36 2575 158 98 104,5 22 65 1500
LPD-M48 M48 x 5.0-6g 72 95 104 120 36 2575 158 98 101,5 27 75 2000

Apkrovos diagrama LPD
Darbo temperatira nuo -40°C iki +200°C be WLL sumazinimo.

S 0D & & &

ﬁ‘;n':rp‘;"s“ 0 90 0 90 0-45 45-60 0-45 4560  Asimetrinis
f;';’('t‘;‘r’l‘fj ‘;S 1 1 2 2 1.4 1 2.1 1.5 1
Modelis Darbo apkrovos limitas WLL (t)

LPD-M8 0.3 0.3 0.6 0.6 0.42 0.3 0.63 0.45 0.3
LPD-M10 0.63 0.63 1.26 1.26 0.88 0.63 1.32 0.95 0.63
LPD-M12 1 1 2 2 1.4 1 2.1 15 1
LPD-M16 15 15 3 3 2.1 15 3.1 2.2 15
LPD-M20 2.5 25 5 5 3.5 25 5.2 3.7 25
LPD-M24 4 4 8 8 5.6 4 8.4 6 4
LPD-M30 5 5 10 10 7 5 105 75 5
LPD-M36 8 8 16 16 1.2 8 16.8 12 8
LPD-M42 15 15 30 30 21 15 315 22.5 15
LPD-M48 20 20 40 40 28 20 42 30 20

72



POWERTEX

Data and dimensions POWERTEX LPD - ligas varztas su verzle

360°rotated

180° pivot

MATMENYS IR SUKIMO JEGA

Modelis Gijos M E A B C D F G N L S SW  Sumazinimo
mm mm mm mm mm mm mm mm mm mm mm mm Nm
LPD-M8LB M8 x 1.25-6g 64 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10LB M10 x 1.5-6g 80 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12LB M12 x 1.75-6g 104 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16LB M16 x 2.0-6g 128 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20LB M20 x 2.5-6g 160 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24LB M24 x 3.0-6g 192 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30LB M30 x 3.5-6g 240 60 65 82 22 170 99 59 66 17 46 500
LPD-M36LB M36 x 4.0-6g 288 77 85 104 27 2265 123 69 95,5 22 55 800
LPD-M42LB M42 x 4.5-6g 336 95 104 117 36 2575 158 98 104,5 22 65 1500
LPD-M48LB M48 x 5.0-6g 384 95 104 120 36 2575 158 98 101,5 27 75 2000

73



POWERTEX

SPEJIMAS

Darbas su kélimo jrenginiais ir jranga turi bati planuojamas, organizuojamas ir atliekamas taip, kad bty iSvengta pavojingy situacijy. Laikantis
nacionaliniy teisés akty, kélimo jrenginiai ir jranga gali bati naudojami tik asmenu, gerai iSmananciy darbg ir turinCiy teorines bei praktines
saugaus naudojimo Zzinias. PrieS naudojant jrangg, batina perskaityti naudojimo instrukcijg. Joje pateikiama svarbi informacija, kaip jranga veiks
saugiai ir teisingai. Nesilaikant Sios instrukcijos nurodymuy, gali kilti rimty pasekmiy, pvz., suzalojimo rizika. Be naudojimo instrukcijos, mes
remiamés esamais nacionaliniais teisés aktais, kurie gali pakeisti Sias instrukcijas.

Bendras aprasymas

POWERTEX LPD kélimo taskai skirti naudoti kaip kélimo jranga, kuri montuojama tiesiai prie krovinio, kad baty galima jj pakelti, arba kaip kélimo
mazgo, pvz., kélimo sijos, stropo ir pan., dalys. LPD néra skirtas suktis veikiant apkrovai, todél tokiais atvejais rekomenduojame naudoti kélimo
taskus su rutuliniais guoliais, pavyzdziui, LPB. POWERTEX LPD kélimo taskai atitinka visus atitinkamus Masiny direktyvos 2006/42/EB ir nau-
jausiy jos pakeitimy reikalavimus.

Naudojimas nepalankiose aplinkose

Temperataros poveikis darbinei apkrovos ribai (WLL): reikia atsizvelgti j paslaugos metu pasiekiamg temperatirg. POWERTEX LPD kélimo
taskus galima naudoti temperatirose nuo -40°C iki +200°C nemazinant darbinés apkrovos riby.

Ragstinés saglygos: Aukstos stiprybés kélimo komponentai neturéty bati naudojami panardinant j ragstinius tirpalus arba veikiant rags¢iy gary. Dél
tos pacios priezasties jie neturéty bati karsto cinkavimo arba elektrolitinio apdailos bidu be gamintojo leidimo.

Cheminiy medziagy poveikis: jei produktai bus veikiami cheminiy medziagy, ypa¢ derinant su aukStomis temperattromis, pasitarkite su savo
platintoju.

Pavojingos salygos: ypac pavojingomis salygomis, jskaitant jary veikla, Zzmogaus kélima ir potencialiai pavojingy kroviniy, tokiy kaip lydyti metalai,
korozinés medziagos ar skilimo medziagos, kélima, reikia jvertinti pavojy laipsnj ir atitinkamai koreguoti darbing apkrovos ribg.

Naudojimo temperatiiros diapazonas

-40 iki +200°C be WLL sumazinimo

+200 iki +300°C leidziama su 10% WLL sumazinimu
+300 iki +400°C leidziama su 25% WLL sumazinimu

Zyméjimas

Bendrasis POWERTEX LPD kélimo tasky Zyméjimas:
- Darbiné apkrovos riba (WLL), pvz., WLL 0,3t

- Gamintojo simbolis, pvz., POWERTEX arba PX

- Modelio pavadinimas — Dydis, pvz., LPD-M8

- Sekimo kodas, pvz., F2 (nurodantis konkrecig partijg)
- Atitikties zymés CE + UKCA

- Varzty klasé 10,9

Medziaga ir apdaila

POWERTEX LPD kélimo taskai yra kalti i$ aukstos stiprybés lydinio plieno, o dalys yra dazytos elektrostatiniu milteliu. Varztai yra dakrotizuoti,
kad geriau atlaikyty korozijg. Varztai gamykloje iSbandomi aptikti jtrikimus. Kitos apkrova laikancios dalys tikrinamos nustatant jtrikimus arba
tikrinant apkrova.

Pasirinkimas

Pasirinkite kélimo tasko tipa, sriegio dydj ir tinkama darbing apkrovos ribg konkreciai paskirCiai. Jei gali kilti ekstremalios sglygos, vibracija ar
smiiginé apkrova, tai turi bati tinkamai atsizvelgiama renkantis tinkama kélimo taskg. Montuojant per skyle su verzle gali prireikti ilgesnio varzto,
kurj kaip atsargine dalj galima uzsisakyti pas platintojg. Naudokite tik originalius varztus, kurie pagaminti specialiai Siam gaminiui.

Pries$ pirmajj naudojima
|sitikinkite, kad pristatyti kélimo taskai atitinka uzsakymg ir kad prieinami sertifikatas bei Atitikties deklaracija. Palaikykite viso kélimo jrangos
registro ir jsitikinkite, kad jie reguliariai tikrinami dél tinkamumo naudoti.

Surinkimas ir naudojimas

Jei nebus jvykdytas bet kuris i$ Siy patikros punkty, kélimo tasko naudoti negalima:

- Patikrinkite, ar visi zyméjimai yra skaitomi.

- Patikrinkite, ar néra defekty, tokiy kaip nusidévéjimas, deformacija, jpjovimai, jbrézimai, matavimai, jtrikimai, korozija ar kiti matomi defektai,
kurie galéty paveikti sauguma.

|sitikinkite, kad kélimo tasko WLL yra pakankamas keltinai nastai, zr. WLL lentele. Kélimo taskas turéty bati sandariai priverztas prie konstrukcijos
arba nastos naudojant momentinj raktg. Jei yra vibracijos rizika ir pan., reikéty apsvarstyti Loctite ar kitas tvirtinimo priemones. |sitikinkite, kad
sumontavus kélimo taskas gali laisvai suktis ir pasukti be jokiy kliG€iy numatytuose naudojimo kampuose. Pravertos skylés turi bati pakankamai
gilios, kad apacioje esantis kélimo taskas baty palaikomas kontakto pavirSiaus. Sriegiama skylé turi biti padaryta statmenai kontakto pavirsiui, o
kontakto pavirSius turi bati plokScias ir iSmatuotas taip, kad tilpty kélimo taskas.

Rekomenduojamos minimalios sriegio ilgiai skirtingoms medziagoms atsizvelgiant j metrinio sriegio skersmenj:
- 1 x M plienui

- 1,25 x M geleziai

- 2 x M aliuminio lydiniams

- 2,5 x M aliuminio-magnezio lydiniams

Kai sumontuota, nustatykite ry§j taip, kad jj baty galima tiesiogiai prijungti prie kélimo masinos arba tarpinés kélimo jrangos, kad baty atliekama
kélimo operacija.

74



POWERTEX

Saugumas keldami

Kélimo jrangos darbinis apkrovos limitas niekada neturéty bdti virSijamas. Rankos ir kiino dalys turéty bati laikomos toli, kad baty iSvengta
suzalojimy, kai pasalinama laisvé. Krovinys turety bati kiek pakeltas be smagiy ir patikrintas, ar jis yra saugus ir uzima ketinama padétj. Kélimo
personalas turi bati informuotas apie svyravimo ir pasvirimo apkrovy rizikg. Niekuomet neleiskite Zzmonéms ar kino dalims bati po pakabinta
nasta. Neleiskite Zmonéms vaziuoti ant krovinio, kai jis keliamas. Nusileidimo vieta turéty bati gerai paruosta. Turéty bati uztikrinta, kad zeme ar
grindys blty pakankamai stiprios, kad galéty palaikyti krovinj. Taip pat turéty bati uztikrinta, kad prie nusileidimo vietos baty lengvai prieinama ir
kad ji baty laisva nuo bet kokiy nereikalingy klia€iy ir Zmoniy. Krovinys turéty bati nuleistas atsargiai, uztikrinant, kad kano dalys blty saugios.
Uztikrinkite krovinio stabilumg nusileidus prie$ pasalinant kélimo jranga.

Masés centras

Norint iSvengti krovinio svyravimo ar sukimosi, svarbu simetriSkai iSdéstyti kélimo taskus vir$ krovinio masés centro:

- Vieno tasko kélime pritvirtinimo taskas turéty bati iSdéstytas vertikaliai virS masés centro.

- Dviejy tasky kélime pritvirtinimo taskai turéty bati iSdéstyti abiejose masés centro pusése ir virs jo.

- Trijy ir keturiy tasky kélime pritvirtinimo taskai turéty bati simetriSkai iSdéstyti plok§tumoje aplink ir vir§ masés centro. Pageidautina, kad
pasiskirstymas baty vienodas ir kad pritvirtinimo taskai baty vir§ masés centro.

1. Svorio centras
2. didelis jtempimas Sioje kojoje
3. apkrova P

Krovinio simetrija

Jvairiy konfigdracijy darbiniai apkrovos limitai (WLL) nustatyti remiantis simetrijos principu. Tai reiSkia, kad keldami krovinj, kélimo taskai yra
simetriSkai iSdéstyti plokStumoje ir sudaro tokius pacius kampus su vertikale.

Jeigu grandininiy dirzy su 2, 3 ar 4 kojomis kojos sudaro skirtingus kampus su vertikale, didZiausia jtampa bus kojoje su maziausiu kampu iki
vertikalés. Ekstremaliu atveju, jei viena koja yra vertikali, ji ne$ visg krovinj.

Galima manyti, kad krovinys yra simetriSkas, jei tenkinamos visos Sios salygos ir krovinys yra mazesnis nei 80% pazyméto WLL:

a) visy grandininiy dirzy kojy kampai vertikaliai néra mazesni nei 15°; ir

b) visy grandininiy dirzy kojy kampai vertikaliai yra ne didesni nei 15° tarpusavyje; ir

c) trijy ir keturiy kojy grandininiy dirzy atveju plany kampai yra ne didesni nei 15° tarpusavyje.

Jei néra tenkinamos jokia i$ auks¢iau nurodyty salygy, tada apkrovos laikoma asimetrine, ir kélimg reikia perduoti kompetentingam asmeniui,
kuris nustatys saugaus jvertinimo lygj. Alternatyviai, asimetriskoje apkrovoje grandininis dirzas turéty buti jvertintas pusiau mazesniu nei
pazymétas WLL.

Apkrovos simetrija

75



POWERTEX

aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaa

Z.

7 7 7%

76



POWERTEX

Kélimo tasky laikymas

Kai kélimo taskai nenaudojami, juos paprastai reikia laikyti ant tinkamai suprojektuoto lentynos. Juos negalima palikti guléti ant zemeés, kur jie gali
bati pazeisti. Jei tikétina, kad produktai ilgg laikg nebus naudojami, juos reikia iSvalyti, iSdziovinti ir apsaugoti nuo korozijos, pvz., lengvai patepti
alyva.

Tikrinimas ir priezitira

Kasdienis tikrinimas

Paslaugos metu kélimo taskai yra veikiami sglygy, kurios gali paveikti jy sauguma. Todél batina kasdien tikrinti ir uztikrinti, kad kélimo taskai baty
saugds tolimesniam naudojimui. Kélimo taskas turéty bdti pasalintas i$ eksploatacijos ir perduotas kompetentingam asmeniui, jei pries$ kiekvieng
naudojimg pastebima bet kuri i$ Siy problemuy:

- Patikrinkite, ar visi Zzyméjimai yra aiskas.

- Patikrinkite, ar néra defekty, tokiy kaip dévejimasis, deformacija, jtrikimai, jbrézimai, jtrikimai, jtrdkimai, korozija ar kiti matomi defektai, kurie
galéty paveikti sauguma.

- Patikrinkite, ar rutulinis guolis lengvai gali pasukti ir neturi per didelio laisvo judéjimo.

- Uztikrinkite, kad kélimo tasko naSumas baty pakankamas pakelti apkrova.

- Uztikrinkite, kad kélimo taskas bdty tvirtai pritvirtintas prie konstrukcijos ir kad kélimo tasSkas galéty laisvai pasukti ir pasvirkti be jokiy kliG¢iy
naudojimo kampuose.

ISsamus tyrimas

I8samus tyrimas turéty bati atliekamas kompetentingo asmens per ne ilgesnj kaip dvylikos ménesiy intervala. Sis intervalas turéty bati mazesnis,
jei tai laikoma bdtinu atsizvelgiant j paslaugos salygas. Tokiy tyrimy jrasai turi bati tvarkomi.

Prie$ tyrimg produktai turi bati kruopsciai iSvalyti, kad nebuty alyvos, purvo ir ridziy. Priimtinas bet koks valymo metodas, kuris nesugadina
pagrindinio metalo. Metodai, kuriy reikia vengti, yra tie, kurie naudoja ragstis, perkaitimas, metalo pasalinimas ar metalo judéjimas, kuris gali
uzdengti jtrikimus ar pavirSiaus defektus.

Reikia uztikrinti pakankama apsSvietima, kad baty galima aptikti bet kokius dévéjimosi, iSkraipymo ar iSorés pazeidimy pozymius.

Daliy, kurios yra dévimos, iSkraipytos, jtrikusios, matomai iSkraipytos, stipriai pazeistos korozijos ar turi daleliy, kurias nejmanoma pasalinti,
reikia iSmesti ir pakeisti. Smulkds pazeidimai, tokie kaip jtrakimai ir jbrézimai, gali bati pasalinti kruop$€iu Slifavimu ar Sveitimu. PavirSius turéty
sklandziai persipinti su gretimu medziaga be staigiy skyriy poky¢€iy. VisiSkas pazeidimo pasalinimas neturéty sumazinti skyriaus storio taske
iki maziau nei gamintojo nurodyty minimaliy matmeny arba daugiau nei 10% nominalaus skyriaus storio. Patikrinkite grezinio bulto bukle.
Patikrinkite, ar rutulinis guolis lengvai gali pasukti ir neturi per didelio laisvo judéjimo.

Remontas: Naudojamos tik originalios atsarginés dalys.

Naudotojo atsiskaitymo iSsaugojimas / Salinimas
Kélimo taskai turi bati surdsiuoti / pasalinti kaip bendro plieno Siuksles.

Atsisakymas

Mes pasiliekame teise keisti produkto dizaing, medziagas, specifikacijas ar instrukcijas be iSankstinio jspéjimo ir be jsipareigojimo kitoms Salims.
Jei produktas yra modifikuotas bet kokiu badu arba jei jis sujungtas su nesuderinamu produkto / komponento, mes neprisiimame jokios
atsakomybés dél produkto saugumo padariniy.

EC atitikties deklaracija

SCM Citra OY

Asessorinkatu 3-7

20780 Kaarina, Suomija

www.powertex-products.com

Siuo pranesimu patvirtina, kad POWERTEX produktas, kaip apraSytas auksciau, atitinka EC Masiny direktyvg 2006/42/EC.

7



POWERTEX
Zyméjimas

POWERTEX kilpos LPD yra CE ir UKCA pazymeétos.

UK
CA

Vartotojo vadovai

Gallite visada rasti galiojancius ir atnaujintus vartotojo vadovus internete.

Vadovas nuolat athaujinamas ir galioja tik naujausia versija.
NB! Originalus instrukcijy vadovas yra angly kalba.

Vadovas yra prieinamas atsisiuntimui pagal Sig nuoroda:
www.powertex-products.com/manuals

[=]

iR

Produkto atitikimas ir suderinamumas

SCM Citra OY

[ Asessorinkatu 3-7

i '1 20780 Kaarina, Suomija
www.powertex-products.com

78



POWERTEX

POWERTEX tostepunkt dekontsentreeritud ihendusega LPD
Kasutusjuhend (EE)

Andmed ja m66tmed POWERTEX LPD - Standard

180° pivot

—t—SW ——

360° rotated

- A

DIMENSIONS & TORQUE

Model Thread M E A B C D F G N L S SW Torque
mm mm mm mm mm mm mm mm mm mm mm mm Nm
LPD-M8 M8 x 1.25-6g 1 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10 M10 x 1.5-6g 16 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12 M12 x 1.75-6g 18 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16 M16 x 2.0-6g 24 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20 M20 x 2.5-6g 30 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24 M24 x 3.0-6g 36 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30 M30 x 3.5-6g 48 60 65 82 22 170 99 59 66 17 46 500
LPD-M36 M36 x 4.0-6g 62 77 85 104 27 2265 123 69 95,5 22 55 800
LPD-M42 M42 x 4.5-6g 63 95 104 117 36 2575 158 98 104,5 22 65 1500
LPD-M48 M48 x 5.0-6g 72 95 104 120 36 2575 158 98 101,5 27 75 2000

Koormuse skeem LPD
Tootemperatuur -40° kuni +200°C ilma WLL vahendamiseta.

-

Load angle 90 0-45 45-60 0-45 45-60 Asymmetric
Load factor 1 1 2 2 1.4 1 2.1 1.5 1
Model Working Load Limit WLL (t)

LPD-M8 0.3 0.3 0.6 0.6 0.42 0.3 0.63 0.45 0.3
LPD-M10 0.63 0.63 1.26 1.26 0.88 0.63 1.32 0.95 0.63
LPD-M12 1 1 2 2 1.4 1 21 1.5 1
LPD-M16 1.5 1.5 3 3 21 1.5 3.1 22 1.5
LPD-M20 25 25 5 5 3.5 25 5.2 3.7 25
LPD-M24 4 4 8 8 5.6 4 8.4 6 4
LPD-M30 5 5 10 10 7 5 10.5 7.5 5
LPD-M36 8 8 16 16 11.2 8 16.8 12 8
LPD-M42 15 15 30 30 21 15 315 225 15
LPD-M48 20 20 40 40 28 20 42 30 20

79



POWERTEX

Andmed ja méotmed POWERTEX LPD - Pikk polt mutriga

—SW

180° pivot s

360°rotated

DIMENSIONS & TORQUE

Model Thread M E A B C D F G N L S SW Torque
mm mm mm mm mm mm mm mm mm mm mm mm Nm
LPD-M8LB M8 x 1.25-6g 64 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10LB M10 x 1.5-6g 80 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12LB M12 x 1.75-6g 104 34 37 45 14 98.5 57 31 39,5 8 18 100
LPD-M16LB M16 x 2.0-6g 128 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20LB M20 x 2.5-6g 160 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24LB M24 x 3.0-6g 192 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30LB M30 x 3.5-6g 240 60 65 82 22 170 99 59 66 17 46 500
LPD-M36LB M36 x 4.0-6g 288 77 85 104 27 2265 123 69 95,5 22 55 800
LPD-M42LB M42 x 4.5-6g 336 95 104 117 36 2575 158 98 104,5 22 65 1500
LPD-M48LB M48 x 5.0-6g 384 95 104 120 36 2575 158 98 101,5 27 75 2000

80



POWERTEX

HOIATUS

Too tosteseadmete ja -vahenditega peab olema planeeritud, organiseeritud ja teostatud, et valtida ohtlikke olukordi. Vastavalt siseriiklikele
oigusaktidele tohib tdsteseadmeid ja -vahendeid kasutada ainult isik, kes on t66ga hasti kursis ning kellel on teoreetilised ja praktilised teadmised
ohutust kasutamisest. Enne seadme kasutamist tuleb lugeda kasutusjuhendit. See sisaldab olulist teavet selle kohta, kuidas seade ohutult

ja Gigesti tdotab. Juhendi eeskirjade eiramine vdib pdhjustada tésiseid tagajargi, naiteks vigastuste ohtu. Lisaks kasutusjuhendile viidatakse
kehtivatele riiklikele eeskirjadele, mis vdivad asendada kaesolevat kasutusjuhendit.

Uldine kirjeldus

POWERTEX LPD tdstepunktid on ette nahtud kasutamiseks tdsteseadmena, mis paigaldatakse otse koormale, et seda tdsta, voi kasutatakse
tdsteseadme osana, nagu tostepalk, tdstevarras jne. LPD ei ole ette nahtud koormuse all podrlemiseks, selliste rakenduste jaoks soovitame
kasutada kuullaagriga téstepunkte nagu LPB. POWERTEX LPD téstepunktid vastavad kdigile masinadirektiivi 2006/42/EU ja selle viimaste
muudatuste asjakohastele nduetele.

Kasutamine ebasoodsas keskkonnas

Temperatuuri mdju tddkoormuse piirnormile (WLL): Tuleb arvestada temperatuuriga, mis voib kasutamisel tekkida. POWERTEX LPD téstepunkte
voib kasutada temperatuuridel vahemikus -40°C kuni +200°C ilma t66koormuse piirvaartusi vahendamata.

Happelised tingimused: Kérgetasemelisi tdstekomponente ei tohi kasutada happelistes lahustes ega happekaasustega kokkupuutudes. Samal
pohjusel ei tohi neid ilma tootja loata kuumtsingitud voi elektrolidtilise viimistlusega kokku puutuda.

Keemiline mdju: Konsulteerige oma edasimiujaga, kui tooteid kavatsetakse kokku puutuda kemikaalidega, eriti kombineerituna kérgete
temperatuuridega.

Ohtlikud tingimused: Eriti ohtlikes tingimustes, sealhulgas avameretdddel, inimese tdstmisel ja potentsiaalselt ohtlike koormate, naiteks
sulametallide, s66vitavate materjalide vo6i I6hustuvate materjalide tdstmisel, peab padev isik hindama ohu astet ja tdé6koormuse piirnormi vastavalt
kohandama.

Kasutage temperatuurivahemikku

-40 kuni +200°C ilma WLL-i vdhendamata

+200 kuni +300°C lubatud, kusjuures WLL vaheneb 10%.
+300 kuni +400°C lubatud, kui WLL vaheneb 25%

Margistus

POWERTEX LPD tostepunktid on uldiselt margistatud jargmiselt:
- Té6koormuse piirnorm (WLL), nt WLL 0,3t

- Tootja stimbol, nt POWERTEX v&i PX

- Mudeli nimi - Suurus, nt LPD-M8

- Jélgitavuse kood, nt F2 (tahistab konkreetset partiid)

- Vastavusmargid CE + UKCA

- Poldiklass 10.9

Materjal ja viimistlus

POWERTEX LPD tdstepunktid on sepistatud suure tugevusega legeeritud terasest ja osad on elektrostaatiliselt pulbervarvitud. Poldid on
dakrotsitud, et paremini vastu pidada korrosioonile. Poldid on tehases kontrollitud pragude tuvastamiseks. Muud koormust kandvad osad on
pragude tuvastamise vo6i proovikoormuse testitud.

Valik

Valige konkreetsele rakendusele sobiv tdstepunkti tlitip, keermesuurus ja tddkoormuse piirvaartus. Kui véivad esineda darmuslikud tingimused,
vibratsioon voi I66kkoormus, tuleb seda dige tdstepunkti valikul hasti arvesse vétta. Labi augu paigaldamine koos mutriga voib nduda pikemat
poldi, mida saab tellida varuosana oma turustajalt. Kasutage ainult originaalpoldid, mis on valmistatud spetsiaalselt selle toote jaoks.

Enne esmakordset kasutamist
Veenduge, et tarnitud téstepunktid vastavad tellimusele ning et sertifikaat ja vastavusdeklaratsioon on olemas. Pidage registrit koigi
téstevahendite kohta ja veenduge, et neid kontrollitakse regulaarselt, et need oleksid kasutuskdlblikud.

Kokkupanek ja kasutamine

Kui méni neist kontrollpunktidest ei ole taidetud, ei tohi tdstepunkti kasutada:

- Kontrollige, et kdik margised oleksid loetavad.

- Kontrollige, et puuduvad defektid, nagu kulumine, deformatsioon, 16iked, sisseldiked, mdrad, praod, korrosioon vdi muud nahtavad defektid, mis
vbivad méjutada ohutust.

Veenduge, et tdstepunkti WLL on tdstetavale koormusele piisav, vt WLL-tabelit. T6stepunkt peab olema konstruktsiooni v6i koormuse kilge
tihedalt kinni keeratud, kasutades selleks poérdemomenti vétit. Vibratsiooni jms. ohu korral tuleb kaaluda Loctite’i voi muid kinnitusvahendeid.
Parast paigaldamist tuleb veenduda, et tdstepunkt saab vabalt podrelda ja pdorelda ilma takistusteta ettenahtud kasutamisnurkades. Puuraugud
peavad olema piisavalt stigavad, et tdstepunkti pohi toetuks kontaktpinnale. Keermestatud auk peab olema tehtud risti kontaktpinnaga ning
kontaktpind peab olema tasane ja médtmetega, et tdstepunktile sobiks.

Erinevate materjalide soovitatavad minimaalsed keermepikkused seoses meetrilise keermeslabimédduga:
- 1 x M terase puhul

- 1,25 x M malmide puhul: 1,25 x M malmide puhul: 1,25 x M

- 2 x M alumiiniumisulamite puhul

- 2,5 x M alumiinium-magneesiumsulamite puhul

Paigaldamisel asetage Iili nii, et seda saab tdstetddde teostamiseks Uhendada otse tdstemasinaga voi vahepealse tdsteseadmega.

81



POWERTEX

Ohutus tostmisel

Tdsteseadme té6koormuse piirmaara ei tohi kunagi Uletada. Kéed ja muud kehaosad tuleb hoida eemal, et valtida vigastusi, kui I16tku Ules
tostetakse. Koormat tuleb kergelt ja 166gita tdsta ning kontrollida, et see oleks turvaline ja asuks ettenahtud asendis. Tostetddde tegijad peavad
olema teadlikud kiikuvate ja kallutatavate koormate ohust. Mitte kunagi ei tohi lasta inimesi véi kehaosi rippuva koorma alla. Arge lubage
inimestel koormuse tdstmise ajal koormuse peal sdita. Maandumiskoht peab olema hasti ette valmistatud. Tuleb tagada, et maapind vdi pérand
oleks koormuse kandmiseks piisavalt tugev. Samuti tuleb tagada, et maandumiskohale oleks piisav juurdep@as ning et see oleks vaba koikidest
ebavajalikest takistustest ja inimestest. Koormat tuleb maandada ettevaatlikult, tagades, et kehaosad ei satuks sinna. Enne tosteseadmete
eemaldamist tuleb veenduda, et koorem on maandumisel stabiilne.

Gravitatsioonikeskus

Koormuse kiikumise voi podrlemise valtimiseks on oluline paigutada tdstepunktid simmeetriliselt koormuse raskuskeskme kohal:

- 1-punktilise tdsteseadme puhul tuleks kinnituspunkt paigutada vertikaalselt raskuskeskme kohal.

- 2-punktilise tdsteseadme puhul tuleks kinnituspunktid paigutada raskuskeskme mdlemale poole ja sellest kdrgemale.

- 3- ja 4-punktilise tdstuki puhul tuleks kinnituspunktid paigutada simmeetriliselt raskuskeskme Umber ja selle kohal asuvas tasapinnas. Eelistatav
on, et jaotumine oleks voérdne ja et kinnituspunktid oleksid raskuskeskme kohal.

1. raskuskese
2. korge pinge selles jalas
3. koormus P

Koormuse siimmeetria

Erinevate konfiguratsioonide té6koormuse piirvaartused (WLL) on maaratud lahtuvalt sellest, et koormus on simmeetriline. See téhendab, et
koormuse tdstmisel on tdstepunktid simmeetriliselt paigutatud tasandile ja asuvad vertikaali suhtes samade nurkade all.

Kui 2-, 3- ja 4-jalgsete ketirihmade puhul on jalad vertikaali suhtes erineva nurga all, on suurim pinge jalas, mille nurk vertikaali suhtes on kdige
vaiksem. Adrmisel juhul, kui Uks jalg on vertikaalne, kannab see kogu koormust.

Kui kdik jargmised tingimused on taidetud ja koormus on vaiksem kui 80% margitud WLL-st, véib koormust pidada simmeetriliseks:

a) ahelarihma jalgade nurgad vertikaali suhtes on kéik vahemalt 15° ja

b) ketirihma jalgade nurgad vertikaali suhtes on kéik omavahel 15° piires ja

c) kolme- ja neljajalgsete ketirihmade puhul on tasapinnalised nurgad lksteise suhtes 15° piires.

Kui kdik eespool nimetatud parameetrid ei ole taidetud, tuleks koormust pidada asimmeetriliseks ja suunata tdstuk padevale isikule, et maarata
kindlaks ohutu koormus. Asiimmeetrilise koormuse korral tuleks alternatiivina hinnata ketirihma pooleks margitud WLL-ist.

Koormuse siimmeetria

82



POWERTEX

% 0-150°

83



POWERTEX

Tostepunktide ladustamine

Kui tdstepunkte ei kasutata, tuleb neid tavaliselt hoida nduetekohaselt konstrueeritud riiulil. Neid ei tohiks jatta maapinnale lamama, kus need
vdivad kahjustada. Kui on téendoline, et tooteid ei kasutata mdnda aega, tuleks need puhastada, kuivatada ja kaitsta korrosiooni eest, nt kergelt
olitada.

Kontrollimine ja hooldus

Igapéevane kontroll

Kasutamise ajal puutuvad tdstepunktid kokku tingimustega, mis voivad méjutada nende ohutust. Seetbttu on vaja iga paev kontrollida ja tagada,
et tdstepunktid on jatkuvaks kasutamiseks ohutud. Tdstepunkt tuleb kasutuselt kdrvaldada ja suunata padevale isikule pdhjalikuks kontrollimiseks,
kui enne iga kasutamist tdheldatakse mis tahes jargmist:

- Kontrollida, et kéik margised on loetavad.

- Kontrollige, et puuduvad defektid, nagu kulumine, deformatsioon, 16iked, sisseldiked, mdrad, praod, korrosioon vdi muud nahtavad defektid, mis
vbivad méjutada ohutust.

- Kontrollige, et kuullaagri pdorlev osa saaks kergesti poorelda ja et sellel ei oleks liigset mangu.

- Veenduge, et tdstepunkti WLL on tdstetavale koormale piisav.

- Veenduge, et tdstepunkt on tihedalt konstruktsiooni kilge kruvitud ja et tdstepunkt saab vabalt pddrelda ja pddrelda ilma takistusteta
kasutamisnurkades.

Péhjalik uurimine

Padev isik peaks teostama pdhjaliku kontrolli mitte sagedamini kui kaheteistkimne kuu tagant. See ajavahemik peaks olema ltihem, kui seda
peetakse kasutustingimusi silmas pidades vajalikuks. Selliste kontrollide kohta tuleks sailitada andmed.

Tooted tuleks enne kontrollimist pdhjalikult puhastada, et need oleksid vabad 6list, mustusest ja roostest. Lubatud on mis tahes puhastusmeetod,
mis ei kahjusta algset metalli. Valtida tuleb meetodeid, mille puhul kasutatakse happeid, tlekuumenemist, metalli eemaldamist vdi metalli
liigutamist, mis voib katta pragusid véi pinnavigastusi.

Kulumise, moonutuse voi valise kahjustuse markide avastamiseks tuleb tagada piisav valgustus.

Komponendid, mis on kulunud, deformeerunud, pragunenud, nahtavalt moonutatud, tugevalt korrodeerunud voi millel on ladestusi, mida ei
ole voimalik eemaldada, tuleb ara visata ja asendada. Vaiksemad kahjustused, nagu sisseldiked ja mérad, vdib eemaldada hoolika lihvimise
voi villimise teel. Pind peab sujuvalt sulanduma naabermaterjaliga ilma jarskude I16ikemuutusteta. Kahjustuse taielik eemaldamine ei tohiks
vahendada ristldike paksust selles kohas alla tootja poolt ettenédhtud miinimumma&étmete véi rohkem kui 10% ulatuses ristldike nimipaksusest.
Kontrollige keermestatud poldi seisundit. Kontrollida, et kuullaagri pd6rleva osa p6drlemine oleks kerge ja et sellel ei oleks liigset mangu.
Remont: Kasutage ainult originaalvaruosasid.

Kasutamise 16pp / kérvaldamine
Tostepunktid sorteeritakse / lammutatakse kui tldine terasjaatmed.

Vastutusnoue

Me jatame endale diguse muuta toote disaini, materjale, spetsifikatsioone vdi juhiseid ilma eelneva etteteatamiseta ja ilma teiste ees kohustusi
votmata.

Kui toodet muudetakse mis tahes viisil voi kui seda kombineeritakse mittesobiva toote/lkomponendiga, ei vota me mingit vastutust toote
ohutusega seotud tagajargede eest.

EU vastavusdeklaratsioon

SCM Citra OY

Asessorinkatu 3-7

20780 Kaarina, Soome

www.powertex-products.com

kinnitab kdesolevaga, et eespool kirjeldatud POWERTEX toode vastab EU masinadirektiivile 2006/42/EU.

84



POWERTEX

Margistus | ' K
POWERTEX:i téstepunktid LPD kannavad CE- ja UKCA-margistust. C n

Kasutusjuhendid E E
- |

Kehtivad ja ajakohastatud kasutusjuhendid leiate alati veebist.
Kéasiraamatut uuendatakse pidevalt ja see kehtib ainult vimases versioonis.

NB! Ingliskeelne versioon on originaaljuhend.

Kasutusjuhend on allalaaditav alljargneva lingi all:
www.powertex-products.com/manuals.

Toote nduetele vastavus ja vastavus

SCM Citra OY
Asessorinkatu 3-7
[ 20780 Kaarina
e '1 Soome
www.powertex-products.com

85



POWERTEX

Punkt podnoszagcy POWERTEX z przesunietym ogniwem
Instrukcja uzytkowania (PL)

Dane i wymiary POWERTEX LPD - Standard

360°rotated

-

180° pivot

—t—SW ——

WYMIARY | MOMENT OBROTOWY

Model Rozmiar gwintu E A B C D F G N L S SW Moment
1] mm mm mm mm mm mm mm mm mm mm mm obrotowy
mm Nm

LPD-M8 M8 x 1.25-6g 11 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10 M10 x 1.5-6g 16 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12 M12 x 1.75-6g 18 34 37 45 14 98.5 57 31 BOI5 8 18 100
LPD-M16 M16 x 2.0-6g 24 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20 M20 x 2.5-6g 30 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24 M24 x 3.0-6g 36 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30 M30 x 3.5-6g 48 60 65 82 22 170 99 59 66 17 46 500
LPD-M36 M36 x 4.0-6g 62 77 85 104 27 226.5 123 69 95,5 22 55 800
LPD-M42 M42 x 4.5-6g 63 95 104 117 36 257.5 158 98 104,5 22 65 1500
LPD-M48 M48 x 5.0-6g 72 95 104 120 36 257.5 158 98 101,5 27 75 2000

Schemat obcigzenia LPD

Temperatura pracy od -40° do +200°C bez redukcji DOR.

Obcigzenie o : l_?..i .jé?’l N !

:fizt obcigze- 0 20 0 20 0-45 45-60 0-45 45-60  Asymetryczny

Wspétczyn-

nik obcigze- 1 1 2 2 1.4 1 21 1.5 1

nia

Model Dopuszczalne obcigzenie robocze DOR (t)

LPD-M8 0.3 0.3 0.6 0.6 0.42 0.3 0.63 0.45 0.3

LPD-M10 0.63 0.63 1.26 1.26 0.88 0.63 1.32 0.95 0.63

LPD-M12 1 1 2 2 1.4 1 21 1.5 1

LPD-M16 1.5 1.5 8 3 21 1.5 3.1 2.2 1.5

LPD-M20 2.5 2.5 5 5 3.5 2.5 5.2 3.7 2.5

LPD-M24 4 4 8 8 5.6 4 8.4 6 4

LPD-M30 5 5 10 10 7 5 10.5 7.5 5

LPD-M36 8 8 16 16 1.2 8 16.8 12 8

86



POWERTEX

Dane i wymiary POWERTEX LPD - Diugi sruba z nakretka

180° pivot

360°rotated

WYMIARY | MOMENT OBROTOWY

Model Rozmiar gwintu E A B C D F G N L S SW Moment
M mm mm mm mm mm mm mm mm mm mm mm obrotowy
mm Nm
LPD-M8LB M8 x 1.25-6g 64 34 37 42 14 98.5 57 31 42,5 6 13 30
LPD-M10LB M10 x 1.5-6g 80 34 37 44 14 98.5 57 31 40,5 6 16 60
LPD-M12LB M12 x 1.75-6g 104 34 37 45 14 98.5 S 31 39,5 8 18 100
LPD-M16LB M16 x 2.0-6g 128 34 37 48 14 98.5 57 31 36,5 10 24 150
LPD-M20LB M20 x 2.5-6g 160 50 54 58 16.5 143 82 45 68,5 12 30 250
LPD-M24LB M24 x 3.0-6g 192 50 54 61 16.5 143 82 45 65,5 14 36 400
LPD-M30LB M30 x 3.5-6g 240 60 65 82 22 170 99 59 66 17 46 500
LPD-M36LB M36 x 4.0-6g 288 77 85 104 27 226.5 123 69 95,5 22 55 800
LPD-M42LB M42 x 4.5-6g 336 95 104 17 36 257.5 158 98 104,5 22 65 1500
LPD-M48LB M48 x 5.0-6g 384 95 104 120 36 2575 158 98 101,5 27 75 2000

87



POWERTEX

OSTRZEZENIE

Praca z urzgdzeniami i sprzetem do podnoszenia musi by¢ zaplanowana, zorganizowana i wykonana w taki sposob, aby zapobiegac
niebezpiecznym sytuacjom. Zgodnie z krajowymi przepisami prawnymi, urzadzenia i sprzgt podno$ny mogg by¢ uzywane tylko przez osoby
dobrze zaznajomione z pracg oraz posiadajgce teoretyczng i praktyczng wiedze na temat bezpiecznego uzytkowania. Przed uzyciem sprzetu
nalezy przeczytac instrukcje obstugi. Zawiera ona wazne informacje o tym, jak sprzet bedzie dziatat w bezpieczny i poprawny sposob.
Nieprzestrzeganie przepisoéw tej instrukcji moze spowodowac powazne konsekwencje, takie jak ryzyko urazu. Oprécz instrukcji obstugi odnosimy
sie do istniejgcych krajowych przepisow, ktére moga zastgpic te instrukcje.

Opis ogolny

Punkty podnoszenia POWERTEX LPD sg przeznaczone do uzytku jako sprzet do podnoszenia, ktory nalezy zamontowac bezposrednio na
fadunku w celu jego podniesienia lub jako czesci zespotu podnoszacego, takiego jak belka podnoszaca, zawiesie itp. LPD nie jest przeznaczony
do obracania sie pod obcigzeniem, do takich zastosowan zalecamy punkt podnoszenia z tozyskiem kulkowym, takim jak LPB. Punkty
podnoszenia POWERTEX LPD spetniajg wszystkie odpowiednie wymagania Dyrektywy Maszynowej 2006/42/WE i jej najnowszych poprawek.

Uzytkowanie w niekorzystnych srodowiskach

Wplyw temperatury na dopuszczalne obcigzenie robocze (DOR): Nalezy wzig¢ pod uwage temperature, ktéra moze by¢ osiagnieta podczas
pracy. Punkty mocowania POWERTEX LPD mogg by¢ uzywane w temperaturach od -40°C do +200°C bez zmniejszania dopuszczalnych
obcigzen roboczych.

Srodowisko kwasne: Komponenty do podnoszenia o wysokiej wytrzymatosci nie powinny by¢ uzywane ani zanurzane w roztworach kwasowych,
ani narazone na opary kwasowe. Z tego samego powodu nie mogg by¢ one cynkowane ogniowo lub elektrolitycznie bez zgody producenta.
Wptyw chemikaliéw: Skonsultuj sie ze swoim dystrybutorem, w przypadku gdy produkty majg by¢ narazone na dziatanie chemikaliéw, zwtaszcza
w potgczeniu z wysokimi temperaturami.

Warunki niebezpieczne: W szczegdlnie niebezpiecznych warunkach, w tym dziataniach na morzu, podnoszeniu osoby i podnoszeniu potencjalnie
niebezpiecznych tadunkow, takich jak ptynne metale, materiaty zrgce lub materiaty rozszczepialne, stopien zagrozenia powinien by¢ oceniony
przez kompetentng osobe, a dopuszczalne obcigzenie robocze odpowiednio dostosowane.

Zakres temperatur uzytkowania

-40 do +200°C bez redukcji WLL / DOR

+200 do +300°C dozwolone z redukcjg DOR o 10%
+300 do +400°C dozwolone z redukcjg DOR o 25%

Oznakowanie

Punkty mocowania POWERTEX LPD sg ogodlnie oznaczone:
- Dopuszczalne obcigzenie robocze (DOR), np. WLL 0,3t

- Symbol producenta, np. POWERTEX lub PX

- Nazwa modelu — Rozmiar, np. LPD-M8

- Kod identyfikacji, np. F2 (wskazujgcy na konkretng partie)
- Znaki zgodnosci CE + UKCA

- Sruba klasy 10.9

Materiat i wykonczenie

Punkty mocowania POWERTEX LPD sg kute ze stali stopowej o wysokiej wytrzymatosci, a czesci sg malowane proszkowo elektrostatycznie.
Poldid on dakrotsitud, et paremini vastu pidada korrosioonile. Poldid on tehases kontrollitud pragude tuvastamiseks. Sruby sg dakrotyzowane,
aby zapewni¢ lepsza odpornosé na korozje. Sruby sg fabrycznie testowane pod katem wykrywania peknieé. Inne czeéci przenoszace obcigzenia
sg poddawane testom wykrywania pekniec¢ lub testom pod obcigzeniem probnym.

Dobor

Wybierz typ punktu mocowania, rozmiar gwintu i dopuszczalne obcigzenie robocze odpowiednie dla danej aplikacji. Jesli mogg wystgpi¢
ekstremalne warunki, wibracje lub obcigzenia szokowe, nalezy to wzig¢ pod uwage przy wyborze odpowiedniego punktu mocowania. Labi
augu paigaldamine koos mutriga véib nduda pikemat poldi, mida saab tellida varuosana oma turustajalt. Kasutage ainult originaalpoldid, mis
on valmistatud spetsiaalselt selle toote jaoks. Montaz przelotowy z nakretkg moze wymagacé dtuzszej sruby, ktérg mozna zamowi¢ jako czes¢
zamienng u dystrybutora. Nalezy uzywac¢ wytgcznie oryginalnych srub, ktore zostaty wyprodukowane specjalnie dla tego produktu.

Przed pierwszym uzyciem
Upewnij sie, ze dostarczone punkty mocowania odpowiadajg zamowieniu oraz ze dostepne sg certyfikat i deklaracja zgodnosci. Prowadz rejestr
kazdego sprzetu do podnoszenia i upewnij sie, ze sg one regularnie sprawdzane pod katem przydatnosci do uzytku.

Montaz i uzytkowanie

Jesli ktorykolwiek z tych punktow kontrolnych nie jest spetniony, punktu mocowania nie moze by¢ uzywany:

- Sprawdz, czy wszystkie oznaczenia sg czytelne.

- Sprawdz, czy nie ma zadnych wad, takich jak zuzycie, deformacja, cigcia, naciecia, wgiecia, peknigcia, korozja lub inne widoczne wady, ktére
mogag wptyng¢ na bezpieczenstwo.

Upewnij sie, ze DOR punktu mocowania jest wystarczajgcy dla podnoszonego fadunku, patrz tabela DOR. Punkt mocowania nalezy dokrecic¢
do konstrukgiji lub tadunku za pomoca klucza dynamometrycznego. Jesli istnieje ryzyko wibracji itp., nalezy rozwazy¢ uzycie Loctite lub innych
Srodkéw zabezpieczajacych. Upewnij sie po montazu, ze punkt mocowania moze swobodnie obracac¢ sie i przechyla¢ bez zadnych przeszkéd w
zamierzonych katach uzytkowania. Otwory gwintowane muszg by¢ wystarczajgco gtebokie, aby dolna czg$¢ punktu mocowania byta podparta
przez powierzchnig kontaktu. Otwér gwintowany musi by¢é wykonany prostopadle do powierzchni kontaktu, a powierzchnia kontaktu musi by¢
ptaska i wymiarowana tak, aby pomiesci¢ punkt mocowania..

Zalecane minimalne dtugosci gwintéw dla réznych materiatow w stosunku do $rednicy gwintu metrycznego:
- 1 x M dla stali

- 1,25 x M dla zeliwa

- 2 x M dla stopéw aluminium

- 2,5 x M dla stopow aluminium-magnezu

Po zamontowaniu ustaw ogniwo / ucho tak, aby mozna byto je bezposrednio potgczy¢ z urzgdzeniem do podnoszenia lub z posredniczacym
sprzetem podnosnym w celu wykonania operacji podnoszenia.

88



POWERTEX

Bezpieczenstwo podczas podnoszenia

Dopuszczalne obcigzenie robocze sprzetu do podnoszenia nigdy nie moze by¢ przekroczony. Rece i inne czesci ciata powinny by¢ utrzymywane
w bezpiecznej odlegtosci, aby zapobiec urazom, gdy redukowane sg luzy np. zawiesia. tadunek powinien by¢ podnoszony lekko, bez szarpnig¢, i
nalezy sprawdzi¢, czy jest zabezpieczony i przyjmuje zamierzona pozycje. Osoby zajmujgce sie podniesiony wstepnie na niewielkg wysokos¢ bez
szarpnie¢, po czym przechylaniem tadunkéw. Nigdy nie wolno dopuszczac, aby osoby lub czesci ciata znajdowaty sie pod wiszgcym fadunkiem.
Nie wolno pozwala¢ osobom jecha¢ na tadunku, podczas gdy tadunek jest podnoszony. Miejsce lgdowania powinno by¢ dobrze przygotowane.
Nalezy upewni¢ sig, ze podtoze lub podtoga majg wystarczajgcg wytrzymatosé, aby przyjg¢ tadunek. Nalezy réwniez upewni¢ sig, ze jest
odpowiedni dostep do miejsca Igdowania i ze jest ono wolne od niepotrzebnych przeszkod i oséb. tadunek powinien by¢ ostroznie opuszczony,
upewniajgc sie, ze czesci ciata sg na bezpiecznej odlegtosci. Upewnij sig, ze tadunek jest stabilny po opuszczeniu, zanim odigczysz sprzet do
podnoszenia.

Srodek ciezkosci

Aby unikna¢ kotysania sie lub obracania tadunku, wazne jest, aby punkty podnoszenia byty umieszczone symetrycznie nad srodkiem ciezkosci
fadunku:

- Dla podnoszenia 1-punktowego punkt mocowania powinien by¢ umieszczony pionowo nad srodkiem ciezkosci.

- Dla podnoszenia 2-punktowego punkty mocowania powinny by¢ rozmieszczone po obu stronach i nad srodkiem cigezkosci.

- Dla podnoszenia 3- i 4-punktowego punkty mocowania powinny by¢ rozmieszczone symetrycznie w ptaszczyznie wokét i nad srodkiem
ciezkosci. Preferowane jest, aby rozktad byt rowny i aby punkty mocowania znajdowaty sie nad srodkiem ciezkosci.

1. Srodek cigzkosci
2. Wysokie napigcie w tej nodze
3. Obciagzenie P

Symetria fadunku

DORYy (WLL) dla ré6znych konfiguracji zostaty ustalone na podstawie symetrycznego obcigzenia. Oznacza to, ze gdy tadunek jest podnoszony,
punkty podnoszenia sg rozmieszczone symetrycznie w ptaszczyznie i tworzg te same katy wzgledem pionu.

W przypadku zawiesi tanicuchowych o 2, 3 i 4 ciggnach, jesli tworzg one rézne katy wzgledem pionu, najwieksze napiecie bedzie w ciggnie o
najmniejszym kacie do pionu. W skrajnym przypadku, jesli jedno z ciegien jest pionowe, bedzie ono przenosi¢ caty fadunek.

Mozna zatozy¢, ze obcigzenie jest symetryczne, jesli spetnione sg wszystkie nastepujgce warunki i fadunek jest mniejszy niz 80% oznaczonego
WLL:

a) katy ciegien zawiesia wzgledem pionu sg nie mniejsze niz 15°; i

b) katy ciegien zawiesia wzgledem pionu sg w obrebie 15° wzgledem siebie; i

c) w przypadku zawiesi o 3 i 4 ciggnach, katy w ptaszczyznie sg w obrebie 15° wzgledem siebie.

Jesli wszystkie powyzsze parametry nie sg spetione, wéwczas zatadunek powinien by¢ uznany za asymetryczny, a podnoszenie powinno zosta¢
skonsultowane z kompetentng osobg w celu ustalenia bezpiecznej klasyfikacji. Alternatywnie, w przypadku asymetrycznego zatadunku, zawiesie
powinno by¢ klasyfikowane na potowe oznaczonego DOR.

Symetria obcigzenia

89



Dozwolone uzycie / Zakazane uzycie

90



POWERTEX

Magazynowanie punktéw podnoszenia

Gdy nie sg uzywane, punkty podnoszenia powinny by¢ normalnie przechowywane na odpowiednio zaprojektowanym stojaku. Nie powinny by¢
pozostawione na ziemi, gdzie moga ulec uszkodzeniu. Jesli prawdopodobne jest, ze produkty nie bedg uzywane przez jaki$ czas, powinny by¢
one oczyszczone, wysuszone i chronione przed korozjg, np. lekko naoliwione.

Inspekcja i konserwacja

Kontrola dzienna

Podczas uzytkowania punkty podnoszenia sg narazone na warunki, ktére moga wptyng¢ na ich bezpieczenstwo. Dlatego konieczne jest
codzienne sprawdzanie i zapewnienie, ze punkty podnoszenia sg bezpieczne do dalszego uzytku. Punkt podnoszenia powinien zosta¢ wycofany
z uzytku i skierowany do kompetentnej osoby do badania szczegotowego, jesli przed kazdym uzyciem zaobserwowano ktéres z ponizszych:

- Sprawdz, czy wszystkie oznaczenia sg czytelne.

- Sprawdz, czy nie ma zadnych wad, takich jak zuzycie, deformacja, cigcia, naciecia, pekniecia, korozja lub inne widoczne defekty, ktére moga
wptyna¢ na bezpieczenstwo.

- Sprawdz, czy obrot tozyska kulkowego odbywa sig tatwo i nie ma nadmiernego luzu.

- Upewnij sig, ze WLL punktu podnoszenia jest wystarczajacy dla podnoszonego tadunku.

- Upewnij sig, ze punkt podnoszenia jest mocno przykrecony do konstrukcji i ze punkt podnoszenia moze swobodnie obracac¢ sie i przechyla¢ bez
zadnych przeszkod w zamierzonych katach uzytkowania.

Badanie szczegétowe

Badanie szczegétowe powinno by¢ przeprowadzane przez kompetentng osobe w odstepach nie przekraczajacych dwunastu miesiecy. Ten okres
powinien by¢ krétszy, jesli jest to konieczne w Swietle warunkow uzytkowania. Ewidencje takich badan powinny by¢ prowadzone.

Produkty powinny by¢ doktadnie oczyszczone z oleju, brudu i rdzy przed badaniem. Kazda metoda czyszczenia, ktora nie uszkadza metalu
macierzystego, jest akceptowalna. Metodami, ktérych nalezy unikaé, sg te uzywajace kwaséw, przegrzewania, usuwania metalu lub przesuwania
metalu, ktére moga zakrywac¢ pekniecia lub wady powierzchni.

Nalezy zapewni¢ odpowiednie o$wietlenie, aby wykry¢ wszelkie oznaki zuzycia, deformacji lub zewnetrznego uszkodzenia.

Komponenty, ktére sg zuzyte, zdeformowane, pekniete, widocznie znieksztatcone, silnie skorodowane lub majg osady, ktérych nie mozna
usungg¢, powinny zosta¢ zutylizowane i wymienione. Drobne uszkodzenia, takie jak naciecia i zadrapania, mogg by¢ usuniete przez ostrozne
zeszlifowanie. Powierzchnia powinna ptynnie przechodzi¢ w przylegajgcy materiat bez nagtej zmiany przekroju. Catkowite usunigcie uszkodzenia
nie powinno zmniejszy¢ grubosci przekroju w tym punkcie do warto$ci mniejszej niz okreslone przez producenta minimalne wymiary lub o wiece;j
niz 10% nominalnej grubosci przekroju. Sprawdz stan gwintowanego trzpienia. Sprawdz, czy obrot fozyska kulkowego odbywa sie tatwo i nie ma
nadmiernego luzu.

Naprawa: Uzywaj tylko oryginalnych czesci

Koniec uzytkowania / Utylizacja
Punkty podnoszenia powinny by¢ segregowane / ztomowane jako ogdiny ztom stalowy.

Zrzeczenie sie odpowiedzialnosci

Zastrzegamy sobie prawo do modyfikacji projektu produktu, materiatéw, specyfikacji lub instrukcji bez wczesniejszego powiadomienia i bez
zobowigzan wobec innych.

Jesli produkt zostanie w jakikolwiek sposéb zmodyfikowany, lub jesli zostanie potgczony z produktem/komponentem niekompatybilnym, nie
ponosimy odpowiedzialnosci za konsekwencje dotyczgce bezpieczenstwa produktu.

Deklaracja zgodnosci EC

SCM Citra OY

Asessorinkatu 3-7

20780 Kaarina, Finlandia

www.powertex-products.com

niniejszym deklaruje, ze produkt POWERTEX opisany powyzej jest zgodny z Dyrektywg Maszynowg EC 2006/42/EC.

91



POWERTEX

Oznakowanie U K

Punkty dzwigowe POWERTEX LPD sg oznaczone znakami CE i UKCA. C n

Instrukcje uzytkownika

Zawsze mozesz znalez¢ aktualne instrukcje uzytkownika w sieci.
Instrukcja jest aktualizowana na biezgco i wazna tylko w najnowszej wersji.

Uwaga! Wersja angielska jest oryginalng instrukcja.

Instrukcja jest dostepna do pobrania pod nastepujgcym linkiem:
www.powertex-products.com/manuals

Zgodnos¢ i zgodnosé produktu

SCM Citra OY
Asessorinkatu 3-7
[ 20780 Kaarina
e '1 Finlandia
www.powertex-products.com



POWERTEX

POWERTEX

www.powertex-products.com

93



